Reg. No. :

Code No.:12443 B Sub. Code : SMEC 12

B.A. (CBCS) DEGREE EXAMINATION, APRIL 2021

First Semester
Economics — Main
STATISTICAL METHODS -1
(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL questions.

Choose the correct answer :

1. yerefl ellugriseer @LsHer it uled L@GLILg

ererliLi (hib.
(@) QL uGly (<)) srelu@LL
(@) uwery L@y (FF)  ergleyLlebamned

Classification of data on the basis of place is called
as———

(a) Geographical classification
(b) Chronological classification
(¢) Quantitative classification

(d) None



<puiedler DTS Qsm@Saameru|b
cuflenaliLi(h&gieug

(1) Semoly

(=) HILLILD

(@) slevaduwib

(FF)  Gpaadu ergieyildene

The listing of all units in the population under
study is

(a) Frame (b) Technique
(¢) Accuracy (d) None of these

Gauns Csr_iyeLw srreilseflelmbg  Gfejsar
Qewieug

(S) 3L euenent (<) yemafuiwed

(@) yerefl elleurd (FF)  euanslU(OSHIHE0
Grouping of related facts into classes is

(a) Tabulation (b)  Statistics

(¢) Data (d) Classification

Wt Quilw womid WBlsssdlu ANeyseaiier Geupiim®

(=) 196y erévamen

(=) Gfley GenLGleuef

@) oliga

(FF)  Cupaadlu ergeyilerena
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The difference between the upper and lower limits
of a class is

(a) class limits (b) class intervals

(c) range (d) none of these

X=A+Yfd/N eam GSIHTD saTsSL 2 Faeug

(=) wsh (<) Qe flene

(@) sgmaf (FF) (<) wombd (@)
Computing X = A+ Y. fd/N is to derive

(a) Mode (b) Median

(¢) Average (d) (b) and (c)

Qamhas i (Heer et eSleunmisefley 7 Gouaneowim” sefles
Fad Carhssliul(Hererg. @l bHlena &nedl WL
14,100 14150 16,080 17,120 15,200 16,160
17,400

(1) 14,100 (<) 15,200
(@) 16,160 (/F) 16,080

From the following data of the wages of 7 workers,
median wage is

Wages (in Rs.) 14,100 14150 16,080 17,120 15,200
16,160 17,400

(a) 14,100 (b) 15,200
() 16,160 d) 16,080
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Fsmed eTenel ereLig)

(S3M)  (Wp(penLwlmer

(<) @uiE

(@) @etn wwewwrar (<) @U@
(FF) (=) HmID (<) @ram@Ld
Measures of dispersion is

(a) Absolute

(b) Relative

(c) Either Absolute or Relative

(d) Both (a) and (b)

gyrgfuflen wHiiy 51 wombd SD wer wdiy 5.916
crafled rmeildlssapeier i
(=) 10.6 (<) 12.5
@) 12.8 () 11.6

If the value of average is 51 and the SD is 5.916,
then the co-efficient of variation

(a) 10.6 (b) 12.5

(c 128 (d 116
Qarhssriuc_(herer wdiy, sgmefl = 30.46, wshH =
32.5, SD = 8.96, Un@ CarLé Qsupeier gl
(=) —0.228 (<) +0.822

(@) —0.822 (FF)  +0.228
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Given the value, Mean = 30.46, Mode = 32.5,
SD = 8.96, then the value of co-efficient of
skewness is

(a) —0.228 (b)  +0.822
() —0.822 d) +0.228

10. e@ohpuumL  elaslumssd syrafl  erlGUTpgID
———————— F&ET LreUMELD.

(o) 1 (<) O

(@ -1 (/) 2

Odd moments are always —— in
symmetrical distribution.

(@ 1 (b) 0

(¢ -1 d 2

PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

11. (o ydreflledler  @uewr( — ecuaswrer  Larerfl
clleugmisemer alleaTs@s.

Briefly explain the two categories of
statistical data.

Or
(<)) @errmb Hlenaw L&rer eurigsafler
uweru@Bsgib  Gur seuangde  Gamerer
Couatrig WeneugHenaT QS%T&S@BS.

Explain the precautions in the use of
secondary data.

Page5 Code No.:12443 B



12.

13.

()

(<)

USLIL(HSSHISD HMID
L auananrL (H& SIS & @& LD @ e Guuerer
Caugiurten CeuaflQamenTis.

Bring out the  difference  between
classification and tabulation.

Or

erssliL_msaler LGN cUMSHMET U6
Qaws.

Analyse the different types of diagrams.
GarLflancullen HeTenLOSEMET IS
Examine the merits of median.

Or

Gereupd 10 wremreuisaiien SLICLIGTEMET

Qarearr(h Wps® sardsd([Hs.

aueter  Cumm wHUCue el.erar QubHD WSHLIC LG

QU b~ W N

10 6 27
27 7 20
24 8 18
12 9 15
27 10 30
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14.

15.

Sl.No.

Calculate the mode from the following data
of the marks obtained by 10 students :

Marks obtained Sl.No. Marks obtained

10 6 27
27 7 20
24 8 18
12 9 15
27 10 30

gyrefl  eflewsd wHMD HL  dlwsssmHu| b
Caumpubsgs.

Distinguish between mean deviation and
standard deviation.

Or
ﬁ]m@é@m QsT_mé@  gyme adlesenew
bhs.

& 60T S

X: 10 11 12 13 14
f: 3 12 18 12 3

Calculate mean deviation from the following
series :

X: 10 11 12 13 14
f: 3 12 18 12 3

SLanL SjeTenel LDMH SHH&SLONSG 6T(LPSIs.
Write brief notes on Kurtosis.

Or
Page7 Code No.:12443 B



(<) WetTeumbd BlapOeuamLIreame Q& medsr(H
Quemedlufleor CamL & Q& pallener
saT(h 1914 556 LD.

M GOLUSHda GimsssT 0 1 2 3 4 5 6
cTeTanlEens -

&hwusder eramanilsams 7 10 16 25 18 11 8

Find Bowley’s coefficient of skewness for the
following frequency distributions :

No. of children per family: 0 1 2 3 4 5 6
No. of families : 7 10 16 25 18 11 8
PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (@) @soflae yerell eleugriseaner Caasfa@d
weplieer elleuflEgab.

Describe the methods of collecting primary

data.
Or
(<) @reLmbd Blene Yetafl alleursdlen eponsrsans
elleurfl.

Explain the sources of secondary data.
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17. (=) 2 (meuliuLid W&IwsgeSms cllerddl

Smermiis.

Critically explain the importance of

pictograms.

Or

(=) A wpod> B odlu Qm @bbusddar wrs

Qeea] GeTealHmDI.

OFee| uansgEeT Geewa] (in Rs.)
&Gbub A @hHbub B
2 GuTeY 16,000 12,000
2 L 8,000 6,000
AT 6,000 5,000
ellars @, wHmid erhEummaT 2,000 1,000
@7 Qe ser 8,000 6,000

The following data relate to the monthly
expenditure (in rupees) of two families

Aand B:

Items of Expenditure Expenditure (in Rs.)
Family A Family B

Food 16,000
Clothing 8,000
Rent 6,000
Light and Fuel 2,000
Miscellaneous 8,000

12,000
6,000
5,000
1,000
6,000

Represent the above data by a suitable

percentage diagram.

Page9 Code No.:12443 B



18. (=) WYereumd qm@ﬂ deurgsdi@ sl @B grme
EX 3

wHQUETSET : 0-10 10-20 20-30 30-40 40-50 50-60
wrevrelfsefler eramanilsms @ O 10 25 30 20 10

From the following data compute arithmetic
mean :

Marks : 0-10 10-20 20-30 30-40 40-50 50-60
No. of students: 5 10 25 30 20 10

Or
(<) Webreu 5&5 BlaspOeiamrureas@ G Hlavaeanw
SHTEHS| (N 5.
AU LIesTSET LD ITEHT U T8 it 6o UG LTS ET LD ITEHT U T8 it 6o
GTERTEnT NG GTERTEmT NG
45-50 10 20-25 31
40-45 15 15-20 24
35-40 26 10-15 15
30-35 30 5-10 7
25-30 42

Calculate the median for the following
frequency distribution :

Marks No. of students Marks No. of students

45-50 10 20-25 31
40-45 15 15-20 24
35-40 26 10-15 15
30-35 30 5-10 7
25-30 42
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19. (@) demeumbd yerafl eleugsdlng S elwsssams

&ITGO0T .
QUG (&gp): 10 20 30 40 50 60 70 80
@DE;FJ@JﬁBSGﬂGN 15 30 53 75 100 110 115 125
TG et G EnG :

Find the standard deviation from the
following data :

Age under : 10 20 30 40 50 60 70 80
No. of persons dying : 15 30 53 75 100 110 115 125

Or

(<) X LHMID Y eneriLimiE &G
Qar@ssiiul(derg  @Qdé  ahbg Wl
Blenaouwimenng).

X: 356 54 52 b3 56 58 52 50 51 49
Y: 108 107 105 105 106 107 104 103 104 101

From the prices of shares of X and Y below
find out which is more stable in value :

X: 35 b4 52 b53 56 58 52 50 51 49
Y: 108 107 105 105 106 107 104 103 104 101

20. (=) &Cp Qamhssiiur(erer Lerell alleursdled mHal
wrm N$lss0speilanear samsdl(H\s.
aried Gwisafler CamL&0swp = 0.42
gl (h& gyrngfl = 86
@aflane = 80.
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From the data given below calculate the
coefficient of variation :

Karl Pearsn’s coefficient of skewness = 0.42
Arithmetic mean = 86
Mean = 80

Or

(<) &Gy OQsrRssuur@arar ydrafl  eleursdn
Querellufler Cam L & Qapeianer sarsdl (b s.

Weight  Wwrameuisafler Weight LOITERTEL (TG 6l 6T
(in 1bs) T 6T 6l & 6n g (in 1bs) GTGoT 6l & 6n g
Below 1 150-159 65

100
100-109 14 160-169 34
110-119 66 170-179 12
120-129 122 180-189 5

130-139 145 190-199 2

140-149 121 200 and 2

above

Calculate Bowley’s coefficient of skewness for the
data given below :
Weight Number of students Weight Number of students

(in lbs) (in lbs)

Below 100 1 150-159 65
100-109 14 160-169 34
110-119 66 170-179 12
120-129 122 180-189 5
130-139 145 190-199 2
140-149 121 200 and above 2
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Reg. No.:

Code No.:12444 B Sub. Code : SMEC 21/
AMEC 21

B.A. (CBCS) DEGREE EXAMINATION, APRIL 2021.
Second Semester
Economics — Main
MICRO ECONOMICS —1II
(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)
Answer ALL questions.

Choose the correct answer :

1. epg Carh eruiCGurgib U eugeisded @ m&sng)?

(=) AC (<) MC
(@) AVC () AFC
Which is never ‘U’ shaped?

(a) AC (b) MC

(c) AVC (d AFC



19 6bT6w (LI 63T 6 H M 6T oTgl L &Cam(H ere
DD P&SLILI(HSlTmg) ?

(=) pare sre syref Qsweys Car@

(<) endu sre syrsfl Geweys Cam)

(@) eyrefl wrpdlern Agwes Cam)

() @nfbleoe Qswa; Csmh

Which of the following is known as planning

curve?

(a) Long run average cost curve
(b) Short run average cost curve
(¢) Average variable cost curve

(d) Marginal cost curve

wpoHnflepwwrerer Gndlw sTessled

() begul LD SiepL_6umiT

(<) @erud Qumeut

(@) @erupb @deaa, Beul (P @)dana
(/) Gupsadlucibmiedr e
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In the short run, monopolist
(a) Incurs aloss (b) Makes a profit

(¢) Break even (d) Any of the above

‘Pevp@en Cumiy Qummeiwed eerm  mreder

< Afwir
(=) Gabureder (<) CGegmerr ymilerrger
(©) Ui ger ()  Gaaed

The book ‘The Economics of Imperfect

Competition’ is given by
(a) Chamberlin (b) Joan Robinson

(¢) Robertson (d) Cassel

Cumell eumyid ererrm GamiLim’ en Heflggeurm
(=) fsamrGLm (<)) WLTFED

@) Yo (FF)  pUUfL_&er
The theory of Quasi-rent is given by

(a) Ricardo (b) Marshall

(¢) Pigou (d) Robertson
Page3 Code No.:12444 B



MN&asrrCLreler embmiliLig

(=)
(<)
@

(FF)

v aumysens SionaflsEdlemng
aurgd eflevevenw Sirorafsdlemmg
aurpp, elleeub seraflFamswrarancy

Cupendiu Deardgid 2 arrento

According to Ricardo

(@)
(b)
(©
(d)

price determines rent
rent determines price
rent and price are independent

all of the above are true

e s Carlurl e eflsseu

(1)  GUTELSIT (<) J.S. e
(@) &bSCLT ()  embL
The Wage Fund Theory is given by

(a) Walker (b) J.S. Mill

(¢) Schumpeter (d) Knight

Page 4 Code No.
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Qsmh Frisssler Crrésnd

(=) smadlerw F&MSs60

() Gawa Cprgos GoPSs®

(@) el &rET_me OGS

() Chamdlu Siamearsgih

The objective of Trade Union is

(a) Toincrease the wage

(b) To reduce the hours of work

(¢) To prevent exploitation of Labour

(d) All the above

@orusdharar Ussmsss Camlumal eflggeurr
(=) &b (<) anrGe

(@) emL (FF)  Slemmirds

The innovation theory of profit is given by

(a) Schumpeter (b) Hawley

(© Knight ) Clark
Page5 Code No.:12444 B



10.  Bieow QL Camiiged, (ppawub Qpdlpsdujerer
UGS @Qimerd anpsslilipb
(@ Gur Crrésid
(<) pearearssfsams Cprésb
(@) Birenw CQumd

(FF)  oars CBm&sD

The perfectly elastic portion of the liquidity
preference curve is known as

(a) Transaction motive
(b) Precautionary motive
(¢) Liquidity trap

(d) Speculative motive
PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 250 words.

11. (@) fleeowrear Gewealub, wrpdeam Ceweanelubd
ollemd @ s.

Explain Fixed Cost and Variable Cost.

Or
(<) endu st dswe CarhHamer sHEISS $(Hs.

Brief the Short Run Cost Curves.
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12.

13.

14.

(1)

(=)

Blevme i Cumiquller @uieseaner efleurfl.

Narrate the features of Perfect Competition.
Or

‘Ler Ceumium®) eredm Lilglogens 6fl6md@s.

Explain the concept ‘Product differentiation’.

Curdlaungseng  ahsss s,  saman
elaTsGs.

State and explain Quasi-rent.

Or
aunysdharear peiars Camur’ el ellears@s.
Explain the modern theory of rent.
QaThemsBsEr smellepw ereleumn S sMEs
WPl ?
How Trade Unions can influence wages?

Or

o a@enld  Fncdlenws  Hliewruls@n  sryanfleer

wimeneu ?

What are the factors determining real
wages?
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15. (=) Quwrggs  euligewwd, By  euligenwuhd
Coupiuhg15.

Distinguish between Gross Interest and Net

Interest.
Or
(=) eullgssmear sLem HlFs Camumem eflers@s.

Explain the loanable fund theory of interest.
PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (@) veoGeam Cewey LigRIGMET 6Sl6THES.

Explain the various cost concepts.

Or

(<) ubGeumy sbaws Sewlilseid AR whmibd

MRé&@perer QgTLrenL Srems.

Trace the relation between AR and MR

under different market conditions.
Page8 Code No.:12444 B



17.

18.

19.

(=)

(S)

woHmfenwuller cuanssamer 6lleTsE@Hs.
Explain the types of monopoly.
Or
wpoHnflepol Cum_igufled cllene-2 HusH
BITEmTUSNS U185,

Analyse price-output determination under
monopolistic competition.

G060 Coumuim g Ha e TGOl & G 6T
Qeuefl&QamemnTiis.

Bring out the reasons for wage differentials.
Or

F N EEHTET STTETBISEET 696TE .

Explain the theories of Wages.

uglrellhamer @migblene 2 HuSSEmerr

Camiur’enL efleurd).

Discuss the Marginal Productivity Theory of
Distribution.

Or
MesmrCLreller eumypsd Camum e < uis.

Examine the Ricardian Theory of Rent.

Page9 Code No.:12444 B



20.

(1)

alsasrar  Biew  efmring  Gasmium el

cllaTsGs.

Explain the Liquidity Preference Theory of

Interest.

Or

@erugdbster @@L  wHmb  HlFFULHD

seenng Camum el < uls.

Examine the Risk and Uncertainty Theories
of Profit.
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(6 pages) Reg. No. :

Code No. : 12444 E Sub. Code : SMEC 21/
AMEC 21

B.A. (CBCS) DEGREE EXAMINATION, APRIL 2021.
Second Semester
Economics — Main
MICRO ECONOMICS —1II
(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks

PART A — (10 X 1 = 10 marks)
Answer ALL questions.
Choose the correct answer.

1. Which is never ‘U’ shaped?

(a AC (b) MC
(¢ AVC (d) AFC

2. Which of the following is known as planning
curve?

(a) Long run average cost curve
(b) Short run average cost curve
(c) Average variable cost curve
(d) Marginal cost curve



In the short run, monopolist

(a) Incurs aloss (b) Makes a profit

(¢) Break even (d) Any of the above
The book ‘The Economics of Imperfect
Competition’ is given by

(a) Chamberlin (b) Joan Robinson

(¢) Robertson (d) Cassel

The theory of Quasi-rent is given by
(a) Ricardo (b) Marshall
(¢) Pigou (d) Robertson

According to Ricardo

(a) price determines rent

(b) rent determines price

(¢) rent and price are independent

(d) all of the above are true

The Wage Fund Theory is given by
(a) Walker (b) J.S.Mill
(¢) Schumpeter (d) Knight
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10.

The objective of Trade Union is

()
(b)
(©
(d)

To increase the wage
To reduce the hours of work
To prevent exploitation of Labour

All the above

The innovation theory of profit is given by

(a)
(b)
(©
(d)

The

Schumpeter
Hawley
Knight

Clark

perfectly elastic portion of the liquidity

preference curve is known as

(a)
(b)
(©
(d)

Transaction motive
Precautionary motive
Liquidity trap

Speculative motive
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11.

12.

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(a)

(b)

(a)

(b)

()

(b)

(a)

(b)

Explain Fixed Cost and Variable Cost.
Or
Brief the Short Run Cost Curves.
Narrate the features of Perfect Competition.
Or
Explain the concept ‘Product differentiation’.
State and explain Quasi-rent.
Or
Explain the modern theory of rent.
How Trade Unions can influence wages?

Or

What are the factors determining real
wages?

Page4 Code No.:12444 E

[P.T.O.]



15. (a)

(b)

Distinguish between Gross Interest and Net
Interest.

Or

Explain the loanable fund theory of interest.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (a)

(b)
17. (a)
(b)
18. (a)
(b)

Explain the various cost concepts.

Or

Trace the relation between AR and MR
under different market conditions.

Explain the types of monopoly.

Or

Analyse price-output determination under
monopolistic competition.

Bring out the reasons for wage differentials.

Or
Explain the theories of Wages.
Page5 Code No.:12444 E



19.

20.

(@)

(b)

()

(b)

Discuss the Marginal Productivity Theory of

Distribution.

Or

Examine the Ricardian Theory of Rent.

Explain the Liquidity Preference Theory of

Interest.

Or

Examine the Risk and Uncertainty Theories
of Profit.
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ReG.NO.: cccerirriisrenssersrssssanss
Sub.Code: SMEC22

Code No. 12445B 4

B.A. (CBCS) DEGREE EXAMINATION, APRIL 2021
SECOND SEMESTER
ECONOMICS - MAIN
STATISTICAL METHODS - 11
(For those who joined in July 2017 onwards)

Time: Three hours Maximum : 75 marks

PART - A (10X1=10 marks)
Answer all the Questions Choose the Correct answer

L g7 @L@peys Gasuw p aflar wliy Bmeasensd Beoruilorars
o) -l<p<tl @) -lspsl @) O<p<l &) —o<p<w

For rank correlation coecfficient p is lies between
a) —1l<p<tl b) -1<p=tl c) O<p<l d) —co<p<w

2. @LOnays Gsparars Qeaundled Bmig ssbIlToTang
91 gpglyeafl wrppggled %) Dlenai® wrHsled
8) @ wpod 9 7) & aub Bawme & e Baae

The Correlatioen coelficient is independent of
a) Change of origin only b) Change of scale only
c) Both a and b d) Neither a nor b

3. Gpy Gariied grrean(psd CupulL srew Bussszied 2ager L ST CIRILG)
e SenpdsLiLBSleEn gl
) persrew GurdE 9) LHeu &rev rmr®
8) awpndl wrmun® ) agla Beenev.

The period of oscillation for the periodic movements
1R a -time series. ig greater .than one year is c¢alled
a) Secular Trend b) Seasonal Variations
g} Cyelical Varintions d) None

4. Gpy Glerifled persre seralsd Cor oyemallsd gHU@BL WIHDDOTEIG er6at
MW ILB e g
o)) pensrew Curds 9),) U(Hey &mev ormum®
8) apnd wrmpur® w) eIglayb Bedenev.

A long nun tendency of a time scriecs to increase or
decrease over aperiod of time is known as ;

a) Secular Trend b) Seasonal Variations
c) Cyclical Variations d) None

5 eupsswrear GPUILge urdad @GHUILEH aevigmisbaETar @SSITib

2P140 L P14 2P1q1 N LPads
@") 2 Pod1 % 100. %) Lp1d1 A 400 @) 2 Pod1 x40 Fl') 2 Podo 10,

With usual notat ions Paasche’s index number i1s

Y P1do L p1do Y P61 LP1q1
ot * e 3 e ¢ — 4
| a) Y. Poq1 x 100 b) ZP141 X 100 C) 2 Pof1 A d) X Podo e



6 urdlab @HUILG awi BePO T @fn@m%’@lb m) By S

5) sguuoL BTG ) pEC—

Piasche index number is based on gquantities
a) Base year k) Current ¥Year

c) Both a and b d) neither a nor b

7. 52 L@sefled Bmps em evCul FloL a@UUSDSTE Bls1pSEH6) :
1
o) = %) 3 8 =

The probability of drawing a spade from a pack of 52
cards 1is

a) =b) 3 c) 5d) g

8 @G Gprsdley Qran® sreng sawiBLD Curgl @m s @ L, HdLULSDSTET
ﬁa}‘gb{g’ B e 1 1
) ; B g 8 ; ") -

Two coins are tossed simultaneously, the probability
of getting a head and a tail is
; b e i

a) 2
9. Ger@ésuulL apam Usiys spiseis Gurss asdliomp . SipaGaEs .
2) 8 &) 7 &) 33 w) 9

For any three given attributes to tal number of
negative class frequencies is ___.
a)8 b) 7 ¢) 3 d) 9

10. Qsr@asLILLL BTG LHLE snmisefsd Gurss Coioem .élé)ﬁﬁ@ﬁ‘;lm b=
o) 15 =) 81 )17 #) 16

For any four given attributes to tal number of positive
class frequencies is __ .
a) 15 b) 81 ¢} 17 d) 16




PARTB- (5 x5 = 25 Marks)
Answer ALL quest ions, choosing either (a) or (b)
Answer should not exceed 230 words.

11. @) Spsai. S Leaumanuiled 8 ( Gsusmeownt asfa 1 Slwar wInSH whHmtb
o pugdl Swer @GHUIG Car@ssliul Bereng).

et | wHiy 57 58 52 RS €0 61 &2

2 husd dwear GHuIG: 67 63 €5 63 72 72 5

Tl

Smer i@ woppd 2 pusl e GG B lorar @l BHnees sraws.

The following table gives aptitude test scores and

EL’
poductivity indices of 8 randomly selected workers:

Aptitude Score: 57 B D D &0 6l a2 &4

Roductivity &7 6 & 63 - - & 7
Index:

Calculate the correlation coefficient between

aptitude score and productivity index.
[OR]

%) @LOailelmig o Lar Cursms CaumuBsss.
Distinguish Regression from Correlation.

12. &) euenguL (penpuilar Gon Blepsamen UL IGUIIBHS.
Q. List the merits and demerits of Graghi ¢ Me thod.

oR




o) SpSTEID B&EOHEDHS éséurré,@ ((peD (PEVLD @@g

Cursdlaar GUTBSSIS
rmlmm
mmm

afmuenar (‘000 Sie0E )

13. o) 2011 24 e 2012 LD S, GHTQDH ST UTIPSMSE
Qavallperer @ @ peppuiledn ApeLD HT IS
2

for 2012 on the base of 2011 on the
o famil budget method.

5 R



%) B S g7 GOLUSHDETI ampsmss Qsvalbsrar GEULE

GTGUITGNET  IT 6T,

[ g,
; &
Csget 15 1?@ 2013| ©2--
2 66y 700 | 850 40
2 L 300 | 280 15
eyrLensd | 200 | 225 i
(BB S 100 | 138 9
8s7 | 475 [ 425 23
b_ Find the cost of living index number for the following data in a middle
class family.
Price )
Item 2012 | 2013 Weight
Food 700 | 850 40
Clothing | 300 | 280 15
Rent 200 | 225 7
Medicine | 100 | 135 9
Misc. 475 | 425 23

14. @) paprs sowssiulL 52 G Qaramn. om sligd Bmbs Pm FLO
afsaiupw Curs gl (i) g oLwws® (i) om Brreafl & Lres BwLiugpsTen
Blshase) wre)?



—

: Oné card is drawn at random from a well-shuffled pack of 52 cards.
What is the probability that it will be (a) diamond, (b) a queen?
OR -

21) Bapssals UsBap BHbEHIBMEN 6ilanobEs.
b) Explain the various concepts of probability

15. @i (A) = 30; (B) = 25; (a) = 30; (o) = 20 aaflst N, (B), (AB), (AB), (B}
ASlweuperpsd sremrs.

Given that (A) = 30; (B) = 25; (a) = 30; («B) = 20; Find N, (8), (AB), (AB) and
(oB).

(OR)

) (@) = 75; (B) = 90; (aB) = 50; N = 135 aafled B peiten LeRILE Hamsemen
SHLILG.

1_3 . Given (a) = 75; (B) = 90; (aB) = 50; N = 135; Find the remaining attributes.

PART C - (5 x 8 = 40 Marks)

Answer ALL questions, choosing either (a) or (b)
Answer should not exceed 600 words.

16. @) ugg CuriyureniseysdlaL Cuwrar o Damss Cairalled epairmy
bRaursellsr wIli® £8p STUILL BeTeng).

sGaurA: [1]6[5]10]3]| 2]4]9]7]8

s@uiB: [3|5|8]| 4 |7]10/2] 1160

5@ C: |6|4]9]|8 |1] 2 3]/10(5(7

8y @LODey pepulilmen LWETLESS] abg Bran® BHeursensdam G

Bwsullsd 9o5 wANTH 2 srengy aaiLgener LmYl afleurdlésaytb.

@ . Ten competitors in a Musical test were ranked by three judges A, B and
C in the following order:

RanksbyA: |1/6[5|/10[/3] 2 [4]9 78

RanksbyB: |[3|5/8| 4 |7|/10]/2]| 1 [6]09

RanksbyC: |6]/4|9| 8 |1| 2 [3]10]|5]7

Using Rank Correlation method, discuss which pair of judges has the

nearest approach to common likings in music.




<) aégpasgg ;g;;euebesmﬂeb Bmibg e Lear Gariiy’ Curée@ FwauTi el s
sewHLIg.
Gummentgny wdliGlues : | 25|28 | 35|32 | 313629 |38 |34 |32
yeirefluiluwied mﬁﬂ@usﬁﬁr: 43146 (49(41 (3632|131 |30(33|39

From the following data given below, find the regression equations.

Marks in Economics : ah 128135132131 136129 |38 3; gg
M-rks in Statistics: 143146 [49141|36|32|31/30|3

/ 17 o) Gprd Gan fan usBsam UGHBDST 6ll6TiBG.

@ . Explain the components of Time Series.

OR

%) SpsaiL goecsepsstar om GriGsr e Blmieys.
X: |0 1 2 3 s
i i 2.1 135 184173 |82

> . Fit a Straight line to the following data

X: 0 1 2 3 4
b & 2.1 {3.5 |54 {73 |82

18. @) dpsain. ellsmsaiar oLl Naafar afliplus G0 O exrenemt
SESEIL[H DG BT  OIHMF Cemgenar  ommub asrrgaro‘gp wrpmE  Carsaaranis
Bleomey Qswidlnsr eren aflumiréaseyb.

2002 2003
Glur@er | syemey | allemed D616 alleney
9 8 80 10 120
< 10 120 12 96
8 5 40 7 50
¥ 4 56 3 60
o 20 100 AL 150

a . Calculate Fisher’s ideal index from the following data and prove that it
satisfies both the time reversal and factor reversal tests.

2002 2003
Commodity | Price | Expenditure | Price Expenditure
A 8 80 10 120
B 10 120 12 96
C 2 40 o 50
D - 56 3 60
E 20 100 25 50

| OR



o) egflar afluplus @pluiL Gl ewrenent &S B (HS.

2015 2016
GlummeiT po qo p1 Qi
ey 12 I i5s | 12
e 15 i 20 5
o) 24 5 20 9
[ 5 16 5 14

,}) . Compute Index Number using Fisher’s Ideal formula.

2015 2016

Commodity | po qo p1 qi
12 10 156 12
15 7 20 5
24 S 20 9
5 16 5 14

wilelivel g

19. @) @m BEISH oo Geuiglsren aurdliureniaseflen, G eIRSSLILLL &
samsQa@ulled 50% Guirser &Tene Qeuiglsrensmuybd, 60% Guirser DT

Qeuwidgrememub, 20% Guirser Byewih Geusnan Qauidlsrevanb euTEILIITSEMTS
Bmsdlapai. Beurseiled @rae Qeuidlgmer wWLHD SEOG DTV Qeuiglsmei
WLGD Qg DrevieLujbd  LIQUUAITTS BmLiLieuey Gl Os@LILISDSTET
Blapsse) wrg?



A Survey on city residents of readers shows that 50% of the residents read the morning paper, 60% read

the evening paper, and 20% read both news papers. Find the probability that a resident reads either the
morning or evening paper or both the papers.

»

OR

|
|
|
|
|

&)  @meur  Biers  wwlpfurent  ugellsers 3 swluallsEnss
oflewremn s gerenti. apsed SGuaiulled 12 puisepn Bremmbd swGueiuilsd 15
puirsEsd apaprd swlueiullss 10 puiseph Curlguifdlamen eaeflsd, 6T
Goppsulshd glsaib gm swbluaiuils GCsmbbs®ssiiuBaugnsTear Blspssea
W g,

J) : A Candidate is selected for interview of management trainees for 3
companies. For the first company there are 12 candidates, for the second
there are 15 candidates and ior the third there are 10 candidates. What
are the chances of ' ° getting job at least at one of the company?

20. @) Bren® peymss A wpmwb B uildd @mpg @@ uleurent Sipaseni
afleurmisemnen e b HleTanTir.

BT A paT B

Corés wasablsrans(y,wlymiseie) 240 234

L peuitaeir(yuilymiserfled) 40 34

UQEETS (GDmeuTesan(sy,wilymiseie) 40 20

uYss Gooeuteilser (ullymisans) 5 2
uguuplallh@h GDDELAGSmESEEEGD Ba Cuwnrer uatsailar 2 pailenen
euif Gleuis.
In two towns A and B, the following information was supplied by an
investigator:

Town A Town B

Total Population (in thousands) 240 234

Literates (in thousands) 40 34

Illiterate Criminals (in thousands) 40 20 .

Literate Criminals (in thousands) ] 2

Compare the degree of association between literacy and crime in each of
the two towns.

OR

1) SHmwaoTaaisandbgh Caalsd CafiuaTaend@l WwHHUTD @l SoubGHBUL BLEGUIULLLE. GHiay
sIupBw 2000 puiTseils 80% yuswieeil, Wapsitensuiiesii Queidsi. 300 Hplosmoren Syabidefso 140 Guir
Gaiellsd CamlwaiTaenteal. -Flpwemionsr yemisaisd 1100 Cxiallsy Geunmll Gummpent. 100 Hmioawiome
Guesiesilsy 40 Guir Gxiellst Glsumnfl Gubmsnit. 200 Aposwiwnsrd CusmisEnn Bairallsd Gaimn GCuLbmeT.
wedenr Gepalener &aiBUlgsHs Hmwsm Heneo Bsite) OCsaubpflent LTHSEBBSHT cIHILIMS elleuTd).
fp : A survey was conducted in respect of marital status and success in
examination. Out of 2000 persons who appeared for an examination,
80% of them were boys and the rest were girls. Among 300 married boys,
140 were successful. 1100 boys were successful among unmarried boys.
In respect of 100 married girls, 40 were successful. 200 unmarried girls
were successful. Find out the Yule’s coefficient of association te discuss
the association between marital status and successful in examination.
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PART A — (10 x 1 = 10 marks)

Answer ALL questions.

1. @& usT erem

(1) O (=) Pyeim
&) ¢pyeypr (/) 1
The number of primes is
(@ 0 (b) finite
(¢) infinite d 1
2. 4,6,8,9, 10, 12, 14, 15 GTEITLIZ)
(3) SELIL| GTETSHeET (=) UST 6TEms6rr
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4,6,8,9, 10,12, 14, 15 are
(a) composite numbers

(b) prime numbers

(¢) complex numbers

(d) imaginary numbers

FLDIOTE SHEMTLD 6T6HTLIZ) QameTL_g)
(Sf) IO L 6TeHr (<=1) @Cr erar
(@) yBBw erai (FF)  (PlyeyDr eregr

Equivalent sets have
(a) different number (b) same number
(¢) zero number (d) infinite number

QUETLILBIGET  epeOD  SETd  WHmIb  Sarddler

Qewdurhseemer cMers@&Hmg
() QUMILULMISET (<) ﬁ]ug,rr@fr &E0TLD
(@) Qouewr euenyuUL LD () 2L &6

Sets and get operations can by represented by
drawing diagrams is

(a) graphs (b) prime set

(¢) venn diagram (d) subset

Page2 Code No.:12446 B



5.

X && REFSSILULL. Speardg I S@EHLD
FLOSFIIATOTET 2 @TeWITE @BHESTR  1UnE g
@O

(S) SenL_WmeTLd (=) FweTUTH&ET
(@) (FF)  ell&lgbd

If the equality is true for all values assigned to x,
then it is called an

(a) 1identity (b) equations
(¢c) wvariable (d) ratio

arm wHEAprarler gamadprs wrMUEL UL FSH
@uemh ere|s6r CHTOTHTE MMHIL(H S

(<) Hleveowrar wrmumhser
(<) ez

(@) so@&p LIMUTHSET

() Cupamdumel ergieyldene

Two quantities are said to vary inversely if one
varies as the reciprocal of the other is

(a) constant variations
(b) proportion
(¢c) 1inverse variations

(d) None of the above

Page3 Code No.:12446 B



Y ar @ns@Leur(h —9 wHmb sTle| 2/3 eeafle,
Crir Cami_igem FwerLim()

(o) 38y=2x-27 (<) 3y=2x-3

@) y=2/3x+9 (FF)y  3y=2x+9

If y intercept is —9 and slope is 2/3, the equation
of the straight line is

(a) 8y=2x-27 (b) 3y=2x-3
(0 y=2/3x+9 (d 3y=2x+9
ureuearwgder S Larall ienpssLli(belgl
(=) Seuald (<)) yerarl

@) CriGsm ()  @QeenGsrp
In parabola, point S is called

(a) Focus (b) Point

(c) Straight line (d) Parallel line

A gm Gamoemw 10  priseaigd, B <6z
Cauamavenws 15 prisefigid CQsuidlerpmi. @) wHeu(HLD
@aanhg 2Cs Ceaumeamw aTSIMET BT S6t D
Qauieumirsser

(31) 5 Bl &e6r (=) 8 Bl ser

(@) 9 BrisEr (FF) 6 BIL&ET

A does a work in 10 days and B does the same
work in 15 days. In how many days they together
will do the same work?

(a) b5 days (b) 8days

(¢) 9days (d) 6days

Page4 Code No.:12446 B



10.

11.

12.

gh. 540 9 Ogrensulld o @menowner SeTEhLlg. .
90. eaumdlwmeTiler Se(@nLilg

(1) 60 (<) 108
(@) 110 (FF) 112

The true discount on a bill of Rs. 540 is Rs. 90. The
banker’s discount is

(a) 60 (b) 108
(¢) 110 (d 112
PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(@) x'-1 g5 Yo uEES WPigWd eTafled X @r LT
5 eremuens HlemLal.

Show that x*-1 is divisible by 5 if x is
prime to 5.

Or
(@) (x—a)(x—b)=x*—ax—bx+ab ear HlemLal.
Show that (x—a) (x—b)=x*—ax—bx+ab.
() SaTSSlem LIRTLSMET 6T(LPFIs.

Write the properties of sets.
Or

Page5 Code No.:12446 B



13.

14.

(<)

(=)

A={1,2,3,4,5}, B{4,5,6,7}
u{0,1,2,3,4,5,6,7,8,9} erafled

() AUB wHYL
(i) (AUB)! snews.

If A={1,2,3,4,5}, B{4,5,6,7}
u{0,1,2,3,4,5,6,7,8,9} find

G AUB Gi) (AuB)*
Eirés x*-16x+48=0.

Solve x*-16x+48=0.

Or
FoaTUTL L &iTés
3x—-2y=>5
S5x—y=5
Solve the equations :
3x—-2y=5
S5x—y=>5

EpsasaL LarallaEhsdan_Gui o dter grsass
srars (2,3) wpmn (5, 7).

Find the distance between the following pair
of points (2,3) and (5, 7).

Or
Page6 Code No.:12446 B



15.

(<)

(1)

@aarGsrhsar LHHD CQFm@EGsssd Csrhser
ubd fm GHLIL uenys.

Give a brief note on
(i) Parallel lines and
(11) Perpendicular lines.

eraflu el l9&@ 3 Yamhsefler grens em. 800

& QBHE eh. 920 FmhsOMargl. cullg eIsD 3%
9Safssmd el &@Hb Csmens ereuciema,?

A sum of Rs. 800 amounts to Rs. 920 in 3
years at simple interest. If the interest rate
is increased by 3% it would amount to how
much?

Or

cumiSlwmerien Sem@hLily LOHMID 8 LOMSEISEHEES,
Qequss Ceuamquw Ogrensuler o erenowimenr
saT@pUlg (papGu ep. 120 wWwHMID eH. 110
crafléy Qgrens wWHMID 615 FHIGSHman smews.

The banker’s discount and the true discount
on a sum of money due 8 months hence are
Rs. 120 and Rs. 110 respectively. Find the
sum and the rate percent.

Page7 Code No.:12446 B



16.

17.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

(1)

(=)

(1)

@@ euflens Qeliwiul L Leosdler LT samer

cllené&s.
Explain the properties of an order field.

Or

ECLp 2 der eresmaer cHESupm erevTSETT ?
@ 6.25 i) 3
(ii) 1/39 (iv) 2.78

Are the following rational numbers?

i) 6.25 Gi) /3

(11) 1/39 iv) 2.78

50 LOTGRT U TS 6T Q& mesTL cu@LIda,
30 LOMETGU T&HET @urr@@'rrrg,rrmb, 25 LOMETOU T&HET
sanflgid, 10 Guir @ remenL_u|b
ThSss0sTaTSpmiger. eThG6leum(m
LML $esWLD TH&EHTS LomewTeu Tae 68

CTEITET HENHM WS HITEHTS.

In a class of 50 students, 30 students take
economics, 25 students take mathematics
and 10 take both. Find the number of
students taking neither of subjects.

Or

Page8 Code No.:12446 B



18.

19.

(=)

(=)

(1)

(<)

FTTUQET 2 M6 WHMID FTTUOGT Sard  LibHb
F(HESSLOTE N6 &Hs.

Briefly explain the functional relation and
functions of set.

@m  Brige  CaoluugdHsrear  peariiLy
Qeuafliur® S = 0.2 Y — 50 whmid wpSedL g6
sere] I = 0.1y o4 cupmstiuBhdng. ks
Y eerug eu@ponerd, eugmomangdler goblane
SIADEMEUSE HTGHITS.

If the propensity to save in a country is given
by the expression S = 0.2 Y — 50 and the level
of investment is given by I = 0.1 y where y is
the income, find the equilibrium level of
income.

Or

gerur(hsefler euamsEsmer &HEHLTE 66T EHs.

Briefly explain the types of equation.

P(3,-2), Q(-1,1) LHMID R(-5,4)
QarhH&s Il (HéTer HeTell & (@hé &
CrrGarL_emnés.

Show that the following points are collinear,

P(3,-2),Q(-1,1) and R(-5, 4).
Or

Qumrmermsrysdle Cpr Camiigen LTI anL
AT (55,

Explain the application of straight lines in
economics.

Page9 Code No.:12446 B



20.

(=)

(<)

CaubTarsSlen UmSHMET &(H&ELONS 6l6Ts 8.
Briefly explain the types of depreciation.

Or

arhse 12 % aam  dMlzssHd 6
DTSBIGEH&EE @ GO L Qgransuliey eraflw
@llly WLWHPLD 2 EETEDWTET  FET(E@HLIG&HEGLD
o arer efFHwmEd em. 25 G, CFTansEnw
HTEHTS.

The difference between the simple interest
and true discount on a certain sum of money
for 6 months at 12 % for annum i1s Rs. 25.
Find the sum.

Page 10 Code No.: 12446 B
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1. @& usT erem

(1) O (=) Pyeim
&) ¢pyeypr (/) 1
The number of primes is
(@ 0 (b) finite
(¢) infinite d 1
2. 4,6,8,9, 10, 12, 14, 15 GTEITLIZ)
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4,6,8,9, 10,12, 14, 15 are
(a) composite numbers

(b) prime numbers

(¢) complex numbers

(d) imaginary numbers

FLDIOTE SHEMTLD 6T6HTLIZ) QameTL_g)
(Sf) IO L 6TeHr (<=1) @Cr erar
(@) yBBw erai (FF)  (PlyeyDr eregr

Equivalent sets have
(a) different number (b) same number
(¢) zero number (d) infinite number

QUETLILBIGET  epeOD  SETd  WHmIb  Sarddler

Qewdurhseemer cMers@&Hmg
() QUMILULMISET (<) ﬁ]ug,rr@fr &E0TLD
(@) Qouewr euenyuUL LD () 2L &6

Sets and get operations can by represented by
drawing diagrams is

(a) graphs (b) prime set

(¢) venn diagram (d) subset
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X && REFSSILULL. Speardg I S@EHLD
FLOSFIIATOTET 2 @TeWITE @BHESTR  1UnE g
@O

(S) SenL_WmeTLd (=) FweTUTH&ET
(@) (FF)  ell&lgbd

If the equality is true for all values assigned to x,
then it is called an

(a) 1identity (b) equations
(¢c) wvariable (d) ratio

arm wHEAprarler gamadprs wrMUEL UL FSH
@uemh ere|s6r CHTOTHTE MMHIL(H S

(<) Hleveowrar wrmumhser
(<) ez

(@) so@&p LIMUTHSET

() Cupamdumel ergieyldene

Two quantities are said to vary inversely if one
varies as the reciprocal of the other is

(a) constant variations
(b) proportion
(¢c) 1inverse variations

(d) None of the above
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Y ar @ns@Leur(h —9 wHmb sTle| 2/3 eeafle,
Crir Cami_igem FwerLim()

(o) 38y=2x-27 (<) 3y=2x-3

@) y=2/3x+9 (FF)y  3y=2x+9

If y intercept is —9 and slope is 2/3, the equation
of the straight line is

(a) 8y=2x-27 (b) 3y=2x-3
(0 y=2/3x+9 (d 3y=2x+9
ureuearwgder S Larall ienpssLli(belgl
(=) Seuald (<)) yerarl

@) CriGsm ()  @QeenGsrp
In parabola, point S is called

(a) Focus (b) Point

(c) Straight line (d) Parallel line

A gm Gamoemw 10  priseaigd, B <6z
Cauamavenws 15 prisefigid CQsuidlerpmi. @) wHeu(HLD
@aanhg 2Cs Ceaumeamw aTSIMET BT S6t D
Qauieumirsser

(31) 5 Bl &e6r (=) 8 Bl ser

(@) 9 BrisEr (FF) 6 BIL&ET

A does a work in 10 days and B does the same
work in 15 days. In how many days they together
will do the same work?

(a) b5 days (b) 8days

(¢) 9days (d) 6days
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11.

12.

gh. 540 9 Ogrensulld o @menowner SeTEhLlg. .
90. eaumdlwmeTiler Se(@nLilg

(1) 60 (<) 108
(@) 110 (FF) 112

The true discount on a bill of Rs. 540 is Rs. 90. The
banker’s discount is

(a) 60 (b) 108
(¢) 110 (d 112
PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(@) x'-1 g5 Yo uEES WPigWd eTafled X @r LT
5 eremuens HlemLal.

Show that x*-1 is divisible by 5 if x is
prime to 5.

Or
(@) (x—a)(x—b)=x*—ax—bx+ab ear HlemLal.
Show that (x—a) (x—b)=x*—ax—bx+ab.
() SaTSSlem LIRTLSMET 6T(LPFIs.

Write the properties of sets.
Or

Page5 Code No.:12446 B



13.

14.

(<)

(=)

A={1,2,3,4,5}, B{4,5,6,7}
u{0,1,2,3,4,5,6,7,8,9} erafled

() AUB wHYL
(i) (AUB)! snews.

If A={1,2,3,4,5}, B{4,5,6,7}
u{0,1,2,3,4,5,6,7,8,9} find

G AUB Gi) (AuB)*
Eirés x*-16x+48=0.

Solve x*-16x+48=0.

Or
FoaTUTL L &iTés
3x—-2y=>5
S5x—y=5
Solve the equations :
3x—-2y=5
S5x—y=>5

EpsasaL LarallaEhsdan_Gui o dter grsass
srars (2,3) wpmn (5, 7).

Find the distance between the following pair
of points (2,3) and (5, 7).

Or
Page6 Code No.:12446 B



15.

(<)

(1)

@aarGsrhsar LHHD CQFm@EGsssd Csrhser
ubd fm GHLIL uenys.

Give a brief note on
(i) Parallel lines and
(11) Perpendicular lines.

eraflu el l9&@ 3 Yamhsefler grens em. 800

& QBHE eh. 920 FmhsOMargl. cullg eIsD 3%
9Safssmd el &@Hb Csmens ereuciema,?

A sum of Rs. 800 amounts to Rs. 920 in 3
years at simple interest. If the interest rate
is increased by 3% it would amount to how
much?

Or

cumiSlwmerien Sem@hLily LOHMID 8 LOMSEISEHEES,
Qequss Ceuamquw Ogrensuler o erenowimenr
saT@pUlg (papGu ep. 120 wWwHMID eH. 110
crafléy Qgrens wWHMID 615 FHIGSHman smews.

The banker’s discount and the true discount
on a sum of money due 8 months hence are
Rs. 120 and Rs. 110 respectively. Find the
sum and the rate percent.
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16.

17.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

(1)

(=)

(1)

@@ euflens Qeliwiul L Leosdler LT samer

cllené&s.
Explain the properties of an order field.

Or

ECLp 2 der eresmaer cHESupm erevTSETT ?
@ 6.25 i) 3
(ii) 1/39 (iv) 2.78

Are the following rational numbers?

i) 6.25 Gi) /3

(11) 1/39 iv) 2.78

50 LOTGRT U TS 6T Q& mesTL cu@LIda,
30 LOMETGU T&HET @urr@@'rrrg,rrmb, 25 LOMETOU T&HET
sanflgid, 10 Guir @ remenL_u|b
ThSss0sTaTSpmiger. eThG6leum(m
LML $esWLD TH&EHTS LomewTeu Tae 68

CTEITET HENHM WS HITEHTS.

In a class of 50 students, 30 students take
economics, 25 students take mathematics
and 10 take both. Find the number of
students taking neither of subjects.

Or
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18.

19.

(=)

(=)

(1)

(<)

FTTUQET 2 M6 WHMID FTTUOGT Sard  LibHb
F(HESSLOTE N6 &Hs.

Briefly explain the functional relation and
functions of set.

@m  Brige  CaoluugdHsrear  peariiLy
Qeuafliur® S = 0.2 Y — 50 whmid wpSedL g6
sere] I = 0.1y o4 cupmstiuBhdng. ks
Y eerug eu@ponerd, eugmomangdler goblane
SIADEMEUSE HTGHITS.

If the propensity to save in a country is given
by the expression S = 0.2 Y — 50 and the level
of investment is given by I = 0.1 y where y is
the income, find the equilibrium level of
income.

Or

gerur(hsefler euamsEsmer &HEHLTE 66T EHs.

Briefly explain the types of equation.

P(3,-2), Q(-1,1) LHMID R(-5,4)
QarhH&s Il (HéTer HeTell & (@hé &
CrrGarL_emnés.

Show that the following points are collinear,

P(3,-2),Q(-1,1) and R(-5, 4).
Or

Qumrmermsrysdle Cpr Camiigen LTI anL
AT (55,

Explain the application of straight lines in
economics.
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20.

(=)

(<)

CaubTarsSlen UmSHMET &(H&ELONS 6l6Ts 8.
Briefly explain the types of depreciation.

Or

arhse 12 % aam  dMlzssHd 6
DTSBIGEH&EE @ GO L Qgransuliey eraflw
@llly WLWHPLD 2 EETEDWTET  FET(E@HLIG&HEGLD
o arer efFHwmEd em. 25 G, CFTansEnw
HTEHTS.

The difference between the simple interest
and true discount on a certain sum of money
for 6 months at 12 % for annum i1s Rs. 25.
Find the sum.
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Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL questions.

Choose the correct answer.

1. y=x" erefed dy SITEHTS

dx
(=) x" (<) nx”
@) nx™t (F) nx
If y=x", then b -

dx
(a) «x" (b) nx"

(¢ nx"? @ nx



d*y
y=6x+5x%+3x+10 erafled —5 =

dx
(@) 18x+10x+3x+10 (=) 18x*+10x+3

(@) 36x+10 () Faib Geome

2
If y=6x"+5x>+3x+10, then 4y _

dx’®
(@) 18x+10x+3x+10 (b) 18x*+10x+3
(c) 36x+10 (d) None

Quorss Lwerur @ smiy U=2x"y eafle y-uler
@niFblened LIeTLm g ener &mesms
(o) 6x” (<) 247
@) 6x2y () 2y

If the total utility function U =2xy, then
marginal utility of y =

(@ 6x” b) 2x°
© 6x%y d 2y
(o) 2 (<) 2x
() xy () 2y
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If y=2xy, then a_u:
dy

@) 2
(© xy
0f9Gs [dx =
(@) x+c

@) x*/2+c
[dx =

@) x+c

() «x%/2+c¢

(b) 2x
(d) 2y
(<) l+c
() 0

(b) 1+c
(d 0

B&sTCeun &g  ereuallgaT(Hd @b

Coaumiim( ?

@enL_Guuerer

(S) Qar®és &A@y  eflene WOHMID 2 @reno

N

(<) @midbleve eumeumis HMID CFae]

(@) Qsrhés eSNmbLyb e wOHnD QFassib

e

(FF) Qs eumeumit HMID ClFwa]
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Consumer’s surplus is the difference between
(a) Willing to pay and actual pay

(b) Marginal revenue and cost

(¢) Willing to pay and ability to pay

(d) Total revenue and cost

epameaill L janfl ererLig)

(1) Blevy el (<) Blred el

(@) Qeupm oiewfl () &8Iy Sienfl
Diagonal matrix is a

(a) Row matrix (b) Column matrix

(¢) Null matrix (d) Square matrix

A ez @menn saflurs fawb Cumipg

(on AT=A (<) |A]=0

@) A*=A m) ATl=A
If A 1s singular matrix then

@ AT=A4 ® |A]=0

(0 A*=A @ A'=A
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10.

2 aTaf®-Qeuafi(h) @ uiemes psedled Shseuir
(=) SlGuimeirigq L (<)) smyed Gwirae
@) Yaegm (/) ev@uirGLoer
The Input-Output analysis was developed by

(a) Leontief (b) Karl Pearson
(¢) Fisher (d) Spearman

o dref(®-CQeuaflui( <puiefer er(Camer

(<)) wrpr elenerey el

(<) QsmPledmIL LD IHIEnLD

(@) oy @b 2 dmaf@

(FF)  ©)MausET Henandgih

The assumption of the input-output analysis is
(a) Constant returns to scale

(b) Technology remain constant

(c) Labour is the only input

(d) All the above
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PART B — (5 X 5 = 25 marks)

Answer ALL the questions, choosing either (a) or (b) in

11.

12.

(1)

(=)

about 250 words.
y=x"+2x>+8x>-7x+6 eafl®> epaTpTDOU
UMEECH(pelenend &Tams.

Find the third order derivative of the

function y=x*+2x +8x* -7x+6.

Or

y=f(x) erafled> SuQuU@® whmd B&fm iy

STETUSHSTET HlLbSMETSHET Wrenel ?

What are the conditions for maxima and
minima of the function y = f(x)?

UGS aumastspaier allfulamear alars@s.
Explain the rules of partial derivatives.

Or
Qumrmetlwadled WG QU 80l & (Lp el er

LweTUTL g ener Ll g wedl (hs.

Enumerate the applications of partial

derivatives in Economics.
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13.

14.

(=)

w9 H s j(8x3 —3x*+x —l)dx :
Evaluate I(st -3x%+x —1)dx .

Or

Qurss Qswe; TC = 4% +2Q +10 erafled Qe
oY 5 s Qmsdleambumipg @mnsblae
Qeawenes (MC) srers.

Given the total cost TC = 4Q* +2Q +10 . Find
Marginal Cost (MC) at @ = 5.

Hleny LHMILD Bl <l el ufener
THSSSSTL_(HL6T 66Td@Hs.

Explain the Row matrix and Column matrix

with an example.

Or

1 2
A:(Z 4} aatldd A yeg @Henn Sjemium

SOOI RHEWLIDD ST WT CTET &TeHTs.

1 2

Check whether A=(
2 4

j is singular
matrix or non-singular matrix.
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15. (@) Osmeom Qs pelaner GTEUGUM)
STES (Heum ?

How can you compute technical coefficient?

Or

(<) 2dmef®-Ceuali®) <yweller Wadusgiousms
elaTsGs.

Explain the importance of Input-Output

analysis.
PART C — (5 x 8 = 40 marks)

Answer ALL the questions, choosing either (a) or (b) in
about 600 words.

16. (=) eumssCspelien alflsmer clleurs.

Discuss the rules of derivatives.

Or

(<) Z= 48 —4x* —2y* +16x+12y  erafléd B&S o)
woHmd BLGU@ wdindamer srems.

Find maxima or minima of the function

Z =48 -4x* -2y* +16x +12y.
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17.

(=)

sz‘q'y+x2y2+4x3+y222+z2 +x2

—4xy+4x+b5y+32z+2 erafled

Ju Jdu . . du .
— LOHMD — STEHTs.

ox ay 0z
If U=x?y+x%y* +4x® +y22% +2% + &2
Ju Jdu

—4xy+4x+5y+3z+2 then find —, —
ox dy

u

and —

0z
Or
weofler Cspmsens wIHGHs.

Evaluate Euler’s theorem.

Gseeu sy P=35-2x-x" eafld x = 3
erarm Hleneoudle msTCount eTésSmS el

If the demand function is P =35-2x—x2,
find consumer’s surplus at x = 3.

Or

wHU9H s j4x2(x3 +5)3dx .
Evaluate I 4x2(x3 + 5)3dx .
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19. (=)

20. (&)

(=)

el @essad FHms. SAawiludler LoGaum)
UMSSHMET T(HSSHISETL_(HL6T 6l6TdEHs.

Define matrix and explain its different types
with suitable examples.

Or
1 2 3
A=|-5 -7 -4| eaflo Ader Cwirwombm
2 1 3
Siemtluflener Gesr(HL9 g &S L.
Find inverse of the matrix
1 2 3
A=|-5 -7 —-4].
2 1 3
o érat(H)-Geuefui@ O ) &(HS.

o dref(n-Ceuafui( <puielener <ymiis.
Define input and output. And analyze the
input output analysis.

Or
Wleireu(mLd A WHmID B GTETM
Qsmperenesaier  cuamls  Cewdum@aer
Wlevadlwerr epumi wHrGed syl (HeTerg).

el uen e QUTEIGLD Flewm @mnid Caaneu
Qsmfpsrena|Cgrfihsrel A B
A B
Qamparene A 18 08 10 36
Qamfiherene B 09 24 15 48
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Copsear_ slurrigeie @md Csameiwrarg A
QzmnHamaneuded 30 <2AEELD, B
Qamflhereneude 40 <& LD
wrmidlermCurpgl Qs 2 Husdlepw
SATES (.

In an economy of two industries A and B, the

information in million rupees is given below.

Selling sector Buying sector Final Demand
Industry A | Industry B A B

Industry A 18 08 10 36

Industry B 09 24 15 48

Determine total output to be produced by the
two industries to meet the new demand for
30 units of Industry A and 40 units of
Industry B.
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B.A. (CBCS) DEGREE EXAMINATION, APRIL 2021.
Fourth Semester
Economics — Main
MATHEMATICAL METHODS — 11
(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL questions.

Choose the correct answer.

1. Ify:x",thenQZ
dx
(a) «x" (b) nx"
© nx"? d nx
d%y
2. Ify:6x3+5x2+3x+10,thenﬁ =
x

(@) 18x+10x+3x+10 (b) 18x*+10x+3
(¢) 36x+10 (d) None



If the total utility function U =2x%y, then

marginal utility of y =
(a) 6x” b) 2«7

(© 6x’y @ 2y

If y=2xy, then E;_u:

y
(a) 2 (b) 2x
) xy (d) 2y
[dx =

(a) x+c ®b) 1l+c
() «x%/2+c¢ d 0

Consumer’s surplus is the difference between
(a) Willing to pay and actual pay

(b) Marginal revenue and cost

(¢) Willing to pay and ability to pay

(d) Total revenue and cost

Diagonal matrix is a
(a) Row matrix (b) Column matrix

(¢) Null matrix (d) Square matrix
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8. If A is singular matrix then

@ AT=A4 ® |4]=0
© A*=A @ Al=A

9. The Input-Output analysis was developed by
(a) Leontief (b) Karl Pearson
(c) Fisher (d) Spearman

10. The assumption of the input-output analysis is
(a) Constant returns to scale
(b) Technology remain constant
(¢) Labour is the only input
(d) All the above

PART B — (5 X 5 = 25 marks)

Answer ALL the questions, choosing either (a) or (b) in
about 250 words.

11. (a) Find the third order derivative of the

function y=x*+2x* +8x* -7x +6.

Or

(b) What are the conditions for maxima and
minima of the function y = f(x)?
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12.

13.

14.

15.

(@)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Explain the rules of partial derivatives.

Or
Enumerate the applications of partial
derivatives in Economics.

Evaluate I(st -3x%+x —1)dx .

Or
Given the total cost TC = 4Q* +2Q +10 . Find
Marginal Cost (MC) at @ = 5.

Explain the Row matrix and Column matrix

with an example.

Or

1 2

Check whether A:(
2 4

j is singular
matrix or non-singular matrix.

How can you compute technical coefficient?

Or

Explain the importance of Input-Output

analysis.

Page4 Code No.:12447 E
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PART C — (5 X 8 = 40 marks)

Answer ALL the questions, choosing either (a) or (b) in

16. (a)

(b)
17. (a)
(b)
18. (a)
(b)

about 600 words.

Discuss the rules of derivatives.

Or

Find maxima or minima of the function
Z =48 -4x* -2y* +16x+12y.

If U=xy+x%y* +4x® + y?2% + 2% + x*

—4xy+4x+5y+3z+2, then find a_u’ 8_u
ox 9y
and a_u
0z

Or

Evaluate Euler’s theorem.

If the demand function is P =35-2x—x2,
find consumer’s surplus at x = 3.

Or

Evaluate j 4x2(x3 + 5)3dx .
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19. (a) Define matrix and explain its different types
with suitable examples.
Or
(b) Find inverse of the matrix
1 2 3
A=|-5 -7 —-4].
2 1 3
20. (a) Define input and output. And analyze the
input output analysis.
Or
(b) In an economy of two industries A and B, the
information in million rupees is given below.
Selling sector Buying sector Final Demand
Industry A | Industry B A B
Industry A 18 08 10 36
Industry B 09 24 15 48

Determine total output to be produced by the
two industries to meet the new demand for
30 units of Industry A and 40 units of
Industry B.
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PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :
1. Guflwe Qummertsmyb @evsit LHH L rILg)
(=) seaflpul BLeulysams
(=) @u(heumul
(@) eueTr&s

() GsmE e



Macro economics deals with

(a) Individual behaviour

(b) Income

(¢) Growth

(d) Theory of aggregates

Cuflwe QummaTTETISMS @)CUEUMN BELPESHETLD
(S1)  ameumt Gauameveumiitig Gamum()

(<) 2husHs Camum

@) wpsd(hs Carrump

()  Gewltiys Casm_ump)

Macro economics is also known as

(a) Theory of income and employment
(b) Theory of production

(¢) Theory of investment

(d) Theory of savings

Caélw eumrarpd whmib Csflwus CFaebd
(=) &wLdlevene

(<4,) &b

@) Gsdlw aupwrarnd > Caslws Gawaey
() Csélwg Qe > Caflw aupomard
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National income and national expenditures are

(a) Not equal

(b) Equal

(¢) National Income > National expenditure

(d) National expenditure > National income
‘oefliy opgerw deniss  Czwemw
2 BHAUTSEGD’ CTaLIDSS ShHEou

(<) Gey.erav. LSled (<)) LOMTaHEd

(@) Cx.9.Gs (FF) L LbevLbls

‘Supply creates its own demand’ was given by

(a) J.S.Mill (b) Marshall

(c) J.B.Say (d) Adam Smith
QzrEds Csameus Garhb CsmE efllysCasrEib
Qeul g QameTEnid LieTeafleanw @eucumm eSS TLD
(<) epwbleop Geuaaeumiiy

(<) eflenerayerer Goaneu

(@) swHlae
() Neverajerer ety
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The intersection point of the aggregate demand
and aggregate supply curve is called as

(a) Full employment (b) Effective demand

(¢) Equilibrium (d) Effective supply

BI&TeYE &ML @samand @GH&E@GLD

(&) @BEUTIGEGD PSSy H@Gh 2 6rer Cgmiy
(@) HsTasEh Callliys@h 2 drer Ggmiy
(@) eumeUTIEEGD HISTe|&ED 2 drer CgmiLy
() Coameus@b eflliys@n o drer Gsmiy
The consumption function refers to

(a) Income and investment relationship

(b) Consumption and saving relationship

(¢) Income and consumption relationship

(d) Demand and supply relationship

syrafl BsTe| Bl Lb eTerLg)

@ = @ 2E
Y 2 AY
AC
1AL 51— MPS
@ 153 ()
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Average propensity to consume refers to

C AC
@y NG
AC

o araflwe msTe s Camum el o (heurdslweu

(=) fAssmrGLm (<) TLDeRMMS

(@) &aev (FF) <L b6

The psychological law of consumption 1is
enunciated by

(a) Ricardo (b) Edgeworth

(¢ Keynes (d) Adamsmith

QumsHuyd  WPEsHYD Qeeanbg CFwdLbheg
—— GD.

(@) eumenflLg &Lped (<)) eumewiluib

(@) Wvesls Qumsd (FF)  @eoruib

The interaction of accelerator and multiplier is
called as

(a) Business cycle (b) Trade
(¢) Super multiplier (d) Profit
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10.

11.

12.

aiiE  parGarnsdl,  GarCearmsdl — BLelgsms
Qeweur® B Cumdng) ?

(@) phss (<) Qupss

(@) misiey () psaSH

Where the forward and reverse operation made?
(a) Acceleration (b) Multiplier

(¢) Consumption (d) Investment

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(@) Cuflwer Qummermsmysder LFLCUDME WL
ollemd @ s.
Explain the scope of macro economics.
Or

(<) CGufllbwe QummertgTy @uieller @GampurHEeT
Wreney ?

What are the limitations of macro economic
analysis?

(<) Gwrgs Caslu 2 pugdl updl Soi GOHILL SBS.

Write a short note on gross national product.

Or
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13.

14.

(=)

(=)

(=)

@m wpriger GCsflu  eumwrasag sHlums
Sjereill(Heudled 2 eTer GMDUTHISET WTene ?

What are the difficulties in the correct
measurement of national income of a
country?

Couller mismy e ollerd@s.

Explain the say’s law of market.

Or

Mevareyerer  Coaneu  upd  BelliT  Sydleuer
wrenel ? @& ereueurm SToreissiiubSearmg) ?

What do you mean by effective demand? How
is it determinant?
B&Te| grieu Srorais@h srreflsedr wrene ?

What are the factors that determine the

consumption function?

Or
misie| srrder psdlwusgeisas GHLEGHS.

State the importance of consumption

function.
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15. (=)

(<)

Eevrellen msiefer o ereflwed eflfews LD
F(HSHLTE 66TsHEHs.

Briefly explain Keynesian psychological law

of consumption.

Or

pO&HS Carium e afleurl.
Describe the principle of acceleration.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (&)

Cuflwer Qumrmertsmysder WEHWSgeuSmS
ollaTsGs.

Explain the importance of macro economics.

Or

Caélw  eumwrarsens earallbd  LGeum)
wpepgHemer alleul.

Describe the various methods of measuring

national income.
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17.

18.

19.

(=)

(=)

Couamarulleianing@ Qessard  Shgl g6
cuassamer auflangliL(HEd 6lleré@Hs.

Define unemployment and the explain the
various types of unemployment.

Or

Saraflesr Geuewevaumiiigg GCamium el b
cllemd @ s.

Explain about the Keynesian theory of
employment.

Qgrerenols  Qumrmeflwodepisaier  Couame
aumitigg Gariur’ el eleTdse|m.

Analyze the classical theory of output and
employment.

Or
Gos@eiler  gmell  CQeul () Camiumigener
LTS,

Examine the Pigou’s wage cut theory.
Qumsd - WwO&d Geraflu Cewed elenerey
ubm eSleTs@Hs.

Explain the interaction between multiplier
and accelerator.

Or
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20.

(<)

(1)

epoger Qoo psssdper  wHHID
culigaisd Lpdl Spermiiey QEuis.

Critically examine the marginal efficiency of
capital and rate of interest.

QumsHullen QFwoumiqener 6fleTd@s.

Explain about the working of the multiplier.
Or

WHSH e cueTLIDEET WTene ?

What are the limitations of the accelerator?
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1. Guflwe Qummertsmyb @evsit LHH L rILg)
(=) seaflpul BLeulysams
(=) @u(heumul
(@) eueTr&s

() GsmE e



Macro economics deals with

(a) Individual behaviour

(b) Income

(¢) Growth

(d) Theory of aggregates

Cuflwe QummaTTETISMS @)CUEUMN BELPESHETLD
(S1)  ameumt Gauameveumiitig Gamum()

(<) 2husHs Camum

@) wpsd(hs Carrump

()  Gewltiys Casm_ump)

Macro economics is also known as

(a) Theory of income and employment
(b) Theory of production

(¢) Theory of investment

(d) Theory of savings

Caélw eumrarpd whmib Csflwus CFaebd
(=) &wLdlevene

(<4,) &b

@) Gsdlw aupwrarnd > Caslws Gawaey
() Csélwg Qe > Caflw aupomard
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National income and national expenditures are

(a) Not equal

(b) Equal

(¢) National Income > National expenditure

(d) National expenditure > National income
‘oefliy opgerw deniss  Czwemw
2 BHAUTSEGD’ CTaLIDSS ShHEou

(<) Gey.erav. LSled (<)) LOMTaHEd

(@) Cx.9.Gs (FF) L LbevLbls

‘Supply creates its own demand’ was given by

(a) J.S.Mill (b) Marshall

(c) J.B.Say (d) Adam Smith
QzrEds Csameus Garhb CsmE efllysCasrEib
Qeul g QameTEnid LieTeafleanw @eucumm eSS TLD
(<) epwbleop Geuaaeumiiy

(<) eflenerayerer Goaneu

(@) swHlae
() Neverajerer ety

Page3 Code No.:12448 B



The intersection point of the aggregate demand
and aggregate supply curve is called as

(a) Full employment (b) Effective demand

(¢) Equilibrium (d) Effective supply

BI&TeYE &ML @samand @GH&E@GLD

(&) @BEUTIGEGD PSSy H@Gh 2 6rer Cgmiy
(@) HsTasEh Callliys@h 2 drer Ggmiy
(@) eumeUTIEEGD HISTe|&ED 2 drer CgmiLy
() Coameus@b eflliys@n o drer Gsmiy
The consumption function refers to

(a) Income and investment relationship

(b) Consumption and saving relationship

(¢) Income and consumption relationship

(d) Demand and supply relationship

syrafl BsTe| Bl Lb eTerLg)

@ = @ 2E
Y 2 AY
AC
1AL 51— MPS
@ 153 ()
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Average propensity to consume refers to

C AC
@y NG
AC

o araflwe msTe s Camum el o (heurdslweu

(=) fAssmrGLm (<) TLDeRMMS

(@) &aev (FF) <L b6

The psychological law of consumption 1is
enunciated by

(a) Ricardo (b) Edgeworth

(¢ Keynes (d) Adamsmith

QumsHuyd  WPEsHYD Qeeanbg CFwdLbheg
—— GD.

(@) eumenflLg &Lped (<)) eumewiluib

(@) Wvesls Qumsd (FF)  @eoruib

The interaction of accelerator and multiplier is
called as

(a) Business cycle (b) Trade
(¢) Super multiplier (d) Profit
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10.

11.

12.

aiiE  parGarnsdl,  GarCearmsdl — BLelgsms
Qeweur® B Cumdng) ?

(@) phss (<) Qupss

(@) misiey () psaSH

Where the forward and reverse operation made?
(a) Acceleration (b) Multiplier

(¢) Consumption (d) Investment

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(@) Cuflwer Qummermsmysder LFLCUDME WL
ollemd @ s.
Explain the scope of macro economics.
Or

(<) CGufllbwe QummertgTy @uieller @GampurHEeT
Wreney ?

What are the limitations of macro economic
analysis?

(<) Gwrgs Caslu 2 pugdl updl Soi GOHILL SBS.

Write a short note on gross national product.

Or
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13.

14.

(=)

(=)

(=)

@m wpriger GCsflu  eumwrasag sHlums
Sjereill(Heudled 2 eTer GMDUTHISET WTene ?

What are the difficulties in the correct
measurement of national income of a
country?

Couller mismy e ollerd@s.

Explain the say’s law of market.

Or

Mevareyerer  Coaneu  upd  BelliT  Sydleuer
wrenel ? @& ereueurm SToreissiiubSearmg) ?

What do you mean by effective demand? How
is it determinant?
B&Te| grieu Srorais@h srreflsedr wrene ?

What are the factors that determine the

consumption function?

Or
misie| srrder psdlwusgeisas GHLEGHS.

State the importance of consumption

function.
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15. (=)

(<)

Eevrellen msiefer o ereflwed eflfews LD
F(HSHLTE 66TsHEHs.

Briefly explain Keynesian psychological law

of consumption.

Or

pO&HS Carium e afleurl.
Describe the principle of acceleration.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (&)

Cuflwer Qumrmertsmysder WEHWSgeuSmS
ollaTsGs.

Explain the importance of macro economics.

Or

Caélw  eumwrarsens earallbd  LGeum)
wpepgHemer alleul.

Describe the various methods of measuring

national income.
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17.

18.

19.

(=)

(=)

Couamarulleianing@ Qessard  Shgl g6
cuassamer auflangliL(HEd 6lleré@Hs.

Define unemployment and the explain the
various types of unemployment.

Or

Saraflesr Geuewevaumiiigg GCamium el b
cllemd @ s.

Explain about the Keynesian theory of
employment.

Qgrerenols  Qumrmeflwodepisaier  Couame
aumitigg Gariur’ el eleTdse|m.

Analyze the classical theory of output and
employment.

Or
Gos@eiler  gmell  CQeul () Camiumigener
LTS,

Examine the Pigou’s wage cut theory.
Qumsd - WwO&d Geraflu Cewed elenerey
ubm eSleTs@Hs.

Explain the interaction between multiplier
and accelerator.

Or
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20.

(<)

(1)

epoger Qoo psssdper  wHHID
culigaisd Lpdl Spermiiey QEuis.

Critically examine the marginal efficiency of
capital and rate of interest.

QumsHullen QFwoumiqener 6fleTd@s.

Explain about the working of the multiplier.
Or

WHSH e cueTLIDEET WTene ?

What are the limitations of the accelerator?
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(8 Pages) Reg. No. :

Code No. :12449 B Sub. Code : SMEC 52

B.A. (CBCS) DEGREE EXAMINATION, APRIL 2021.
Fifth Semester
Economics — Main
PUBLIC FINANCE — I
(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.
Choose the correct answer :
1. Qurg Bl epdler Hldsbubsiiul L em dFwdum
GTET FoMlweuT
(=) weudlCreu (<) LmedL @
(@) Qruwer (FF) el

Who said public finance is the financial aspects of
the business of government?

(a) Musgrave (b) Dalton
(¢) Taylor (d) Smith



aumwrard Cswelarseamns Bliramuilsdng oL 6
QaTLiryenLwig

(<) wrheBd (<) saflur g

(@) Qumrg S () QeuafliBm (k) Bl
The income determines the expenditure belongs to
(a) State finance (b) Private finance

(¢) Public finance (d) Foreign finance

Qurgieuns Qurgs Oswey b CQUTEH FHODES

o flueufserméd Qewtiu@eug
(=) wrhle (<) wHHu
(@) o drermi&l (FF)  @eneu SemansgiLhd

Public expenditure generally refers to the
expenses of public authorities of

(a) State (b) Central

(¢) Local (d) All the above
@ndwurefer urgisTiy  Oeoelard o @TerL_sdlw
WIGE kLo

(2f) aure| samss, (<)) CLPOSET SHemTd &

(@) (=) wHmID (<) (FF) 2 pusdls samss,
Defence expenditure in India belongs

(a) Revenue Alc (b) Capital Alc

(¢) Both (a) and (b) (d) Production A/c
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aufleupeumy  wrmeugHE ol Qurgs  Cgway
sMQFLIWLEFIG W FD6T 2 eTeTeng eTeleUmn HenLPLILIT

(<) <g@ind i () sssdern oflg)
@) Sssar aud () Qpdlpss &h5

The expenditure must be capable of adjustment
according to the changes in the tax income is
called as

(a) Cannon of sanction
(b) Cannon of productivity
(c) Cannon of economy

(d) Cannon of elasticity

aurfl elllilenr Crrsasd eremLg)

(<) Quretsmy ukEUOSEs®
(<)) ellened @GenmLiLy

@) msTey sy

(FF) 2 pusdl Gampay

The objectives of taxes is

(a) Regulation of economy

(b)  Price reduction

(¢) Increase in consumption

(d) Decrease in production

Page3 Code No.:12449 B



@eumdled ergl eumuflen @emTmdlFuib ?
() SLLmwld

(=) wryumQ

(@) eufl sL_(Hueu(HEE HeTeanLd

(/) Coflud

In the following which is the characteristics of a
tax?

(a) Compulsory

(b) Optional

(¢) Benefit to tax pays
(d) Nationality

2786 BETL ST SLGIT HEMLD GTeTLIg)

(@) Hspsre samaupenn

(<)) eflenFeurar $emeLpen

(@) QUBBSTL) SEMELPED

(FF)  @eubmled ergia b @eane

The burden of long-term public debt is on
(a) Present generation

(b) Past generation

(¢) Future generation

(d) None of these

Page4 Code No.:12449 B
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10.

Curisres Cwae] ererLg)

(=) eier Qeway

(=) WsaS6
(@) sLimu Qeoey

(FF)  @aeupdled ergia|dlerenaw

War expenditure is a

(a) Waste of money

(b) Investment

(¢) Forced expenditure

(d) None of these

gl Lrs BHuder wpsdlw Crrésid

(<) wrhlegerernm &

(<) wraflugdler o g6l (Barblasmant)

(@) =ds eumeuml
(FF)  ergle|dlebenad

Major aim of federal finance is
(a) State autonomy (b) Grant-in-aid

(c) More revenue (d) None

Page5 Code No.:12449 B



11.

12.

13.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(1)

Qurg Hllufer LipLibener allersd@s.
Define public finance its scope.
Or

Qurgflfs@n, saflurt  HHs@en o emer
Caumuir(h wirg) ?

Distinguish between public private finance.

Qurg HlFuller wasdwsgieusams alerss,.
Explain the importance of public finance.

Or
eueTibgl eumElerm BT lghH@ Cumg BHlHuden

LImki@ wmgl?

What are the role of public finance in an
under developed countries?

Qurgls Oewe] AFsflliugharear sryearThigeT
wng) ?

What are the causes of increase in public
expenditure?

Or
Qurgs Qgeeiler (W& Hwsgieud wng)?

State the significance of public expenditure.
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14.

15.

16.

(=)

(S)

Qurgls Gsweyss@b, selumm  CFweys@bd
2 arem Gaumur® wmg) ?

What are the difference between public and
private expenditure?

Or

Qurgs Qgeeiler euansILT L 6ll6TsEHs.
Explain the classification of public
expenditure.

Qurgleumeuruiler (P&HEW HSTIERISET WTgl ?

What are the main sources of public
revenue?

Or

Qurg Gu(meumudler uCGaum
cuasLiLI(hSgIsosmer afleur.

Explain the different classifications of public
revenue.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

(1)

(<)

Qurg g%]uﬁ]@rr peiar &me (WPEE LS eSS enar
eum

DlSCllSS the importance of public finance in
modern era.

Or
Qumgy BlFufler @uidLgeT wirg)?
Examine the features of public finance.
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17.

18.

19.

20.

(S)

(=)

(=)

(=)

Qurgsd Ceweler LkiGmeTIamL elleums).

Discuss the role of public expenditure.
Or

Qurgs Qeaveiler elldasamer allerd@s.

Discuss the canons of public expenditure.

Qurgl eummLTaTSMS g6 2 L 196y s @nL 6
&(H&S allens@s.

Explain briefly the main sources of public
revenue.

Or
orfle  opfler  Cumg  eumeuruller @ uiedy]
wHmid Curs@ ubdl efleu.
What are the trends in revenue of state
government?

cuflufler @uicbgener 6fleTs@Hs.

What are the characteristics of tax?
Or

aumledglider Crréssmsamer aleurd.

Discuss the objectives of taxation.

QurgissLer Cpréssms ellarsE.
State the objectives of public debt.
Or

QUGS MET cumSLILI(HSSIS.

Describe the classification of public debt.
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(8 Pages) Reg. No. :

Code No. :12449 B Sub. Code : SMEC 52

B.A. (CBCS) DEGREE EXAMINATION, APRIL 2021.
Fifth Semester
Economics — Main
PUBLIC FINANCE — I
(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.
Choose the correct answer :
1. Qurg Bl epdler Hldsbubsiiul L em dFwdum
GTET FoMlweuT
(=) weudlCreu (<) LmedL @
(@) Qruwer (FF) el

Who said public finance is the financial aspects of
the business of government?

(a) Musgrave (b) Dalton
(¢) Taylor (d) Smith



aumwrard Cswelarseamns Bliramuilsdng oL 6
QaTLiryenLwig

(<) wrheBd (<) saflur g

(@) Qumrg S () QeuafliBm (k) Bl
The income determines the expenditure belongs to
(a) State finance (b) Private finance

(¢) Public finance (d) Foreign finance

Qurgieuns Qurgs Oswey b CQUTEH FHODES

o flueufserméd Qewtiu@eug
(=) wrhle (<) wHHu
(@) o drermi&l (FF)  @eneu SemansgiLhd

Public expenditure generally refers to the
expenses of public authorities of

(a) State (b) Central

(¢) Local (d) All the above
@ndwurefer urgisTiy  Oeoelard o @TerL_sdlw
WIGE kLo

(2f) aure| samss, (<)) CLPOSET SHemTd &

(@) (=) wHmID (<) (FF) 2 pusdls samss,
Defence expenditure in India belongs

(a) Revenue Alc (b) Capital Alc

(¢) Both (a) and (b) (d) Production A/c

Page2 Code No.:12449 B



aufleupeumy  wrmeugHE ol Qurgs  Cgway
sMQFLIWLEFIG W FD6T 2 eTeTeng eTeleUmn HenLPLILIT

(<) <g@ind i () sssdern oflg)
@) Sssar aud () Qpdlpss &h5

The expenditure must be capable of adjustment
according to the changes in the tax income is
called as

(a) Cannon of sanction
(b) Cannon of productivity
(c) Cannon of economy

(d) Cannon of elasticity

aurfl elllilenr Crrsasd eremLg)

(<) Quretsmy ukEUOSEs®
(<)) ellened @GenmLiLy

@) msTey sy

(FF) 2 pusdl Gampay

The objectives of taxes is

(a) Regulation of economy

(b)  Price reduction

(¢) Increase in consumption

(d) Decrease in production

Page3 Code No.:12449 B



@eumdled ergl eumuflen @emTmdlFuib ?
() SLLmwld

(=) wryumQ

(@) eufl sL_(Hueu(HEE HeTeanLd

(/) Coflud

In the following which is the characteristics of a
tax?

(a) Compulsory

(b) Optional

(¢) Benefit to tax pays
(d) Nationality

2786 BETL ST SLGIT HEMLD GTeTLIg)

(@) Hspsre samaupenn

(<)) eflenFeurar $emeLpen

(@) QUBBSTL) SEMELPED

(FF)  @eubmled ergia b @eane

The burden of long-term public debt is on
(a) Present generation

(b) Past generation

(¢) Future generation

(d) None of these

Page4 Code No.:12449 B
[P.T.O]



10.

Curisres Cwae] ererLg)

(=) eier Qeway

(=) WsaS6
(@) sLimu Qeoey

(FF)  @aeupdled ergia|dlerenaw

War expenditure is a

(a) Waste of money

(b) Investment

(¢) Forced expenditure

(d) None of these

gl Lrs BHuder wpsdlw Crrésid

(<) wrhlegerernm &

(<) wraflugdler o g6l (Barblasmant)

(@) =ds eumeuml
(FF)  ergle|dlebenad

Major aim of federal finance is
(a) State autonomy (b) Grant-in-aid

(c) More revenue (d) None

Page5 Code No.:12449 B



11.

12.

13.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(1)

Qurg Hllufer LipLibener allersd@s.
Define public finance its scope.
Or

Qurgflfs@n, saflurt  HHs@en o emer
Caumuir(h wirg) ?

Distinguish between public private finance.

Qurg HlFuller wasdwsgieusams alerss,.
Explain the importance of public finance.

Or
eueTibgl eumElerm BT lghH@ Cumg BHlHuden

LImki@ wmgl?

What are the role of public finance in an
under developed countries?

Qurgls Oewe] AFsflliugharear sryearThigeT
wng) ?

What are the causes of increase in public
expenditure?

Or
Qurgs Qgeeiler (W& Hwsgieud wng)?

State the significance of public expenditure.
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14.

15.

16.

(=)

(S)

Qurgls Gsweyss@b, selumm  CFweys@bd
2 arem Gaumur® wmg) ?

What are the difference between public and
private expenditure?

Or

Qurgs Qgeeiler euansILT L 6ll6TsEHs.
Explain the classification of public
expenditure.

Qurgleumeuruiler (P&HEW HSTIERISET WTgl ?

What are the main sources of public
revenue?

Or

Qurg Gu(meumudler uCGaum
cuasLiLI(hSgIsosmer afleur.

Explain the different classifications of public
revenue.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

(1)

(<)

Qurg g%]uﬁ]@rr peiar &me (WPEE LS eSS enar
eum

DlSCllSS the importance of public finance in
modern era.

Or
Qumgy BlFufler @uidLgeT wirg)?
Examine the features of public finance.

Page 7 Code No.:12449 B



17.

18.

19.

20.

(S)

(=)

(=)

(=)

Qurgsd Ceweler LkiGmeTIamL elleums).

Discuss the role of public expenditure.
Or

Qurgs Qeaveiler elldasamer allerd@s.

Discuss the canons of public expenditure.

Qurgl eummLTaTSMS g6 2 L 196y s @nL 6
&(H&S allens@s.

Explain briefly the main sources of public
revenue.

Or
orfle  opfler  Cumg  eumeuruller @ uiedy]
wHmid Curs@ ubdl efleu.
What are the trends in revenue of state
government?

cuflufler @uicbgener 6fleTs@Hs.

What are the characteristics of tax?
Or

aumledglider Crréssmsamer aleurd.

Discuss the objectives of taxation.

QurgissLer Cpréssms ellarsE.
State the objectives of public debt.
Or

QUGS MET cumSLILI(HSSIS.

Describe the classification of public debt.
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B.A. (CBCS) DEGREE EXAMINATION, APRIL 2021.
Fifth Semester
Economics — Main

MONEY AND BANKING —1

(For those who joined in July 2017 onwards)

Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL questions.
Choose the correct answer :

1. uenrd ereng  ervemd CFuSnCasr =igGeu  LiawTDd
ereiTml & Mdluieur?

(=) SQrersi (S))  JIUrCFesm
(@) oundsi (FF)  LImed @)eorélr
“Money is what money does” who said it?
(a) Crowther (b) Robertson
(c) Walker (d) Paul Einzing



LemTld 6Tl @uicbLime Benl udled

(1) &rélsl uenrbd

(<) TS LeaTd (10) eaeuli] HS

(@) &rélsl uaTd (1b) Dardg eumnidl aneuliL
() Aemarsg B QFTss sEs@pb

Money in the normal sense, means

(a) Currency

(b) Currency and demand deposite

(¢) Currency and all bank deposite

(d) All liquid assets

cleney CUMBETTESTISSIS LD Wsa D WPEHWLTS

QummGererdler o arerg). ellened @uibdlr
SlgliuemLuled LamsSlen allenereuTerg.

(@) sorailggien QummerTsrysdcd

(<) FpsTw QUTHETTSTTSSE D

(@) S L Qummermsrysdled

(FF)  seliy Qurmermgryssle

Money as a basis of price mechanism in money in
(a) Capitalist economy

(b)  Socialist economy

(c) Planned economy

(d) Mixed economy

Page2 Code No.:12450 B



@m o Ceomswean  eaUuQUTWE B (pEnML
uhSslLlLg)

(2) 1873 (2}) 1803

(@) 1900 (FF) 1930
Bimetallism existed upto

(a) 1873 (b) 1803

(c) 1900 (d) 1930
QureTdlLLib QEweuL @amel (Pp&&lwnade
(<) Hlevoowrer wrHmeisbd

(<) Blevwmer 2 6T (O aflene

(@) seLullder eurenflbd

()  Caeameu Qpslpss)

Working of gold standard does not essentially
require

(a) Stability of exchange rates
(b) Stability of internal prices
(¢) Free trade

(d) Elastic demand
Page3 Code No.:12450 B



Qurg efepe WL LD wHMD vewsSler I
@apdpdlenCui 2 ¢ter 2 ey (wpevm

(=1) Cprg
() LODAPS
(@) @)

() pObleowrs (aldsrssmripeann)

The relationship between value fo money and
general price level is

(a) Direct (b) Indirect
(¢) Inverse (d) Proportional

elluey  euamarGar@ ersCearm(® CsrLryamLweans
sT_(HE g ?

(1) uewreissd wHmb CeuemeeumiiiL
(<) Fmdalldlgd whmib Ceuameauderento
(@) eufleldlsd wHmib euflemeum

(FF)  Qurgleumwrerd wHmib CFwe]
Phillips curve shows relationship between
(a) Inflation and employment

(b) Rate of wage and unemployment

(¢) Rate of tax and tax revenue

(d) Public revenue and expenditure
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uanreiss @enGeuafl eremm sHSMSSHSET
(=) M&0ad (<) Sereiv

(@) érer GAcQwer () A.W. Gedlien
The concept of inflationary gap was given by
(a) Wicksell (b) Keynes

(¢) Milton Friedman (d) A.W. Philips

LIeTeUmL_L LD WIM(h& & HEiTen LD

(=) 2 HusHwuneriéE

(<) oumanflait

(@) HleneWTeT GU(BLDTET [bLITE @&
(FF)  SLITETIT&@Eh&S,

Deflation is beneficial to

(a) Producers

(b) Traders

(¢) Fixed income groups

(d) Debtors

Page5 Code No.:12450 B



10.

11.

@aipdler g amailug CForeuen sU(HLULTL
(PEmmUIEHEL

(<) sl (h wpen

(<) SOLQeLLlILLL SaéE

(@) sms HLLibd (Qsrdrams)

(F)  UGHSSTUISOD

Which of the following is not a method of exchange

control?
(a) Intervention (b) Blocked account
(¢) Gold policy (d) Rationing

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(@) uansdler Sansamer aflourl.
Describe the demerits of money.
Or
(=)) UL rHn wWpenuller LETLSET Wrenel ?

What are the characteristics of barter
system?
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12.

13.

14.

()

(=)

()

()

Qprés @muy Cariumipener allarsE@s.

Enumerate the cash balance approach.
Or

QBB LETD GTeTmmed ETeme ?

What is near money?

BH Bl LIewTd GTETmTE 6Tebmen ?

What is mean by neutrality of money?
Or

SL6T 2 HLGS GTETDTE 6Tebren ?

What is credit creation?

LanTeiéE STTERTBIGET HMID ASET 69aneTeseT
umml eSleurl.

Describe the causes and effects of inflation.
Or
@BHw et s uier SMEET WTene. ?

Explain the demerits of Indian money

market.

Page 7 Code No.:12450 B



156. (@) uvemsCsmaransulienr Crrésmiser wramel ?

What are the objectives of monetary policy?

Or
(<) @wm; 2Cors prewrw  wpaDUlleT BHeTenLDSET

LHHID SBOSET WTEeL ?

What are the advantages and disadvantages

of monometalism?
PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 600 words.
16. (@) vemsdler LCoaum Lemtlsamer WG [HS.
Evaluation the various function of money.

Or
() W&  BravTw  (PpEDEIES DL BSSHSTET

STTETHRIGET WITEH6 ?

What are the reasons for the breakdown of

gold standard?
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17.

18.

19.

()

(1)

venr jere| Camlumiganer Spermiis.

Critically examine the quantity theory of
money.

Or

CabGflgdler Qrrés @@y Casmiuimiqener
aNeufés.

Describe the Cambridge version of cash
balance approach.

Qumrmermsmy  papulled LemTsSlen LikidlenarL
ubl elleurdlés.

Discuss the role of money in the economic
system.

Or
uent eisssder LOCoain cuamssmer 6leTéEs.

Explain the various types of inflation.

sl sL_(HUuT (Hpenpsemer LU allersEs.
Explain the methods of credit control.

Or
cuentls eumidlsar sLamear QLmESEGSD 2 Ter
BenL_(pann LDHMH &nmis.

State the credit creation process by
commercial bank.
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20.

(@) vemellwe Gsmaransuiler Crrésmsar LOHMID

Siger Gapurhsaers LbMl edlel.

Describe the various objectives and
limitations of monetary policy.

Or

(<) @bdlumellen LIGooT &S Qs merengu e

Qewdurpaamer Hoearmile| CFlis.

Critically examine the working of monetary
policy in India.
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INDIAN ECONOMY —1
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Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1.  @psuw QuTmeTTSMTLD —_— GTeaTm)
S PSSLILIHSDS).
() eueTr&EHlLuenL_bHS (<) euaTi&sl Gemhs
(@) euermEflwenLwim (FF)  erglajfldbena

Indian economy is
(a) Developed economy

(b) Underdeveloped economy
(¢) Undeveloped economy

(d) None of the above



@B ——— @Quicens Camar(heTerg).
(@) SHs soreils e

(<) s 2 daBre () 2 HusH

(@) Gonhs sOTelS 6uUHeTUI

(FF)  @ene Djanerdgih

Indian economy is characterized by

(a) High percapita income

(b) High domestic products

(¢) Low percapita income

(d) All the above

@it QurmerTaTrsSla (PSeTand Flenm

(<) eNeugmud (<) Qsmfldgienm

(@) Coemeuggienm (FF)  erglajldbena

The primary sector in Indian economy is

(a) Agriculture (b) Industry

(¢) Services (d) None of the above

@nbslw Geuerrmessr glanpuded el iU (HILD
Cauaneuflermants ————— G Lb.

(@) eflpriu Cauameaulenento

(<) el Ceuameudleranto

(@) wappHmEESLD

(FF)  ergle|dlebenad
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An existing unemployment in Indian agriculture
is

(a) Voluntary unemployment
(b) Structural unemployment
(¢) Distinguished unemployment

(d) None of the above
BPL eretiugy ereng sanrédlLLn Lweru(ié g 2

(=) Wwss6Er DgTans (<)) eumIenLD

(@) Geuameuldlesrento (FF)  ergieyLlebaned

BPL is used to measure the
(a) Population (b) Poverty
(¢) Unemployment (d) None of the above

yélw Qg med CsmeTens @ndwredle
SDWPSUILHSSILL L 2,60

(=) 1958 (<)) 1988
(@) 1991 (FF) 2002
In the year the new industrial

policy was introduced in India.
(a) 1958 (b) 1988
() 1991 (d) 2002
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S(HLULL LIGRTLD 6T6hTLIg)

() sasSled eUTTs LiewTid
(<) eufliiLienrid

(@) @emuibd

(FF)  ergla|lebena

Black money is

(a) Unaccounted money

(b) Tax income

(¢) Profit

(d) None of the above

P.C. wanGamderev erhg epsranr® L sCsmbH
QT jenLwieu

() oo ghgram® b

(<) BHsTDO b

(@) apreg SiLo

(FF)  ergla|lebena

P.C. Mahalobins was related to
(a) First Five Year Plan

(b) Fifth Five year Plan

(¢) Seventh Five Year Plan
(d) None of the above
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10.

@ndwureler Qwrssbd aTdsmer LbsTa@T(H S L Lb
BenL_(penl L(HSSLILL (H6Terg

(@) 12 (<) 13

@) 14 (FF) 15

five year plans were launched in

India.
(a) 12 ®b) 13
(o 14 (d 15

@pdwureiler Fi L &@&Hupeln@L uded o (heumdasiuL L
DL 6Tl ?

(<) GST (=) ffsew

@ 8 %Gurs (m) el Eifl®sss GW
Which was an institution replaced the planning
commission?

(a) GST

(b) Finance commission
(¢) NITI Aayog

(d) Tax reforms commission
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PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.
11. (@) @pduL QummeTTS TS S 6im PSS WL
r&Hepeargener gamis.
Narrate the problems of Indian economy.
Or
(<=1) CeumauilleTeLDEETaT STTEITRIGET W6l ?

What are the causes for unemployment?

12, (©) umIMESTET STTETBIGSET WMe 6TET prmils ?
Analyse the causes for poverty in India.

Or

(<) @pdumeiled  odrer uOCoum  cueswTET
Couamaullemenoenw gomis.

Point out the different types of
unemployment in India.

13. (@) @pdumeied w&ser Qgreans CUmESSI T
ghuL YrFsmeraseT wWramae ?

What are the problems of population growth
in India?

Or
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14.

15.

(=)

@pdwreiled waEseT @Lib QUWTSOT® eFHLIHILD

cllenereyEHeneT dnmis.

Narrate the impact of migration of people in
India.

@bdwureler Geuermeir 2 HUSH  (GdOeUTSH
@BUUSHETET STTETEISET LTEEU ?

What are reasons for the low production in

Indian agriculture?

Or
@pdwureiler  Quiflu  Gsmer  sTarasafler
W&IWSHISMS TS,
Analyse the importance of large scale
industry in India.
@i spsramh S Lmsaler @Gmpurbhaamer
eleurdlss.
Discuss the defects of Indian five year plans.
Or
BlE o Guirg updl GHILIL euamrs.

Write a note on “NITI Aayog”.
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PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (=)

(=)

17. (=)

(=)

@nBSlw QumrperTgTyD &l TRs mem(erpLd

“rssanargamer 6flers@Hs.

Explain the problems faced by Indian

economy.

Or
@nglwraie cUmIeNLD @muusHaTer

STrERTBISmET alleurd.

Discuss the causes for poverty in India.
@pdwureler w&ser Csmenst Grssamarenw
Eré@b Ufl(PEDSEMET Fonis.

Point out the remedial measures for
population problem in India.

Or

@idwut  Qurmernsmysdlad  Geuermerenioulle
UBISlars &(mHs.

Bring out the role of agriculture in Indian

economy.
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18.

19.

20.

ugewbl Lyl fuler ellenareajsamer allems@s.

Explain the impact of green revolution in
India.

Or

@b Gouerner  msTy TS TOETETERLD
rssenarsamer 6flers@s.

Explain the problems of agricultural market
in India.

@pdureiler Csmpe eueTTéslsE ATs: TOSS
BL_GUIq HEESET WITEHE ?

What are steps taken by the government to
promote the industrial growth in India?

Or
@pdwu Qsmpe QaETaTansHamar <, FTilis.
Critically review the industrial policies in
India.
@bHwuts QurpetTsTrsSedr HAmi wHmD GLmss
Qamflesefler (psflusgiousms llerss.

Explain the importance of small scale and
cottage industries in Indian economy.

Or
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(<) @Bbdwmesle &b et (h) S Lmigafler
Wgeygemer EHLLIH Cauwis.

Evaluate the consequences of Indian five
year plan.
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Reg. No.:

Code No.:12451 B Sub. Code : SMEC 54

B.A. (CBCS) DEGREE EXAMINATION, APRIL 2021.
Fifth Semester
Economics — Main
INDIAN ECONOMY —1
(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1.  @psuw QuTmeTTSMTLD —_— GTeaTm)
S PSSLILIHSDS).
() eueTr&EHlLuenL_bHS (<) euaTi&sl Gemhs
(@) euermEflwenLwim (FF)  erglajfldbena

Indian economy is
(a) Developed economy

(b) Underdeveloped economy
(¢) Undeveloped economy

(d) None of the above



@B ——— @Quicens Camar(heTerg).
(@) SHs soreils e

(<) s 2 daBre () 2 HusH

(@) Gonhs sOTelS 6uUHeTUI

(FF)  @ene Djanerdgih

Indian economy is characterized by

(a) High percapita income

(b) High domestic products

(¢) Low percapita income

(d) All the above

@it QurmerTaTrsSla (PSeTand Flenm

(<) eNeugmud (<) Qsmfldgienm

(@) Coemeuggienm (FF)  erglajldbena

The primary sector in Indian economy is

(a) Agriculture (b) Industry

(¢) Services (d) None of the above

@nbslw Geuerrmessr glanpuded el iU (HILD
Cauaneuflermants ————— G Lb.

(@) eflpriu Cauameaulenento

(<) el Ceuameudleranto

(@) wappHmEESLD

(FF)  ergle|dlebenad

Page2 Code No.:12451 B



An existing unemployment in Indian agriculture
is

(a) Voluntary unemployment
(b) Structural unemployment
(¢) Distinguished unemployment

(d) None of the above
BPL eretiugy ereng sanrédlLLn Lweru(ié g 2

(=) Wwss6Er DgTans (<)) eumIenLD

(@) Geuameuldlesrento (FF)  ergieyLlebaned

BPL is used to measure the
(a) Population (b) Poverty
(¢) Unemployment (d) None of the above

yélw Qg med CsmeTens @ndwredle
SDWPSUILHSSILL L 2,60

(=) 1958 (<)) 1988
(@) 1991 (FF) 2002
In the year the new industrial

policy was introduced in India.
(a) 1958 (b) 1988
() 1991 (d) 2002
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S(HLULL LIGRTLD 6T6hTLIg)

() sasSled eUTTs LiewTid
(<) eufliiLienrid

(@) @emuibd

(FF)  ergla|lebena

Black money is

(a) Unaccounted money

(b) Tax income

(¢) Profit

(d) None of the above

P.C. wanGamderev erhg epsranr® L sCsmbH
QT jenLwieu

() oo ghgram® b

(<) BHsTDO b

(@) apreg SiLo

(FF)  ergla|lebena

P.C. Mahalobins was related to
(a) First Five Year Plan

(b) Fifth Five year Plan

(¢) Seventh Five Year Plan
(d) None of the above
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10.

@ndwureler Qwrssbd aTdsmer LbsTa@T(H S L Lb
BenL_(penl L(HSSLILL (H6Terg

(@) 12 (<) 13

@) 14 (FF) 15

five year plans were launched in

India.
(a) 12 ®b) 13
(o 14 (d 15

@pdwureiler Fi L &@&Hupeln@L uded o (heumdasiuL L
DL 6Tl ?

(<) GST (=) ffsew

@ 8 %Gurs (m) el Eifl®sss GW
Which was an institution replaced the planning
commission?

(a) GST

(b) Finance commission
(¢) NITI Aayog

(d) Tax reforms commission
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PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.
11. (@) @pduL QummeTTS TS S 6im PSS WL
r&Hepeargener gamis.
Narrate the problems of Indian economy.
Or
(<=1) CeumauilleTeLDEETaT STTEITRIGET W6l ?

What are the causes for unemployment?

12, (©) umIMESTET STTETBIGSET WMe 6TET prmils ?
Analyse the causes for poverty in India.

Or

(<) @pdumeiled  odrer uOCoum  cueswTET
Couamaullemenoenw gomis.

Point out the different types of
unemployment in India.

13. (@) @pdumeied w&ser Qgreans CUmESSI T
ghuL YrFsmeraseT wWramae ?

What are the problems of population growth
in India?

Or
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14.

15.

(=)

@pdwreiled waEseT @Lib QUWTSOT® eFHLIHILD

cllenereyEHeneT dnmis.

Narrate the impact of migration of people in
India.

@bdwureler Geuermeir 2 HUSH  (GdOeUTSH
@BUUSHETET STTETEISET LTEEU ?

What are reasons for the low production in

Indian agriculture?

Or
@pdwureiler  Quiflu  Gsmer  sTarasafler
W&IWSHISMS TS,
Analyse the importance of large scale
industry in India.
@i spsramh S Lmsaler @Gmpurbhaamer
eleurdlss.
Discuss the defects of Indian five year plans.
Or
BlE o Guirg updl GHILIL euamrs.

Write a note on “NITI Aayog”.
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PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (=)

(=)

17. (=)

(=)

@nBSlw QumrperTgTyD &l TRs mem(erpLd

“rssanargamer 6flers@Hs.

Explain the problems faced by Indian

economy.

Or
@nglwraie cUmIeNLD @muusHaTer

STrERTBISmET alleurd.

Discuss the causes for poverty in India.
@pdwureler w&ser Csmenst Grssamarenw
Eré@b Ufl(PEDSEMET Fonis.

Point out the remedial measures for
population problem in India.

Or

@idwut  Qurmernsmysdlad  Geuermerenioulle
UBISlars &(mHs.

Bring out the role of agriculture in Indian

economy.
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18.

19.

20.

ugewbl Lyl fuler ellenareajsamer allems@s.

Explain the impact of green revolution in
India.

Or

@b Gouerner  msTy TS TOETETERLD
rssenarsamer 6flers@s.

Explain the problems of agricultural market
in India.

@pdureiler Csmpe eueTTéslsE ATs: TOSS
BL_GUIq HEESET WITEHE ?

What are steps taken by the government to
promote the industrial growth in India?

Or
@pdwu Qsmpe QaETaTansHamar <, FTilis.
Critically review the industrial policies in
India.
@bHwuts QurpetTsTrsSedr HAmi wHmD GLmss
Qamflesefler (psflusgiousms llerss.

Explain the importance of small scale and
cottage industries in Indian economy.

Or
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(<) @Bbdwmesle &b et (h) S Lmigafler
Wgeygemer EHLLIH Cauwis.

Evaluate the consequences of Indian five
year plan.
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Reg. No. :

Code No. : 12452 B Sub. Code : SMEC 62

B.A. (CBCS) DEGREE EXAMINATION, APRIL 2021.
Sixth Semester
Economics — Main
PUBLIC FINANCE —II
(For those who joined in July 2017 onwards)

Time : Three hours Maximum : 75 marks
PART A — (10 X 1 = 10 marks)
Answer ALL the questions.
Choose the correct answer.
1. Qurgll UETLRISET DTS
(=) pflarmed eupmIsLILI(HSlemmen

(<) Qenanthbgl BISTLILI(H S emmen
(@) swIjeraller fenLsdlemen

(FF)  @enel earsgih



Public goods are

(a) provided by Government

(b) jointly consumed

(¢) equally available

(d) all of these

SGIH  USTLBIGET ey  USSSlener
DB WPSILESSILL LS.

(=) wevdCrallermed

(<)) LmeLeflermed

@) e Gev Siryredlermed

(FF) <L ibd eviflsSHlemmed

R

The term merit goods was first introduced by

(a) Musgrave (b) Dalton

(¢) Findly shirrs (d) Adam Smith

Qeowe| eumaumenw ol dsfs@oramd, bs

curel-Oewes &L ib aure|-tswe|s
S b erar SenpssliLbhEng.

(=) o ufl (<)) UDDTEGH®D

(@) &w (FF)  <=Aya
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If expenditure exceeds revenue, then the budget is

called as budget.
(a) surplus (b) deficit
(¢) balanced (d) government

el SjgriueLularmed eure|-Gwe| S sdler

SHEnG 6Te am@é;a;uu@u@_lfr WwImr?

(=) Semeiv (<) Qe Ceo Arymeiv
(@) SLLiT eouant () Camwed

Who is called as the father of Zero Base Budget?
(a) Keynes (b) Findley Shirrs

(¢) Peter Pyhrr (d) Goel

cumeums wHmibd Cewelland GETLurer or&ler
QETETNS oTam SaP&EILHE DI
(S) vewrd Lamerend

(<) BHHs Aasmerens

(@) eupwrers Qsrerans

(FF)  gaeld QETeTens
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The policy of the Government with regard to it’s

revenue and expenditure is called
(a) monetary policy (b) fiscal policy

(c) income policy (d) wage policy

Gemeu@md  erhs  @earm  HHE  Qametenguden

S(mHedlwumELb ?

(<) eumdl aisbd (<) eullg &g

(@) auil eflgLY () epeogeand sy
Which of the following is an instrument of fiscal
policy?

(a) Bank rate (b) Interest rate

(¢) Taxation (d) Capital reserve
peryml_&l eeTHlwiId oemeled
Qar_msliLbh&ng.

(<) Csdlw (<) Symo

(@) wrelL (F)  eulLmy

Panchayat Union is established at

level.
(a) national (b) wvillage
(¢) district (d) block
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10.

o GaTTL & SELDLILGET Bg  eurfl
& @Lb.

(&) LTSS 6t (<)) eflbuenerudler

(@) Qenggssafer (FF) &L 160

Local bodies impose tax on

(a) 1ncome (b) sales

(¢) wealth (d) house

QiHu srflueaoprider ahbgs i Leumearuier S
BlEs G Hlirwranilssiinr L g ?

(3]) 9L L_euemenr 280 (=) S Leuement 260

(@) S Leuenent 270 (FF) U Leuenent 250

Under which Article of the Constitution of India,

the Finance Commaission was established?
(a) Article 280 (b) Article 260
(¢) Article 270 (d) Article 250

14-eugl H1H& @pellen sameaurm W ?
(=) Y.V.Qrig (<) ollepus Caevai

(@) umiseur (FF)  &hsmarid
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Who is the Chairman of 14t Finance Commission?
(a) Y.V.Reddy (b) Vijay Kelkar

(c) Bhargava (d) Santhanam
PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b) in

about 250 words.

11. (@) sadu LIGHTL_MaI S e e Lb, FepSLI

uearmisamerwd CoaimLibhissis.
Differentiate merit goods and social goods.
Or
(=) Qurgl uarLkigeaflen HpUGudLsmens gams.
State the features of public goods.
12. (@) eurey-Qowe] gL gdler Crréshismens gnmis.
Narrate the objectives of budget.

Or
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13.

14.

(<)

()

Uil SgliueLuleorar  eurey  Ggway
S LSSlem euanTLIHMEET WTenel ?

What are the limitations of Zero Based
Budget?

i3k Q& meangudler QUITIDL|&HENET
QeuefaGamenTis.

Bring out the limitations of fiscal policy.

Or
Qewdflerar FlEl — @ GHlvy awas.
Write a note on functional finance.
Symo  uEpETWSGSeNET QBT PO BIGEET
clleTé@s.

Explain the revenue sources of Village

Panchayats.

Or

@pHwu  odermidl  HlHuler GepuThEMmETs

ENER
State the defects of Indian Local Finance.
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15. (=) f8s @ — @@ Ghliy awgs.
Write a note on Finance Commission.
Or
(<) HlEs Gssd ger HluOEsILIH S eaTmer?
Why are Finance Commissions appointed?

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b) in

about 600 words.
16. () spewsl  Qummernsmysder  @GapUT(haamer
cMlemd 5.

Explain the short comings of market

economy.

Or

(<)) Curgit LIGHTL_ MBI &En 6T LD, STl

vaL_misamerd CoumubhSgis.
Differentiate public goods and private goods.
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17.

18.

19.

()

(=)

()

@nswraie are-OFwa] S LSl
QeruppriLihilenn perL(pennEeneT 6flerd@s.

Explain the budgetary procedure followed in
India.

Or

arel-tewe] SlLsdler (psflusgieusseanan
ROTRTAE:

Analyse the importance of budget.
Blg& Qameatenguien Crrssnisamaer 6dlemd@s.
Explain the objectives fiscal policy.
Or
HlE& Qametenguden smetlsamer <plis.
Examine the tools of fiscal policy.
o arerml S HlFsgn, CasHlu HllsEh o rer
Caupurhsaer allars@s.

Explain the differences between local finance
and national finance.

Or

o arerm_&l yemwliysaten Leantsamer alleurslss.

Discuss the main functions of local bodies.
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20.

()

BlE&@pellen idlsmyhisamer allouss.
Elaborate the powers of  Finance
Commission.

Or

136ug| B8 @ (p el (P& wiomer
uflbglienraamens Csarfleurs@s.

Elucidate the major recommendations of 13th

Finance Commission.
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Code No. : 12452 E Sub. Code : SMEC 62

B.A. (CBCS) DEGREE EXAMINATION, APRIL 2021.
Sixth Semester
Economics — Main
PUBLIC FINANCE —II
(For those who joined in July 2017 onwards)

Time : Three hours Maximum : 75 marks
PART A — (10 X 1 = 10 marks)
Answer ALL questions.
Choose the correct answer.
1. Public goods are
(a) provided by Government
(b) jointly consumed

(¢) equally available
(d) all of these



The term merit goods was first introduced by
(a) Musgrave (b) Dalton
(¢) Findly shirrs (d) Adam Smith

If expenditure exceeds revenue, then the budget is

called as budget.
(a) surplus (b) deficit
(¢) balanced (d) government

Who is called as the father of Zero Base Budget?
(a) Keynes (b) Findley Shirrs

(¢) Peter Pyhrr (d) Goel

The policy of the Government with regard to it’s
revenue and expenditure is called

(a) monetary policy (b) fiscal policy

(¢) 1income policy (d) wage policy

Which of the following is an instrument of fiscal

policy?
(a) Bank rate (b) Interest rate
(c) Taxation (d) Capital reserve
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10.

Panchayat Union is established at

level.
(a) national (b) wvillage
(¢) district (d) block

Local bodies impose tax on
(a) 1income (b) sales
(c) wealth (d) house

Under which Article of the Constitution of India,

the Finance Commission was established?

(a) Article 280 (b) Article 260

(¢) Article 270 (d) Article 250

Who is the Chairman of 14t Finance Commission?
(@) Y.V.Reddy (b) Vijay Kelkar

(¢) Bhargava (d) Santhanam
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11.

12.

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b) in

(a)

(b)
(a)

(b)

(a)

(b)
(a)

(b)

about 250 words.

Differentiate merit goods and social goods.

Or

State the features of public goods.

Narrate the objectives of budget.

Or

What are the limitations of Zero Based
Budget?

Bring out the limitations of fiscal policy.
Or

Write a note on functional finance.

Explain the revenue sources of Village

Panchayats.

Or

State the defects of Indian Local Finance.

Page4 Code No.:12452 E
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15. (a) Write a note on Finance Commission.

Or

(b) Why are Finance Commissions appointed?
PART C — (5 X 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b) in
about 600 words.

16. (a) Explain the short comings of market

economy.

Or

(b) Differentiate public goods and private goods.

17. (a) Explain the budgetary procedure followed in

India.

Or

(b) Analyse the importance of budget.

18. (a) Explain the objectives fiscal policy.
Or

(b) Examine the tools of fiscal policy.
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19.

20.

(a)

(b)

(a)

(b)

Explain the differences between local finance

and national finance.

Or

Discuss the main functions of local bodies.

Elaborate the powers of  Finance

Commission.

Or

Elucidate the major recommendations of 13th

Finance Commission.
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B.A. (CBCS) DEGREE EXAMINATION, APRIL 2021.
Sixth Semester
Economics — Main
MONEY AND BANKING — II
(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL questions.

Choose the correct answer.

1.  Gsméogemn eunidsar BTG LG ET
QsTODHEFTEMES@EHEE, CULPMIGE eTmeT.
() Godlw (<) Bar
(@) wsHw (FF)  Blass@ndu
Industrial banks provide loans to
industries.
(a) short term (b) long term

(¢) medium term (d) very short term



safl eumidlpenm Wsayd rLewmens.
(@) Cwhssmeiiad (<) @rdleonmbsle
@) @pHwumelled (/F)  Sermeled

Unit banking system 1is most popular in

(a) America (b) England
(c) India (d) China
MeULIL&E ULl iqaish @)erane.
(=) Gaulliy &/@ (=) BLUY &/
(@) Qsmifs/® () Hleveowrer

deposit has no rate of interest.

(a) Saving Alc (b) Current Alc
(¢) Recurring (d) Fixed
1969-@é TS S M ET cuantls CUEIE 6T

Caslwmpwiomssli’ L er?
(=) usgl (<) uglarmeE

@) <%m (/) et (b
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How many commercial banks were nationalised on
1969?

(a) Ten (b) Fourteen
() Six (d) Eight
uens Qamatengew eudl&@Gn ST
2 _aTerg|.

(=) euanfle curdlud b

(<)) eww auidudiib

(@) L (pe curudludbd

(FF)  pseSL(h eumdludL b

has the power to formulate monetary

policy.
(a) Commercial bank (b) Central bank

(¢c) Co-operative bank (d) Investment bank

@pdw MNerel eumdls s L ib LD 2,61
BleopGeupmriir L g)?

(1) 1934 (<) 1935

(@) 1955 (FF) 1969
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Reserve Bank of India Act was passed in the year

(a) 1934 (M) 1935

(© 1955 (d) 1969

vent ety Blfeudliyer Qg e wé Qamareans
(@) s Qarerens (<) eupTand: Qsmarans
(@) uews QamaTens (FF) eNevend QameTens

is associated with the management of

money supply.

(a) Fiscal Policy (b) Income Policy

(¢) Monetary Policy (d) Price Policy
Gemeu@md ey  erm  Uewd  GameTensufler
&(HeWIT@LD ?

(@) eauflelglsse

(<)) Qrrss @@Ly eldlgn

(@) Qurgé GtFway

(FF)  QuTgssLer
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Which one of the following is the instrument of

monetary policy?

(a) Taxation

(b) Cash reserve ratio
(¢) Public expenditure

(d) Public debt

EFT eramiiupoug

(<=1) Effective Funds Transfer
(<) Electronic Funds Transfer
(@) Electronic Finance Transfer
(rr)  Effective Funds Technology
EFT means

(a) Effective Funds Transfer
(b) Electronic Funds Transfer
(¢) Electronic Finance Transfer

(d) Effective Funds Technology
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WOerr eumidl aufleu@sEmgl

(@) gfs cundlugisE

(<)) @erusyore eukSussE

(@) srwrar eukSHugiss

() Cuopaadlu Sjameardgib

e-banking facilitates

(a) speed banking (b) profitable banking

(¢c) quality banking (d) all the above
PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b) in
about 250 words.

(@) eunidlsaier LGeun eumEEMaT 66TdHEs.
Explain the various types of banks.
Or
(<) saflwmer euiidl wpevpuler Smwsmend dnms.

State the disadvantages of Unit Banking
System.
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12.

13.

14.

(=)

(=)

cuanils cumIl GTeTLISEMET eUTWMNISS 646TEEE.

Define and explain about Commercial

Banking.

Or
LG 2 (HeUMEESS 6T U TWEDSEET 6l6TdE)s.
Explain the limitations of Credit Creation.
aww euidluler Camhpsdlaner searLHluie .
Trace the origin of central banking.

Or
sLen sL_(hHuuriger Crrésmsamer allers@s.
Explain the objectives of credit control.
uens Casmearansuilen cuaEHMeT 65l6TsEs.
Explain the types of monetary policy.

Or
uenrs Gamerensuler LivGeun sHellsamen gnmis.

Narrate the various instruments of monetary

policy.
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15. (@) wWer eurdlullen Hascaamen allarsEs.
Explain the problems of e-banking.
Or
() sL6T AL®L — @6 GOHIUY eT()gI5.
Write a note on credit card.
PART C — (5 X 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b) in
about 600 words.

16. (@) sefl curdl wevpullen Berenosamer 6llaTsE@Hs.

Explain the advantages of unit banking
system.

Or

(<) Slewer eumdl epuler Sewsemear GCeuels
Q& menTia.

Bring out the demerits of branch banking
system.

17. (@) eerfls emdlseaflar  Grgrert  ueflsamer
cllaTsGs.

Explain the main functions of commercial
banks.

Or
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18.

19.

(=)

(=)

@  eerbd  Qurmertsmrsded  euanfls

curadlaaflen Liridlener <uis.

Analyse the role of commercial banks in a

developing economy.

aww curduler Lailamer < rmiis.
Examine the function of central bank.

Or
@bdw evwow eumSlulen Lenflsamer L OILAHS.

Evaluate the functions of RBI.

uenrs Gamearensuller (paHlwiwmear CrmésniEamar

cleurdlss.

Discuss the main objectives of monetary

policy.

Or

(I GUET(THLD QummeTTsTrSScd LewTs

QamaTensuflen LIBIFEET <, Fmiis.

Analyse the role of monetary policy in a

developing economy.
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20. (o e euradlufer Lwesamer 6llaTsEs.
Explain the benefits of e-banking.
Or
(<) RTGS-e ungismiy Splidudysener clleumd).

Discuss the security features of RTGS.
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(6 pages) Reg. No. :

Code No. : 12453 E Sub. Code : SMEC 63

B.A. (CBCS) DEGREE EXAMINATION, APRIL 2021.
Sixth Semester
Economics — Main
MONEY AND BANKING — II
(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL questions.

Choose the correct answer.

1. Industrial banks provide loans to
industries.
(a) short term (b) long term
(¢) medium term (d) very short term

2. Unit banking system 1is most popular in
(a) America (b) England

(¢) India (d) China



deposit has no rate of interest.
(a) Saving Alc (b) Current Alc
(¢) Recurring (d) Fixed
How many commercial banks were nationalised on
1969?
(a) Ten (b) Fourteen
(c) Six (d) Eight
has the power to formulate monetary
policy.
(a) Commercial bank
(b) Central bank
(¢) Co-operative bank

(d) Investment bank

Reserve Bank of India Act was passed in the year

(a) 1934 () 1935

() 1955 d) 1969
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10.

is associated with the management of

money supply.

(a) Fiscal Policy (b) Income Policy

(¢) Monetary Policy (d) Price Policy

Which one of the following is the instrument of
monetary policy?

(a) Taxation

(b) Cash reserve ratio

(¢) Public expenditure

(d) Public debt

EFT means
(a) Effective Funds Transfer
(b) Electronic Funds Transfer

(¢) Electronic Finance Transfer

(d) Effective Funds Technology

e-banking facilitates
(a) speed banking (b) profitable banking

(¢) quality banking (d) all the above
Page3 Code No.:12453 E



11.

12.

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b) in

(a)

(b)

(a)

(b)
(a)

(b)
(a)

(b)

about 250 words.

Explain the various types of banks.

Or

State the disadvantages of Unit Banking
System.

Define and explain about Commercial
Banking.

Or
Explain the limitations of Credit Creation.
Trace the origin of central banking.

Or
Explain the objectives of credit control.
Explain the types of monetary policy.

Or
Narrate the various instruments of monetary

policy.

Page4 Code No.:12453 E
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15. (a) Explain the problems of e-banking.

Or

(b) Write a note on credit card.
PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b) in
about 600 words.

16. (a) Explain the advantages of unit banking
system.

Or

(b) Bring out the demerits of branch banking
system.

17. (a) Explain the main functions of commercial
banks.

Or

(b) Analyse the role of commercial banks in a
developing economy.

18. (a) Examine the function of central bank.

Or

(b) Evaluate the functions of RBI.
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19.

20.

(a)

(b)

()

(b)

Discuss the main objectives of monetary

policy.

Or

Analyse the role of monetary policy in a

developing economy.

Explain the benefits of e-banking.

Or

Discuss the security features of RTGS.
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Reg. No.:

Code No. :12454 B Sub. Code : SMEC 64

B.A. (CBCS) DEGREE EXAMINATION, APRIL 2021.
Sixth Semester
Economics — Main
INDIAN ECONOMY — II
(For those who joined in July 2017 onwards)

Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL questions.

Choose the correct answer.
L waflgeuer gpagars Srél eemn s
LSPUESEILC L.
(=) Curm. agméLl allermd
(<) adlsallermed
(@) wavdGrafenrmed

(FF) LTV GTmed



The concept of human capital formation was

popularised by

(a) Prof. Schultz (b) Hicks

(c) Musgrave (d) Dalton

wafgeuer eposars Sl é Brhsarfe

g oHawrs @wHsSng.
(S31)  eueT(HLDd () euaihg
(@) euarisd Gamhs (FF)  euemidFflwmm

Human Capital Formation is very high in

countries.
(a) developing (b) developed

(¢) less developed (d) undeveloped

epagans Sy dl emipd g

(=) Gefluy () »saSH

(@) euomed (FF)  Gevou emandgb
Capital formation depends on

(a) Savings (b) Investment

(¢) Income (d) All of these
Page2 Code No.:12454 B



epgers Syl Fude BleneseT 2 aTere.

(=) Qe (<) epa)

&) prene () bl

There are stages in capital formation.
(a) two (b) three

() four (d) five

gparmribBlened glewn eTaTiiLi(heug) 6Tg)?

(@) Ceuernamening gleom (<) Csmohgienm

(@) Ceemaeus glevm () swumfliys gievm

Which is called the tertiary sector?
(a) Agricultural sector

(b) Industrial sector

(¢) Services sector

(d) Manufacturing sector

2 MP&GD WEsaTd Sl LS L

Curir Ceaneug glewpulled FHILIL(HeTeTe.
(=4) 10 (=) 5

@) 27 (FF) 30
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Nearly percent of working population

1s engaged in the service sector.
(a) 10 (b) 5
() 27 (d) 30

eraLig 2 BTl (h GQumpeTTgTySslenen
2 &L CUMHETTSTISSIL 6T 6 (HbSlenemTLILIST@LD.
(S31)  SMYTETOWLDTEHSED (=) g,asﬂu_Jrrr'rLDu_lmrré;a;Gi)
(@) 2 OSLWILDTESHED (F) P3O (H& Gy

means integrating the domestic

economy with world economy.
(a) Liberalisation (b) Privatisation

(¢) Globalisation (d) Disinvestment

FDI — erartiu(®eug

(=) Foreign Direct Investment
(<) Foreign Domestic Investment
(@) Foreign Direct Institution

(rr)  Foreign Direct Investigation
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10.

FDI means

(a) Foreign Direct Investment

(b) Foreign Domestic Investment

(¢) Foreign Direct Institution

(d) Foreign Direct Investigation

sHCUTE @QbSHUL TFThRIGD @ BremTw
wduferenulienar iMlelsss.

(=) 2010 (<) 2015

(@) 2016 (FF) 2018

At present Government of India announced

demonetization on

(a) 2010 (b) 2015

() 2016 (d) 2018

sariped ererm Geméd 0 GomPludedmng
2 (HEUTESLILIL L g|.

(<) 19Qyese (<) Qadden

(@) Qgiroar () SCr&s
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The word corruption is derived from

language.
(a) French (b) Latin
(¢) German (d) Greek.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b) in
about 250 words.

11. (©) walgeuer cpagardder WsHusgieussamens
oM.
Narrate the importance of human capital.
Or

() ampsmss  srsfoa  CobuSssHSTE
uGeum eulpenmaaner cleTéEs.

Explain the different ways to improve

quality of life.
12. (@) pogar Sl aerp ussHear cflersEHs.
Explain the term capital formation.

Or
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13.

14.

15.

(=)

(=)

EPOSENS Sy Hudléd o ararm uGeum
HleneSEeTd &nmis.

Mention the various stages in capital
formation.

glaneanrs GCeaneus giapmEEaTL LiL g ued (hs.
List the Sub-Service Sectors.

Or

@ndwureler uOBTL(H euTssssdd Crameus
geopuliar L@ GHSE @ G eT(Hgs.

Draft a note on the contribution of service
sector in India’s foreign trade.

seripadlerr Sw cllenero|saner eleré@s.
Explain the evil effects of corruption.

Or
BrewTw S Gpiy — e GOILL er(pgis.
Write a note on demonetization.
2 OEWWILTESH® eTam Clameedlanar allerd@s.
Explain the term globalisation.

Or
Page 7 Code No.:12454 B



(<) Ceuermairento WS meu 2 QELOWILDTESE0 6T

SNEESH T Fomis.

State the impact of globalisation on
agriculture.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b) in
about 600 words.

16. (@) priger Qummernsmy Goburiigd wefllgeaier
EPOSETSSI 6T LITIEl aner <215,

Examine the role of human capital in
economic development of a country.

Or

(=) eueri&sl Geppbs Brhseaid weaflgeuer fpasears
S Hude 2 eter Hesrsmed 66T @Hs.

Explain the problems of human capital
formation in LDCs.

17. (@) posars Sy dluder W&HwsgleisSener
oMlaTsGs.

Explain the significance of capital formation.
Or
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18.

19.

(<)

(S)

(=)

@pdwureled epesars Hrlél eisd Gampeurs
GBHULSHSTET &TTETEISEET U8,

Analyse the reasons for low rate of capital
formation in India.

@nglwraie Ceanaus glepmulleor
wsIwusglausHenar 6flers@Hs.

Expound the importance of services sector in
India.

Or
Caemeus giammullen gwurhsamer WG [HS.

Evaluate the performance of service sector.

2 Q&LDUIDTSEI&HE Grﬁljrraﬂ QTS HBIG®ETS
Qzetle L ss)s.
Elucidate the arguments against
globalisation.

Or
Cavmeeurinder g 2 @swWbTESE 6

snsssHanar elleurs).

Discuss the impact of globalisation on
employment.
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20.

(1)

smILIL LianTd S en et sar(HUig iLgsHETeT

LOGeuml HL6UlgEMSHEMET Fomid.

Suggest various measures to unearth black

money.

Or
@pdws Qummerrgrrsdled UamTog b rier
sr&ssHenar LHLITH CFwis.
Evaluate the impact of demonetization on

Indian economy.
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(6 pages)
Reg. No. :

Code No. : 12454 E Sub. Code : SMEC 64

B.A. (CBCS) DEGREE EXAMINATION, APRIL 2021.
Sixth Semester
Economics — Main
INDIAN ECONOMY — II
(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks

PART A — (10 X 1 = 10 marks)
Answer ALL questions.

Choose the correct answer.

1. The concept of human capital formation was
popularised by
(a) Prof. Schultz (b) Hicks
(¢) Musgrave (d) Dalton
2. Human Capital Formation is very high in
countries.
(a) developing (b) developed

(¢) less developed (d) undeveloped



Capital formation depends on

(a) Savings (b) Investment

(¢) Income (d) All of these

There are stages in capital formation.
(a) two (b) three

(¢ four (d) five

Which is called the tertiary sector?
(a) Agricultural sector
(b) Industrial sector
(¢) Services sector
(d) Manufacturing sector
Nearly percent of working population
1s engaged in the service sector.
(@) 10 (b) 5
(c) 27 (d 30
means integrating the domestic
economy with world economy.
(a) Liberalisation (b) Privatisation

(¢) Globalisation (d) Disinvestment

Page2 Code No.:12454 E



8. FDI means
(a) Foreign Direct Investment
(b) Foreign Domestic Investment
(¢) Foreign Direct Institution
(d) Foreign Direct Investigation

9. At present Government of India announced
demonetization on

(a) 2010 () 2015
(0 2016 (d 2018

10. The word corruption is derived from

language.
(a) French (b) Latin
(¢) German (d) Greek.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b) in
about 250 words.

11. (a) Narrate the importance of human capital.

Or

(b) Explain the different ways to improve
quality of life.
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12.

13.

14.

15.

(a)

(b)

(a)

(b)

()

(b)

(@)

(b)

Explain the term capital formation.

Or

Mention the various stages in capital

formation.

List the Sub-Service Sectors.

Or

Draft a note on the contribution of service

sector in India’s foreign trade.

Explain the evil effects of corruption.

Or

Write a note on demonetization.

Explain the term globalisation.

Or

State the 1impact of globalisation on

agriculture.

Page4 Code No.:12454 E
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16.

17.

18.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b) in

(@)

(b)

(a)

(b)

(a)

(b)

about 600 words.

Examine the role of human capital in

economic development of a country.

Or

Explain the problems of human capital

formation in LDCs.

Explain the significance of capital formation.

Or

Analyse the reasons for low rate of capital

formation in India.

Expound the importance of services sector in

India.

Or
Evaluate the performance of service sector.
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19.

20.

(a)

(b)

(a)

(b)

Elucidate the arguments against

globalisation.

Or

Discuss the impact of globalisation on

employment.

Suggest various measures to unearth black

money.

Or

Evaluate the impact of demonetization on

Indian economy.
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Code No. : 12455 B Sub. Code : SEEC 5 A

B.A. (CBCS) DEGREE EXAMINATION, APRIL 2021.
Fifth Semester
Economics — Main
Major Elective — LABOUR ECONOMICS
(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1. WsGeuswrs Puyb 2 Huss sryent erg)?

(S1) el (<)) epeGerLd

(@) Hlew (F) @6y Semardgb
Which 1s the highly perishable factor of
production?

(a) Labour (b) Capital

(¢ Land (d) All the above



ahg  euas CgmPedler Csmpemert GrFsameanser
9SED 2 dTang)

(=1) 8m dgmfle (<) Glgmss Qsmfe
(@) Gurere| Qgmfled (FF)  erglajLbldbena

Labour problems arise largely in

industry.

(a) Small scale (b) Cottage

(¢) Large scale (d) None of the above

o aplifer @Lib Quuie ————— asrranilanw

FiTBgaTaTg).

() SHOE Gped (<) Gomd

(@) UWPsEs aP&SLD (FF)  @aneu Senangg)Lhd
factors determine the labour

mobility.

(a) Environment (b) Language

(¢) Custom (d) All the above

QsTOOTETTHET LenT&@ UITENDESTET  &ITIJ6wuTbSET

(SN) &Eeiend (<) Qzmhberene
Musg
(@) sww Nlprssar (FF)  @eneu SemansgLhd
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are the reasons for the

absenteeism.

(a) Sickness

(b) Industrial accidents

(¢) Religious festivals

(d) All the above

ThE <%l  @bSlw Qsmpems LI
2 (IHheUM&GSLILIL L &) ?

() 1921 (=) 1926

(@) 1936 (FF) 1948

Which year the Indian trade union Act was

passed?
(a) 1921 (b) 1926
(c) 1936 (d) 1948

Qamfléd sasymm FL1b Qubdlu yearh 6Tg ?
() 1926 (=},) 1876

(@) 1929 (FF) 1950
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When was the trade disputes Act passed?
(a) 1926 (b) 1876

() 1929 (d) 1950
@pdwureler g QgmlemerT jenLoLiL
ABLD.

(=) Bombay mill-hands association

(<) Indian trade union congress

(@) All India trade union congress

(FF)  ergla|lebena

The first labour union in Indian was

(a) Bombay mill-hands association

(b) Indian trade union congress

(¢) All India trade union congress

(d) None of the above

@pdwureled erbg <Ae@TlH GBS F 2adlul FLUL b
QarerHeurliLl L g ?

() 1947 (=) 1948

(@) 1950 (FF) 1958
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10.

When was the minimum wage Act passed in
India?

(a) 1947 (b) 1948
(¢ 1950 (d) 1958
F(P& LIMGISmUiL S Lib TS 6TGLEVITLD

2 GTerL&&lueTeng) ?
(@) @Uiey sarfluiid (<) WmsgIe 2 g6l
@) sl (FF)  @evel enardgibd

are included in the social security
schemes in India.

(a) Pension (b) Medical benefit

(¢) Insurance (d) All the above
uenerm_(h  Qamfleorert el 6ThS  <peT(H
o (FEUTESILL L g)

() 1885 (2}) 1920

(@) 1919 () erglayBlebaped

When was the international labour organisation
started?

(a) 1885 (b) 1920
(¢) 1919 (d) None of the above
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11.

12.

13.

PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 250 words.
(@) 2husHuller 2 epriber LBiSlamer 6r(ps)s.

Write the important role of labour in
production.

Or

(<) Qampereriser @L DELIWITE|SSETET STTERTHISEET
T

Narrate the causes of labourers migration.
(@) Gsmpemariser Lemils@ eurmod @ HULSDHETET
SMTEOTBISEN 6T <D, TTUIG%.
Examine the reasons for the absenteeism.
Or
(<) Qsmppsmsnisaiecr Crrasnismer oilersEs.
Explain the objectives of trade unions.
(@) Qsmped Be0leUan LGS M men & ITIT GOOT I & G 6T
o).
Point out the causes for industrial sickness.

Or
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14.

15.

(=)

gl (HL Cuysdlen ApLiLisemer H(Hs.

Bring out the importance of collective
bargaining.

Qzmed S&ITH THUOCUSDETET & ITIj6wTEISEm 6T
SIS,

Examine the reasons for industrial disputes.

Or
@ndwuraier Csmplemerrager soedl LHO @GDILIL

AUMTE.
Write a note on workers education in India.
uererm_ () Qgmeorert ewiiler Crréssams
T(PGIS.

Write the objectives of international labour
orgaisation.

Or
@ndwureler Qarlhsmsmsaier earTdslanw
leurdlss.
Discuss the growth of trade wunion

movements in India.
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16.

17.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

(S4)

(=)

(=)

@ndwu Csmflemerisetier Fmliy @uesemer
ollemd @ s.

Explain the special features of Indian
labourers.

Or
QsmPer srsmgeflar LOCum eumssMeT

GIMILIGES

Point out and explain the different types of
trade unions.

Qamfler smsmsefear UOCeumy  Uamilsamer
SLTMUIS.

Examine the various functions of trade

unions.

Or

@Qbdu  Czmféd smsmsdr edi  Qsrar@hD
T&FsamaTseT WTeel ? GTeTm <, Jmils.

What are the problems of Indian trade
unions? Critically analysis.
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18.

19.

(1)

Blreursssled @nbSw Qsmemerisafler

uniglener elerd@s.

Explain the role workers participation in

management in Indian industries.

Or

QamPer  sarmmismer  SidH@ED uCGeum
auflpenmaaer 6leurdlss.

Discuss the various methods for settlement

of industrial disputes.
@pdwu  Qarfeoreris@rsed et Qgmdemert
seell Caamou eraLiang alloulss.

Describe the need of workers education for

Indian workers.

Or

vererml () Gsmerert enwliber Lanflaamar

SIS,

Analyse the functions of international labour

orgaisation.
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20. (@) @nbHu Qzmhemert Bod CETETansSMm6T 2,16

QFs.

Critically review the labour welfare schemes
in India.

Or

(<) @bdumeile FPSLILITGISTIL S Lib
Qewdu@b weapulamear alarsEs.

Explain the working of social security
schemes in India.
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Code No. : 12460 B Sub. Code : SAEC 41

B.A. (CBCS) DEGREE EXAMINATION, APRIL 2021.
Fourth Semester
Economics — Allied
ENTREPRENEURIAL DEVELOPMENT — II
(For those who joined in July 2017 onwards)

Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL the questions.

Choose the correct answer.

1. &S L Mer FaphmILiLig, Qg,rr@ei) @mm@mnﬁ]eﬁr
Wp&Hw Liewtl
(S) @LiT-ghHoed
(=) Lsgmésbd
(@) HEswbHD ST STHIES56E0
(FF) SO e



According to Schumpeter the most important

function of entrepreneur is
(a) Risk-taking

(b) Innovation

(¢) Uncertainty bearing

(d) Planning

ager  Sjgliueiuie, Qzmhdsamer &m, BOHSST

wHnid Gurere] Qgmfled erar NssLILEE DS

(@) Qewwutiul L (pseSLig6r Sjeray
(<) Couenand @ SILISSUILIL L
craTenilEens

(@) =huss Qummetler S

(FF)  uerLgdlen ellaned

LT &6l 6br

The demarcating criteria to classify an industry as

small, medium or large scale

(a) The amount of capital invested
(b) The number of people employed
(¢) The value of turnover

(d) The price of the product
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.: 12460 B



Qamfled wenarCGeurier euflengui(hSgise

(@) Ussrss Qgme wpanearGeurt

(<) swWss AsmPer apenarCGourt

(@) GCerbCuml Asmple wpaverGoum

(FF)  Gpaadu Seperdgbd

Entrepreneurs are classified as

(a) Innovative entrepreneur

(b) Fabian entrepreneur

(¢) Drone entrepreneur

(d) All the above

Slws WHmID 5l 6o et L QzmeraGarm(p
QarifyepLw  @pgerenwwner @b euerr&s
pjeans

(=) IDBI (<) SIDBI

() NABARD ()  DIC

The apex financial institution connected for the

development of small and micro industries in

India is
(a) IDBI (b) SIDBI
(¢ NABARD (d) DIC

Page3 Code No.:12460 B



Qemeumd Fimeuarksailey erg miamenilar wHmID A
cuantl&TaEh&EE 2 g6l afls@h YHwu Hneuarnd erg)?

(<) SIDBI (<=,) MUDRA
(@) NABARD ()  KCC

Which of the following new agency provide finance

to micro and small business?

(a) SIDBI (b) MUDRA

(c0 NABARD (d KCC

wreul L. Gsmpéd ewwb NMLESIULLFHETEr
Qamflelwed Csmetens STomerid

(=) 1977 (<) 1948

(@) 1956 (FF) 1980

DIC was started on the Industrial Policy

Resolution of

(a) 1977 (b) 1948

(c) 1956 (d) 1980

Caélw lm Qzmfle sienm QsmrmsliLr L 6
(=) 1955 (<) 1956

(@) 1957 () 1958
Page4 Code No.:12460 B



The National Small Industries Corporation was
established in the year

(a) 1955 (b) 1956
() 1957 (d) 1958

wrell L Ggmhldaser ewwibd QT rmkisiuLl L <66
(=) 1978 (<) 1977
(@) 1980 (/) 1991

The District Industries Centres Programme was
started in the year

(a) 1978 M) 1977
(0 1980 (d) 1991

Sml Qg mdled peerGeum s e Csmetens
2 (HeUMGED, emBSleenriiL WLHMID  SersTemt L

(PS&HELD
(=) SIDO (<) NSIC
(@) SIDCO () STEP

A policy making, coordinating and monitoring
agency for the development of small scale
entrepreneur

(@) SIDO (b) NSIC
(c) SIDCO (d) STEP
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10.  GQeupdlar Qamfledr (penarGeumrfler LT
() @i eghueur
(<) Hpviurer Spgeerwimari
(@) sflwurer STorerd er(phLiLei
(m)  Cupamdlu Senargg
The quality of a successful entrepreneur is
(a) Risk bearer
(b) Creative Thinker
(¢) Prompt decision maker

(d) All the above
PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).

Answer should not exceed 250 words.

11. (=) Ay gleop Qzrfléed  weareder @uidLsamar

& (.
Specify the features of small scale
entrepreneurship.

Or
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12.

13.

(=)

(=)

uemerm(h  euewils  BHlmeuarhiger QT

panarGeurt eTemgem LikSlenar 6lle6rs@s.
Explain the role of MNCs as entrepreneur.
Qzsmer  earGeungreugnhE  grarH e
Qeugrss sryaflgamer efleufl.

Narrate the factors influencing motivation to

become entrepreneurs.
Or
SEOELD LiehTi N6 @)W |EeT Wrene ?

What are the features of Leadership?

Qzmler Hlmeiarbisaier cuamassamen 6laTsEs.
Explain the types of enterprises.

Or
@pdwureller Qeupdlay Casme penarCeurmt
POU@TL LD FHBIGS SHS.

Brief any one successful entrepreneur in

India.
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14.

15.

(1)

(=)

Al Qazmfle glenpaartie cueTTESl &

SIPBTLIged 2 6Ter Sl L_misamer 6llersE@s.

Explain the schemes available in Tamil nadu
for the development of Small Scale

industries.

Or

fmy AsmPed eueridsl spsd uHdl  GDIOLY
TSI

Write a note on Small Industry Development

Corporation.

wrell L Qgmdle epwwgdler Lianflsmers &(hs.

Specify the functions of District Industries

Centre.

Or

Qamfler euatTéEfle@ sLer jafllugld eueantls

cunidlsafler Lnkiens 6flers@s.

Explain the role of Commercial Banks in

providing credit for industrial development.
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16.

17.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

(1)

Qamfled (penarallen culgeUBIGE6T 66T @Hs.
Explain the forms of entrepreneurship.

Or

fmg gleop  Csrfléed  pevereilnE — ipHler
umkiglener S [H\E.

Assess the role of Government in the
development of Small Scale
entrepreneurship.

Qamfles  aerelpasrar Gumrg GCurs@samer

elaTsGs.
Explain  the general  attitudes  of
entrepreneurship.

Or

Qeummlay Qzmifle puoGaummssrer
Garrdlswnisamen edleuifl.

Narrate the characteristics of a successful
entrepreneur.
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18.

19.

(=)

21leugl mIOpTEThH QT sssHed  Qzmfd
pemarCaurt eUTULILIGENET F(hEIGS H(hHS.

Brief the entrepreneur opportunities in the

early 21st Century.

Or

Qzmfled  pevarey euerTESlenws  LTsSlemm
sryenilgener UL iqwed(hs.

List the factors that influence

entrepreneurship development.
sWOpBTIger Sn Qasmhd gem eueTisslssmer
FMSHEET N6 &5

Explain the concessions in Tamil nadu for

Small Scale Industries development.

Or

orfle  oerefeorer  BFHulwe  spshismer
clleurnd).

Discuss  the State  Level Financial

Corporation.
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20.

(1)

wrble oaps Csmpd aawuier Ukdamen

cllaTsGs.

Explain the functions of District Rural

Development Agency.

Or
Qzmfled  @pevarey — wparGathm  WPBDES
O\ [J&-GITIJIT Blludwied SO U geafler
WP&HUSFUSMS F(HBIGS F(HS.
Brief the importance of Non-governmental

Financial Companies in the entrepreneur

development growth process.
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Code No. : 12460 E Sub. Code : SAEC 41

B.A. (CBCS) DEGREE EXAMINATION, APRIL 2021.
Fourth Semester
Economics — Allied
ENTREPRENEURIAL DEVELOPMENT — II
(For those who joined in July 2017 onwards)

Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL the questions.

Choose the correct answer.
1.  According to Schumpeter the most important
function of entrepreneur is
(a) Risk-taking
(b) Innovation
(¢) Uncertainty bearing

(d) Planning



The demarcating criteria to classify an industry as
small, medium or large scale

(a) The amount of capital invested
(b) The number of people employed
(¢) The value of turnover

(d) The price of the product

Entrepreneurs are classified as
(a) Innovative entrepreneur
(b) Fabian entrepreneur

(¢) Drone entrepreneur

(d) All the above

The apex financial institution connected for the
development of small and micro industries in

India is
(a) IDBI (b) SIDBI
(¢ NABARD (d) DIC

Which of the following new agency provide finance
to micro and small business?

(a) SIDBI () MUDRA
(© NABARD d KCC
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10.

DIC was started on the Industrial Policy
Resolution of

(a) 1977 (b) 1948

(¢ 1956 (d) 1980

The National Small Industries Corporation was
established in the year

(a) 1955 () 1956

(¢) 1957 (d) 1958

The District Industries Centres Programme was
started in the year

(a) 1978 ®b) 1977

(¢) 1980 (d) 1991

A policy making, coordinating and monitoring

agency for the development of small scale
entrepreneur

(a) SIDO (b) NSIC
(¢ SIDCO (d) STEP

The quality of a successful entrepreneur is
(a) Risk bearer

(b) Creative Thinker

(¢) Prompt decision maker

(d) All the above
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PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).

Answer should not exceed 250 words.

11. (a) Specify the features of small scale

entrepreneurship.

Or

(b) Explain the role of MNCs as entrepreneur.

12. (a) Narrate the factors influencing motivation to

become entrepreneurs.

Or

(b) What are the features of Leadership?

13. (a) Explain the types of enterprises.

Or

(b) Brief any one successful entrepreneur in

India.

Page4 Code No.:12460 E
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14. (a)

(b)

15. (a)

(b)

Explain the schemes available in Tamil nadu
for the development of Small Scale
industries.

Or
Write a note on Small Industry Development

Corporation.

Specify the functions of District Industries
Centre.

Or

Explain the role of Commercial Banks in
providing credit for industrial development.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (a)
(b)
17. (a)

(b)

Explain the forms of entrepreneurship.

Or
Assess the role of Government in the
development of Small Scale
entrepreneurship.

Explain the general attitudes of
entrepreneurship.

Or

Narrate the characteristics of a successful
entrepreneur.
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18.

19.

20.

()

(b)

(a)

(b)

(a)

(b)

Brief the entrepreneur opportunities in the

early 21st Century.

Or
List the factors that influence

entrepreneurship development.

Explain the concessions in Tamil nadu for

Small Scale Industries development.

Or
Discuss the State  Level Financial

Corporation.

Explain the functions of District Rural

Development Agency.

Or

Brief the importance of Non-governmental
Financial Companies in the entrepreneur

development growth process.
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(8 pages) Reg. No. :

Code No. : 12462 B Sub. Code : SSEC 4 A

B.A. (CBCS) DEGREE EXAMINATION, APRIL 2021.
Fourth Semester
Economics — Main

Skill Based Subject — INTERNATIONAL
ECONOMICS —II

(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks

PART A — (10 X 1 = 10 marks)
Answer ALL questions.

Choose the correct answer.

1. eraLIgl 2 eTBI_(h Leasens Geuetpm (b
uesSH@ wrhHpriu@b eNdsmh <@ b.

(@) uflbrHp H&lgn (<)) uar aldlsbd

(@) oampri® ldsd ()  ergeyilebene



termed as the rate at which the local
currency 1s exchanged for foreign currency.

(a) Exchange rate (b) Currency rate

(¢) Local Currency (d) None

shs gréde, _ sws ghpod whmid
@n&s@ws yearafluder Bamibd.

(=) LIHH S50 (<) Sh& GigLd

(@) Qeudrafl aisLd (F)  UmBIEG shang GIsLD
Under the Gold Standard, move

between the gold export and import points.

(a) Exchange rate (b) Gold rate

(c) Silver rate (d) Share rate
UTGISTLIL| eTeiTLIg) Sjaulwions huug.
() UBIE (<) Sieneu

(@) ©Nuums (/F)  wreflwid

Protection is necessary to prevent

(a) Quota (b) Tariff

(¢) Dumping (d) Subsidies

eregl  Uererml () eumanfluSH s,
Quilu gepLwins Sanwdng.

(&) UG (<) Sireneu
(@) umrgsTiy (FF)  wreflwb
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acts as a major barrier to
International Trade.
(a) Quota (b) Tariff
(¢) Protection (d) Subsidies
‘shis srdlsd  ererugser LMIOLTHET
erarlILI(hiLb.
(=) SDR (<) RDS
(@) DRS ()  SRD
‘Paper Gold’ is otherwise knows as
(a) SDR () RDS
(c0 DRS (d SRD
2 & euEdl 25 FDU YLD T (h)
2 (HUM&GSLILIL L G).
(1) 1941 (<) 1942
(@) 1943 (FF) 1944

World Bank was established on December 25

(a) 1941 (b) 1942
(o 1943 (d) 1944
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eurenflud &mihg Moy Cersg o Menw
GTETMILD HMPSSLILHE DG

(<o) TRIMs (<y) TRIPs
@) GATT () WTO

Trade related aspects of intellectual property
rights otherwise known as

(a) TRIMs (b) TRIPs

(¢ GATT (d WTO

GATT ererugy ererm  LieweTTL(h)
SemLILTE Il

(=) IMF (<) SDR

@) WTO () TRIPs

GATT was converted into a International
Organisation called

(a IMF () SDR
(¢ WTO (d) TRIPs

OECD &flfleurssd sms

(@) Qummernsmy emBSmenTiiL) LOHHID eeTTES
S{ELOLIL

(<) eramCentl grhmingl pri\sefler euarissl

@) @ndwumeler uvererm(h wrHpeisn Cohuilg
Qar@ssiiu@eug

() Qummermsmy  Qar@Hlluy  oHMIL  eeTTES
S{ELOLIL

Page4 Code No.:12462 B
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10.

11.

Expand OECD

(a) Organisation for Economic Co-operation and
Development

(b) 01l Exporting Countries Development
(¢) Over the Counter Exchange of India

(d) Organisation for Economic Contribution and
Development

Qrurallambg  ghpLHurGSd  SigliueL
QumpeT gereny Caite) Gawis.

(S1) e bHmIb sl (<) 2 Cersbd

@) QucGrmeSlwid (FF) o JrhIGET

Choose any one of the principal commodity
exported from India

(a) Tea and Coffee (b) Metals
(¢) Petroleum (d) Fertilizers

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Answer should not exceed 250 words.

(=) QeuaflBm () Ceguss PaDSET Wreme ?

What are the methods of foreign payments?

Or
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12.

13.

14.

(1)

(=)

Qeuafipr(h wewromHOLd WHWD WLIHHEISHES 6T

QUIT(HET S(Hs.

State the meaning of foreign exchange and

exchange rate.

@ns@wd ukdler eumasamerts LHH FmiEGolLiLy

AUMTS.

Write a short note on types of Import Quotas.
Or

@adllder LOGCoun UMSSHET WTenew ?

What are the various kinds of dumping?

IMF-uw9er uenilaeT wreneu ?
What are the functions of IMF?

Or

2 @& eunidlufer ewlidanar allerd@s.

Explain the structure of World Bank.
WTO-eer uewilser wreneu ?
What are the functions of WTO?

Or
TRIMs upfl Smi@diy euenys.
Write a short summary of TRIMs.
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15.

16.

17.

(=)

Lieietm_(h cumemtlLIg Sl e SETENLOSEN 6T
F(HSHLTE 66TsHEHs.
Briefly explain the recent trends in India’s
Foreign Trade.

Or
uererml(®  eumewiiugHenr  jeTe]  WOHMID
asliur L O&meanris.

Bring out the volume and composition of
foreign trade.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).
Each Answer should not exceed 600 words.

(1)

(=)

QeuafiBm_ wrHnEeIsSDs BliramTudlé g o
srrentlaamer allend@s.

Discuss the determinants of foreign
exchange.

Or
Qoueflipr(h uwewromhoy eissdear  eumEsamer
oMlaTsGs.

Describe the types of foreign exchange.
@edlliLieang STILSHESTET (PEDEHENET
ollaTsGs.

Explain the various measures of anti-
dumping.
Or

Page 7 Code No.:12462 B



18.

19.

20.

(<)

(=)

Siremeuudenr LOCeun cuasH®ET HneUTiis.

Examine the different types of Tariffs.

Aouiy Uy o fewselear  LwWeTSeT
ollaTsGs.

Explain the uses of Special Drawing Rights.
Or

IMF-uwler Crrésnigsamer alleims).

Discuss the objectives of IMF.

WTO-6ller Crréamisamer allemd@s.

Describe the objectives of WTO.
Or

TRIPs-Wler Lemilser wreneu ?
What are the functions of TRIPs?

uererm_ () euranflusSlen semenngEemer 6lemd:@s.

Explain the features of foreign trade.

Or
@ndwraie uesretmL(H cumenflLig Sl e
aleTi&Slews Cubu@ss T(h &SI [HILD

BL_GUIg SNEHENET 6l6md:@s.

Discuss the measures to promote India’s
Foreign Trade.
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(6 pages) Reg. No. :

Code No. : 12462 E Sub. Code : SSEC 4 A

B.A. (CBCS) DEGREE EXAMINATION, APRIL 2021.
Fourth Semester
Economics — Main

Skill Based Subject — INTERNATIONAL
ECONOMICS —II

(For those who joined in July 2017 onwards)

Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL questions.

Choose the correct answer.
1. termed as the rate at which the local
currency is exchanged for foreign currency.
(a) Exchange rate (b) Currency rate

(¢) Local Currency (d) None



Under the Gold Standard, move

between the gold export and import points.
(a) Exchange rate (b) Gold rate

(¢) Silver rate (d) Share rate

Protection is necessary to prevent
(a) Quota (b) Tariff
(¢) Dumping (d) Subsidies

acts as a major barrier

International Trade.

(a) Quota (b) Tariff

(¢) Protection (d) Subsidies
‘Paper Gold’ is otherwise knows as

(a) SDR (b) RDS

(0 DRS (d SRD

to

World Bank was established on December 25

(a) 1941 (b) 1942

() 1943 (d) 1944
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10.

Trade related aspects of intellectual property

rights otherwise known as
(a) TRIMs (b) TRIPs
(¢ GATT (d WTO

GATT was converted into a International
Organisation called

(a) IMF (b) SDR
(c) WTO (d) TRIPs
Expand OECD

(a) Organisation for Economic Co-operation and

Development

(b) Oil Exporting Countries Development

(¢) Over the Counter Exchange of India

(d) Organisation for Economic Contribution and
Development

Choose any one of the principal commodity

exported from India

(a) Tea and Coffee (b) Metals

(¢) Petroleum (d) Fertilizers
Page3 Code No.:12462 E



11.

12.

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

(a)

(b)

(a)

(b)

()

(b)

(a)

(b)

Answer should not exceed 250 words.

What are the methods of foreign payments?

Or

State the meaning of foreign exchange and

exchange rate.

Write a short note on types of Import Quotas.
Or
What are the various kinds of dumping?
What are the functions of IMF?
Or
Explain the structure of World Bank.
What are the functions of WTO?

Or

Write a short summary of TRIMs.

Page4 Code No.:12462 E
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15. (a)

(b)

Briefly explain the recent trends in India’s

Foreign Trade.

Or

Bring out the volume and composition of

foreign trade.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each Answer should not exceed 600 words.

16. (a)

(b)

17. (a)

(b)

Discuss the determinants of foreign

exchange.

Or

Describe the types of foreign exchange.

Explain the various measures of anti-

dumping.

Or

Examine the different types of Tariffs.
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18.

19.

20.

(a)

(b)

()

(b)

(a)

(b)

Explain the uses of Special Drawing Rights.
Or

Discuss the objectives of IMF.

Describe the objectives of WTO.
Or

What are the functions of TRIPs?

Explain the features of foreign trade.

Or

Discuss the measures to promote India’s

Foreign Trade.
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Code No. : 12463 B Sub. Code : SNEC 4 A

U.G. (CBCS) DEGREE EXAMINATION, APRIL 2021.
Fourth Semester
Economics
Non-Major Elective

ECONOMICS FOR COMPETITIVE
EXAMINATIONS — II

(For those who joined in July 2017 onwards)

Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)
Answer ALL the questions.
Choose the correct answer.
1. ‘eamenn @@Ly eldeerey  eratn UG GCHTH
QT jenL_wieu
(S1) uUligerdlen (<)) @rrurl e

(@) <L ib vl (rr) Gs



The concept ‘Real balance effect’ is associated with
(a) Patinkin (b) Robertson

(¢) Adam Smith (d) Say

‘Celiller wprerum el ojefdgeurr

(SH)  LOmiTged (<)) Sebreiv

(@) M&ssmrGLmr (FF) LD eVl
‘Paradox of thrift’ is given by

(a) Marshall (b) Keynes

(¢) Ricardo (d) Adam Smith

@M Brlger GCummernsry eleTidflerw  emell(Hib

WSHW jaraney

(=) Guorgs Csélw 2 Husd
(<) oy e empriE e puss
@) Py Coélu 2 puss
(FF) 2. 6renld ST Gl(Helmul
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The most appropriate measure of a country’s

economic growth is its

(a) Gross domestic product

(b) Net domestic product

(¢) Net national product

(d) Per capita real income

weafls pocurpsms @dHluih (PQLI) eremm Ligsms
o (HeUTdEWweuim wm?

(=) wrflev 1. wrflev (<) LT GVfL 6

(@) waLL 2. and ()  P.T. umor

Who developed the concept of physical quality of
life index?

(a) Morris D Morris (b) Pal Strecten
(c0 Mahbub UlHaq (d) P.T.Bamer

Ul Ly eueridflenw SromefliiLig
(@) QumrmeTTsmy Smyewtser
(<) Sirflud srrewilsdr

(@) seps sryanflaer

() Chamdlu Siamearsgih
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Regional development is determined by
(a) Economic factors

(b)  Political factors

(¢) Social factors

(d) All the above

epener auml Hepwl gHLILIG)

(=) Epps sdefl (pop

(<) <dls CoumaeumiiliLiger

(@) s eumeumil euTILIL&ET

() Gupsmblu Simearsgid

Brain Drain can be checked through
(a) Better education system

(b) Higher employment opportunities

(¢) Higher income prospects

(d) All the above
Page 4 Code No.
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Weeupuameupmiet  erg  yetefl  eluy  Cewenss

[BL_GLI1g $EN S WLIEVEV ?

(2A) eTigliq (<) @BludLed

@) aflosupsgssd (7)) o) aigeld
Which is not a processing operation?

(a) Editing (b) Coding

(¢) Classification (d) Research design
Quirailwedler LLETLEGSUILED LeareNdue 2 &
(=) o Ler Ggmiy

(=) Qsmiy Curss,

(@) sre auflens

() Gupsmblu Simearsgid

The statistical technique useful in economics

(a) Correlation (b) Regression
(¢) Time series (d) All the above
AUl L ussms e[ g ?
2,5,9,19,37,?
(o) 73 (<) 75
@) 76 (rF) 78
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10.

11.

Find the missing term.

2,5,9,19,37,7

(@) 73 (b) 75
() 76 (d 78
If E=5, PEN = 35, eraflds PAGE =?
(1) 27 (<) 28
@) 29 () 36

If E =5, PEN = 35, then PAGE =?

(a) 27 (b) 28

(c 29 (d 36
PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Answer should not exceed 250 words.

(S))  micsTanflw Qumpeflweeu, Cufluwed
Qumrmetlweamewb CeuniLiHEs)s.

Distinguish between Micro and Macro

Economics.

Or
Page 6 Code No.:12463 B



12.

13.

(<)

(=)

&Sl L&aTed 2 Hugd amienu eflerd@:s.
Explain the Cobb-Douglas Production
Function.

@bdwureler  eumeuris  gHm  STpeihaTer
STTeTRISE6T adlauf.

Narrate the causes for income inequality in

India.
Or
PQLI — &flerd@s.

Explain Physical Quality of Life Index.
EPEET ML FESTET STTETBISEMETS &H(hHd.
Account the causes of Brian drain.

Or

QULLMY &b eueti&slssmar <Caonsameansamers
& (.

Suggest measures for Balanced Regional

Development.
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14.

15.

(1)

(=)

(=)

aarauCueayd @reaw® Letatlulwed o sHaamer
cllaTsGs.

Explain any two statistical techniques.

Or

Ljefmert] eHlupmhisemer clleré @ Eumpg

seuarsdle Camerer Goueiiqienael WTeel ?

What are the precautions to be made in

interpretation of data?

BEGK GTGTLIG) ADFJGunr()
Qi jenLwi6lgenf e PSVYCuwr(®
QarLiryenLwig)

(1 LOQT (i) ROUX

@11) OTUZ (iv) ORUX

BEGK is related to ADFJ in the same way as
PSVY is related to

(1 LOQT (i1 ROUX

@iii) OTUZ (iv) ORUX

Or
Page8 Code No.:12463 B



(=) 3:11:7:7?

@O 21 (i) 29
(i) 18 (v) 51
3:11:7:?

G 21 () 29
(i) 18 (v) 51

PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).
Answer should not exceed 600 words.

16. (=) 2@ @@Ly aleerency 66T Es.

Explain Real Balance Effect.

Or

(<)) Setrarslw Liererf udl eorifl bt QurperTgmy
@uédLsamer aileul.

Narrate the features of Keynesian School of
Thought.
Page9 Code No.:12463 B



17.

18.

(=)

(=)

(=)

QumpeTTS Iy wearGardnseans LImg& @1
srrentlaamer allend@s.

Explain the factors affecting economic

development.
Or
wafls cueridsl @Muihsmer QSTGSH SHs.

Summarize the Human Development

Indices.

QLLTT gONSSTDE|EGHSEHTET  SHITJEHThISM6TS
‘Q')(_I—D&S.
Account the reasons for Regional Disparities.

Or

QUL LTy FHOSSTDE|SHETTED ghupb

Kr&flemenadr wmanal ?

What are the problems of regional

disparities?
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19.

20.

(1)

ueCGoumy LérefleSleury Qewerss

BLGUIG SEHMET 6ll6Td&Hs.

Explain the various data processing

operations.

Or

Qumrmatlwadled L@Tertludlwied > gdlsarflem

LWETSeneT 6llaTs@s.

Explain the uses of statistical techniques in

economics.

QsTLiTLHy euTisamsmw saTH L.
i (1) Haf Q) edwrd
(B) smsn  (4)  ALEEE®
i @O Go (2) gY@
(3) wpsevl. (4) maubu
(i) (1) ommsmi@) Grren
(3) o (@)  smoamy
(V) (1) sroups2)  osubs b
(3) &fs0s(4) Gsev
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Choose the odd word.

@

(i1)

(iii)

(iv)

(<) (@)

(1)
3)
(1)
3)
(1)
3)
D
3)

Parrot (2)
Crow (4)
May  (2)
August (4)
Mango (2)
Lily 4)
Football (2)

Cricket (4)

Or

Bat
Sparrow
July
November
Rose
Lotus
Volleyball

Chess.

em Giludrr  @Hlch  CQumfdude,
LUTE MUTE

GTGOTLI GTGuT
erpsiuLmed, FATE ererug) GATE erem

erpalincLmed, BLUE eremug ereueumm)

er(PsLILI(hID ?
(1) CLUE (2) GLUE
(3) FLUE (4) SLUE

Page 12 Code No.:12463 B



(i)

(iii)

(iv)

@)

UL Comgew sar@H 19y

grigg : @erer : Goeng 2

(1) Quréers (2) Quwerrenouimen
(3)  @LLmer 4) Hw
QewglsseT : NFFSD : @ glewtl ?

(1) egwdstyi (2) gienf

(3) it (4) BHe

(PLD@LD © DSMTEIGIT © : Seuambgd : 2
(1) GsresssT (2 ©grs

3) CGayarrm (4) Hsdd

If in a certain code, LUTE is written as
MUTE and FATE is written as GATE,
then how will BLUE be written in that

code?
(1) CLUE (2) GLUE
(3) FLUE (4) SLUE
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Complete the analogous pair.
(11) Giant : Dwarf: Genius : ?
(1) Wicked (2) Gentle
(3) Idiot (4) Tiny
(i11) Newspaper : Press : : Cloth?
(1) Tailor (2) Textile
(3) Fibre (4 Mill
(iv) Mumbai : Maharastra : : Trivandrum :?
(1) Kolkata (2) Gujarat

(3) Kerala (4) Sikkim
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(8 pages) Reg. No. :

Code No. : 12463 E Sub. Code : SNEC 4 A

U.G. (CBCS) DEGREE EXAMINATION, APRIL 2021.
Fourth Semester
Economics
Non-Major Elective

ECONOMICS FOR COMPETITIVE
EXAMINATIONS — II

(For those who joined in July 2017 onwards)

Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL the questions.

Choose the correct answer.

1.  The concept ‘Real balance effect’ is associated with
(a) Patinkin (b) Robertson

(¢) Adam Smith (d) Say



‘Paradox of thrift’ is given by

(a) Marshall (b) Keynes

(¢) Ricardo (d) Adam Smith

The most appropriate measure of a country’s
economic growth is its

(a) Gross domestic product

(b) Net domestic product

(¢) Net national product

(d) Per capita real income

Who developed the concept of physical quality of
life index?

(@) Morris D Morris (b) Pal Strecten

(¢) Mahbub UlHaqg (d) P.T.Bamer

Regional development is determined by
(a) Economic factors

(b)  Political factors

(¢) Social factors

(d) All the above

Page2 Code No.:12463 E



6. Brain Drain can be checked through
(a) Better education system
(b) Higher employment opportunities
(¢) Higher income prospects

(d) All the above

7. Which is not a processing operation?
(a) Editing (b) Coding
(¢) Classification (d) Research design
8. The statistical technique useful in economics
(a) Correlation (b) Regression
(¢) Time series (d) All the above
9. Find the missing term.

2,5,9,19,37,?

(@ 73 (b) 75

(c 76 d 78
10. IfE=5, PEN = 35, then PAGE = ?

(@) 27 (b) 28

(© 29 d 36
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PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).

Answer should not exceed 250 words.

11. (a) Distinguish between Micro and Macro

Economics.

Or
(b) Explain the Cobb-Douglas Production

Function.

12. (a) Narrate the causes for income inequality in

India.

Or

(b) Explain physical quality of Life Index.

13. (a) Account the causes of Brian drain.

Or

(b) Suggest measures for Balanced Regional

Development.

Page4 Code No.:12463 E
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14. (a) Explain any two statistical techniques.

Or

(b) What are the precautions to be made in
interpretation of data?

15. (a) BEGK s related to ADFJ in the same way as

PSVY is related to
(1) LOQT @) ROUX
(11) OTUZ (iv) ORUX
Or
() 3:11:7:?
@ 21 (i) 29
(1) 18 @v) 51

PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).

Answer should not exceed 600 words.

16. (a) Explain Real Balance Effect.

Or

(b) Narrate the features of Keynesian School of
Thought.
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17.

18.

19.

20.

(a)

(b)

()

(b)

(a)

(b)

(a)

Explain the factors affecting economic

development.

Or

Summarize the Human Development

Indices.

Account the reasons for Regional Disparities.

Or
What are the problems of regional

disparities?

Explain the various data processing

operations.

Or

Explain the uses of statistical techniques in

economics.

Choose the odd word.
@1 (@1) Parrot (2) Bat

3) Crow (4) Sparrow
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(b)

(i1)

(iii)

(iv)

@

(i1)

(1) May 2) July

(3) August (4) November
(1) Mango (2) Rose

(3) Lily (4) Lotus

(1) Football(2) Volleyball

(3) Cricket (4) Chess.

Or

If in a certain code, LUTE is written as
MUTE and FATE is written as GATE,
then how will BLUE be written in that

code?

(1) CLUE (2) GLUE
(3) FLUE (4) SLUE
Complete the analogous pair.
Giant : Dwarf: Genius : ?

(1) Wicked (2) Gentle

(3) Idiot (4) Tiny
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(i11) Newspaper : Press : : Cloth?
(1) Tailor (2) Textile
(3) Fibre (4) Mill

(iv) Mumbai : Maharastra : : Trivandrum :?
(1) Kolkata (2) Gujarat

(3) Kerala (4) Sikkim
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Reg. No.:

Code No. : 12585 B Sub. Code : AMEC 12

B.A. (CBCS) DEGREE EXAMINATION, APRIL 2021.
First Semester
Economics — Main
STATISTICAL METHODS — 1
(For those who joined in July 2020 onwards)

Time : Three hours Maximum : 75 marks
PART A — (10 X 1 = 10 marks)
Answer ALL questions.
Choose the correct answer.

1. yereflulwe ereruigl e(m SINENS.

(<)  eTesoTS e 6T

(<) vekT

(@) eresT HMID LIGRHTLY

() Qdé ggib Gdae



Statistics are statements.
(a) numerical

(b) quality

(¢) numerical and quality

(d) none of these

s Hlevew efleurmiger GCasflE@En pavm

(=) Guiyg

(=) LODIPS B

(@) Cserellggmer

() CuCe sahlu enarsgibd

Method of collecting primary data

(a) Interview

(b) Indirect Investigation

(¢) Questionnaire

(d) All the above

Qurg  CpréE Sl Leuaenmenl

DL L_GUGHET GTEITMILD <HELNSSHITID.

(=) ereflenwwimest (<)) Hdsmer

@) Aoy Crrés, (F)  S&H6ID
Page2 Code No
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General Purpose Table 1s also called as
Table.

(a) Simple (b) Complex

(¢) Special Purpose (d) Informative

wglrenL GUENTLILLD EPROLDTE
oSG emib.
(=) agmal
(<) @erHlene
@) »s6
() GevLfleve HMID P&EH
The value of can be estimated
graphically.
(a) Mean (b) Median
(¢) Mode (d) Median and Mode

@rar®  (WpaOsdr  2der  Gsmifled  (psLigener
sasSl (heughamear @SSl yn

(@) 2 Qe flevew — 3 Fyma

(<) 3 @aflevew — 2 Fyrar

(@) @Qeflene — symal

(FF)  Fymem — @eanLbHlena
Page3 Code No.: 12585 B



In a bimodal series, the formula to calculate mode
is

(a) 2 Median — 3 Mean

(b) 3 Median — 2 Mean

(¢) Median — Mean

(d) Mean — Median

Wemeu(mid efleurmisaier syraf ereme ?

21, 30, 28, 40, 26, 34, 40, 9, 15, 57

(=) 40 (<)) 42.5

(@) 30 (FF) 30.25
What is the mean for the following data?
21, 30, 28, 40, 26, 34, 40, 9, 15, 57

(@) 40 (b) 425

(0 30 (d) 3025

ereu(pd eNeurhisEhs @, s samsd (Hs.

8,10, 5,9, 12, 11

Page4 Code No.: 12585 B



Estimate range for the following data :
8,10,5,9, 12,11

(a) 8 b)) 9

(¢ 10 d 7

orm Ndlss G =

o o
= —x100
(1) X (<=4) X
(@) X (FF) £x100
o o
Coefficient of variation =
o o
= b —x100
(a) X () X
© = @  Xx100
o o

Cemhod  updlu  premsrd oleds euidss grre

(@) sl Sareneuser (<) CamiL eTenel
(@) grrefl essid (FF)  &meomer edlevdaLb
Fourth Moment about the origin is

(a) Kurtosis (b) Skewness

(¢) Mean Deviation (d) Quartile Deviation
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10.

11.

@ FEFET Lreueded

(@) syrsf > Gl How

(<) armafl > wps@H

@) »s6 > Qoo

(FF)  sgmafl = @evLflene = (s
In a symmetrical distribution
(a) Mean > Median

(b) Mean > Mode

(c) Mode > Median

(d) Mean = Median = Mode
PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).
Answer should not exceed 250 words.

() @ yerrLmb Hlena L&rer aNeurmisefer
EPOBIZEET LiL 1q W6 (H&.
List the sources of secondary data.

Or
Page6 Code No.: 12585 B



12.

13.

(=)

(=)

@ poo Caeteilssraier Coamaeuser eremen ?

What are the requirements of a good
questionnaire?

@M 2L Laiamaruier u@dsmars @&OILILGLa|b.
Mention the parts of a table.

Or

derdsll  LULBSET  cuepeugbhaTar  ellglser

wimeneu ?

What are the rules for drawing a diagram?

@@ o srmafluller LTLSmeT Fnmis.

State the qualities of a good average.

Or

19 6breu (pLD Meurhs@ps@ @ blamanu
ST&HSE (h 5.

X 1000 1500 800 2000 2500 1800

f 24 26 16 20 6 30
Calculate the median for the following data.
X 1000 1500 800 2000 2500 1800

f 24 26 16 20 6 30

Page 7 Code No.: 12585 B



14.

15.

(=)

(=)

S esssdler Hlannsamerud @ennaseaerD
oMlaTsGs.

Explain the merits and demerits of standard
deviation.

Or

19 6reu (pLD ol GUITTBIS @H S STEOLDITET
dosssdamer sarsdl(hHs.

480, 650, 370, 600, 310, 240, 1200, 1600, 780,
570, 2100

Calculate the Quartile Deviation for the
following data.

480, 650, 370, 600, 310, 240, 1200, 1600, 780,
570, 2100

@@ ureueiienr Cam L jereaneuser epeid Briigser
orerenr Lyfbg Qsmerddiser ?

What do you understand by skewness of a
distribution?

Or

&Qé;a;rr@_n.b aﬁlmursja;@é;@ S SETEEUSET
SaTSHSE (h&.

2, 4,6, 8, 10.
Calculate Kurtosis for the following data :

2, 4, 6, 8, 10.
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PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).

Answer should not exceed 600 words.

16. (o yemaflulwedler LamLsamer clemd@s.

Explain the functions of Statistics.

Or
(<) fAn GOy cuenys :
1) wepws eumielf elFTrenem
(1) epge eul elerTssrer
(ii1) QgreveCuél eped ellamyeanem.
Write short notes on :
(1) Indirect and Investigation
(11)) Mailed Questionnaire
(i11) Telephone Enquiries.
17. (@) auesliubhssder cuamssamer 6llarsEs.
Explain the types of Classification.
Or
(<) euepuLgdler LCoaum cuamasamer allerd@s.

Explain the various types of Graphs.
Page9 Code No.: 12585 B



18.

19.

(1)

(=)

(=)

(PSLIg 6T BlepmEenaTu] b SDSEETLLD

clleurdlss.
Discuss the merits and demerits of mode.

Or

Gemeu@pld  elleurhisEns@  Fal (h&  srmaflepw

SATES (.
X 0-10 10-20 20-30 30-40 40-50
f 10 15 18 20 7

Calculate the arithmetic mean for the

following data :

X 0-10 10-20 20-30 30-40 40-50

f 10 15 18 20 7
Epsranibd eleurhsErs@ @ flaauied mhg
gyrefl lssd sasd(hs.

X 0-20 20-40 40-60 60-80 80-100

f 15 20 25 10 30

Page 10 Code No.: 12585 B



Calculate mean deviation from median for

the following data :
X 0-20 20-40 40-60 60-80 80-100

f 15 20 25 10 30

Or

(<) Wemeu@pd  eHeugris@Eps@ Hi  elossd

SATES (.

X 78-82 73-77 68-72 63-67 58-62
f 2 6 7 12 18
X b53-57 48-52 43-47 38-42 33-37
f 13 9 7 4 2

Estimate the standard deviation for the

following data :

X 78-82 73-77 68-72 63-67 58-62
f 2 6 7 12 18
X b53-57 48-52 43-47 38-42 33-37

f 13 9 7 4 2

Page 11 Code No.: 12585 B



20. (&) Wemeu@pbd UTUSGE sTiOAwTFalen Caml L&
Q& sTewTs.

X 100-110 110-120 120-130 130-140

f 4 16 36 52
X 140-150 150-160 160-170 170-180
f 64 40 32 11

Estimate the Karl Pearson’s Coefficient of
skewness for the following distribution.

X 100-110 110-120 120-130 130-140

f 4 16 36 52

X 140-150 150-160 160-170 170-180

f 64 40 32 11
Or

(<) Wemeu@pd eleurmhs@Ens@ Gueradlufer Cam
SjaTeneus &L HraTs.

X 0-20 20-40 40-60 60-80 80-100
f 4 18 20 6 2

Calculate Bowley’s Coefficient of Skewness
for the following data :

X 0-20 20-40 40-60 60-80 80-100
f 4 18 20 6 2
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(7 pages)
Reg. No.:

Code No. : 12585 E Sub. Code : AMEC 12

B.A. (CBCS) DEGREE EXAMINATION, APRIL 2021.
First Semester
Economics — Main
STATISTICAL METHODS — 1
(For those who joined in July 2020 onwards)

Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)
Answer ALL questions.

Choose the correct answer.

1. Statistics are statements.
(a) numerical
(b) quality
(¢) numerical and quality

(d) none of these



Method of collecting primary data

(a) Interview

(b) Indirect Investigation

(¢) Questionnaire

(d) All the above

General Purpose Table 1s also called as
Table.

(a) Simple (b) Complex

(¢) Special Purpose (d) Informative

The wvalue of can be estimated
graphically.

(a) Mean (b) Median

(¢) Mode (d) Median and Mode

In a bimodal series, the formula to calculate mode
is

(a) 2 Median — 3 Mean

(b) 3 Median — 2 Mean

(¢) Median — Mean

(d) Mean — Median

Page2 Code No.: 12585 E



What is the mean for the following data?

21, 30, 28, 40, 26, 34, 40, 9, 15, 57

(@) 40 (b) 425

(¢ 30 (d) 30.25
Estimate range for the following data :
8,10,5,9, 12,11

(@) 8 (b) 9

(¢ 10 @ 7

Coefficient of variation =

o o
(© X (d) leOO
o o

Fourth Moment about the origin is
(a) Kurtosis

(b) Skewness

(¢) Mean Deviation

(d) Quartile Deviation
Page3 Code No
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10. In a symmetrical distribution
(a) Mean > Median
(b) Mean > Mode
(¢) Mode > Median

(d) Mean = Median = Mode
PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).

Answer should not exceed 250 words.

11. (a) List the sources of secondary data.

Or

(b) What are the requirements of a good

questionnaire?

12. (a) Mention the parts of a table.

Or

(b) What are the rules for drawing a diagram?

Page4 Code No.: 12585 E
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13.

14.

15.

(@)

(b)

(a)

(b)

(a)

(b)

State the qualities of a good average.

Or
Calculate the median for the following data.
X 1000 1500 800 2000 2500 1800
f 24 26 16 20 6 30

Explain the merits and demerits of standard

deviation.

Or

Calculate the Quartile Deviation for the

following data.
480, 650, 370, 600, 310, 240, 1200, 1600, 780,
570, 2100

What do you understand by skewness of a

distribution?

Or
Calculate Kurtosis for the following data :

2,4, 6,8, 10.
Page5 Code No.: 12585 E



PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).

Answer should not exceed 600 words.

16. (a) Explain the functions of Statistics.

Or
(b) Write short notes on :
(1) Indirect and Investigation
(1) Mailed Questionnaire

(111) Telephone Enquiries.
17. (a) Explain the types of Classification.

Or

(b) Explain the various types of Graphs.

18. (a) Discuss the merits and demerits of mode.

Or

(b) Calculate the arithmetic mean for the
following data :

X 0-10 10-20 20-30 30-40 40-50

f 10 15 18 20 7
Page6 Code No.: 12585 E



19.

20.

(@)

(b)

()

(b)

Calculate mean deviation from median for
the following data :

X 0-20 20-40 40-60 60-80 80-100
f 15 20 25 10 30

Or

Estimate the standard deviation for the
following data :

X 78-82 73-77 68-72 63-67 b58-62

f o2 6 7 12 18
X 53-57 4852 43-47 38-42 33-37
f 13 9 7 4 2

Estimate the Karl Pearson’s Coefficient of
skewness for the following distribution.

X 100-110 110-120 120-130 130-140

f 4 16 36 52

X 140-150 150-160 160-170 170-180

f 64 40 32 11
Or

Calculate Bowley’s Coefficient of Skewness
for the following data :

X 0-20 20-40 40-60 60-80 80-100
f 4 18 20 6 2
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Code No. : 12586 B Sub. Code : AMEC 22

B.A. (CBCS) DEGREE EXAMINATION, APRIL 2021.
Second Semester
Economics — Main
STATISTICAL METHODS — II
(For those who joined in July 2020 onwards)

Time : Three hours Maximum : 75 marks
PART A — (10 X 1 = 10 marks)
Answer ALL questions.
Choose the correct answer.
1. o e Ggmmder wdlliLimerg,
(S) eTeemed @)evena
(=) 16& GdDUTE @) (HSSTD

(@) @aTné&E Cud @ mésrD
(FF)  +1 bHMID —1&5@ @er_Cuw wrmu@h



The correlation

(a) has no limit

(b) canbelessthan 1
(¢) can be more than 1

(d) varies between 1

@uemh Qariiy Oswssefler Qumssd symaf

GTGITLIG) 4G LD.
(=) gyma (<) Slgmed Djaraney
(@) wry s (FF) o Lem Qg

Geometric mean of two regression coefficients is

(a) Mean (b) Dispersion
(¢) Variation (d) Correlation
yeratl ellugmiser Coasfldsiiul (@, uoGeam Fosme

@ e Geuaflufled WY QeiwiucLmd g

eTaTLIL(hILb.
() GSOUELQLewrser
(@) srebart s euflans
(@) Qsmiy Gurée

(FF) o Ler Ggmiy
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Data which are collected, observed or recorded at

equal intervals of time is known as
(a) Index Numbers (b) Time Series

(¢) Regression (d) Correlation

L(BEUSTE DTMISESEHE, (PSSIIDTET STeanTd
(9)) WwsaET AgTans GLHSSLD

(<)) umeublena WHMID FePS LIPES GULPSSMBISET
(@) elwumrumy whsblene

() Gupsmblu Somearsgid

The most important factor causing seasonal

variations are

(a) Growth of population

(b) Weather and social customs
(¢) Depression in business

(d) All the above

@@ wrHdluded ghuBb WLIMSH DaTenel jeTedl

LwerU (hleuens erendlGmmibd.
() o Lem@gmiy (<)) Slamed jeTena
(@) sgnef () @SOS QL arsar
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Measures of change in the level of phenomenon is
called

(a) Correlation (b) Dispersion
(¢) Mean (d) Index Numbers
Epsaramuepdled erbg GO CQLaT Sred WwTHmS

GCsirey womid sryanfl wrHms Csrejsamer Hlamey
Qewidlmg) ?

(=) @emevGwim (<) Dagir
(@) wumevd (/F)  Quered

Which one of the following indices satisfies both

time reversal and factor reversal list?

(a) Laspeyres index number

(b) Fisher’s index number

(¢) Paasches index number

(d) Bowley’s index number

) SMw& sl enwl 2 (HL(HDCLT(S)
@i e e erar Gup Hlaspsse] eremer ?

(=) 1/3 (<) 1/2

(@) 1/6 (m) 1/8
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What is the probability of getting an even number
when a die is tossed?

(a) 1/3 (b) 1/2

(¢ 1/6 (d) 1/8

em GCorgamanie  HoLssuCund  marsg)
Bopsemgu (pgosEsd _ ereriu@o.
(=) pevwwrer Hlapsslser

() sallss flapsslse

(@) smiyerer Hlapsslaer

(FF)  eratlw Blapgélaer

The total number of possible outcomes of a
random experiment is called

(a) Exhaustive events (b) Independent events
(¢) Dependent events (d) Simple events
uaseflen  Carsens ergen  Csmiseamer il
2 56|8Dg) 2

(<)  LIeBTL|S6ET

(<)) SNemeilddnlq Wl STyestger

(@) wrdedlser

(FF)  eTeoT&6T
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10.

Measures of association in usually deal with

(a) Attributes

(b) Quantitative factors

(¢) Variable

(d) Numbers

yerefl  efllugmiseildd @@ uamyser e Gy
@mbsrGar, <jobog em GCsy @dorelLrGaor

Qe eremlu(pib.
(=) Coir 2 may 2 eL_ienel
(<)) erdif 2 ma| 2 L wienal
@) saflggemao

(FF)  ergle|dlebenad

When two attributes are present or absent

together in the data, it is called
(a) positive association

(b) negative association

(¢) 1independent association

(d) none
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11.

12.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(S)

o | an@grLmier LOCaum cUmSSET WTenal ?

What are the different types of correlation?

Or
o L an@grLmin@, Qar_imyCursdln@h
2 drer Coumur(Hs6T Wrene ?
What are the differences between

Correlation and Regression?

sreobsrt  Cgrr  euflepguller  LOCaum)
uGdsamen ollarsGs.

Explain the various components of time
series.

Or
ﬁi@izrrl_ srolICursdleear erellL  LweTU (LD
UL (penpuller BlepmaeT WHMID (GemIEET
WITeney ?

What are the merits and demerits of the
graphical method wused for determining
trend?
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13.

14.

(1)

@MU QLamsaflen LweTLTHSmer afleurd).

Discuss briefly the uses of index numbers.

Or

ST QL_arsaner Sjanliugled o @TeT
fssdsamnear elleufl.

Describe the problems involved in the
construction of the index numbers.

B6iT@ S@OEHILLL 52 S (HEET 2 6Tem &L lqed

Yobs @G 5.6 ads@d Cung

@)  grewfl  ELG  e@UugHsTar  HlEpsse]
GTGOTGUT ?

(i) SHewy 0O eaOuuspHaTar  HlEpsse]
GTGOTEHT ?

A card is drawn at random from a well
shuffled pack of 52 cards. What is the
probability that it is () a queen (i1) a red
card?

Or
@@ Culiguid 10 Heuliy wHmIb 4 GleueTaner
UbSISSET o dterar.  jeupdledl(mBE  eperm
LIb G| & & et m@é;@LbGur@ SRS uﬁ,@a;@m
Qeudtenerwing @ @GLLSDHSTET  euTiLiYener

SeT(H L1 .
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15.

An urn contains 10 red and 4 white balls.
Three balls are drawn at random. Obtain the

probability that all are white.

&G Qarh&sriur_ (Hérer Lerer
elluyraiseledl(mbgl A LHMILD Bss
@ae_Cuwrer Qar_imiemear serLm.

(1) N=200(A)=30(B)=100(AB)=15

(i) N =400 (A) =50 (B) =160 (AB) =20

From the following data, find out the types of

association between A and B.
i N=200(A)=30(B)=100(AB)=15

(i) N =400 (A) =50 (B) =160 (AB) =20

Or
N = 2500, (A) = 420, (AB) = 85 wpmid
(B) = 670. Qar@ssriu_Herer edleurmhigartedmbg)
MHULL wFliLssmer Ham(h L.
Given N = 2500, (A) = 420, (AB) = 85 and (B)

= 670. Find the missing values.
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PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (@) spevsuller 2 wrbd (X) woHmbd wseaflear o wirb
Y) @ e Guwrer SHITTeL 9w iren 6ot 65t
o | angrLiys Qapeneu sambh .
X 64 65 66 67 68 69 70
Y 66 67 65 68 70 68 72

Find Karl Pearson’s coefficient of correlation
from the following data between height of
father (X) and son (Y).

X 64 65 66 67 68 69 70
Y 66 67 65 68 70 68 72

Or

(<) @wm paErsded  CuopOsmereriul L shag
uelearuy Cgafr oflewed wLHMD  SmGuler
Mevey  Epssarieurm  sa@TLOLINLILL ).
@dOmHgs  Csali  dowsEh  smduler
dees@h gsmeug CsmLiy o darsr  erer

D GITETTEd SeHTL MLl (LPlgU|LDT?
Caafy eflane 8 90 95 70 60 75 50
smiufar eflena 120 134 150 115 110 140 100
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In a marketing survey the price of tea and
coffee in a town was found as shown below.
Could you find any relation between tea and

coffee price?
Price of tea 88 90 95 70 60 75 50

Price of coffee 120 134 150 115 110 140 100

17. (&) epearprant(h) pH@HD FFrefanu seamsdl(Hs.
e  197519761977197819791980 1981 19821983 1984

epussd 50 36 43 45 39 38 33 42 41 34
(Lemalléd)

Calculate the three yearly moving average of
the following data :
Year 197519761977 197819791980 1981 1982 1983 1984
Production 50 36 43 45 39 38 33 42 41 34

in (tonnes)

Or
(<) Epssramib Ldrefl eluphisEnsE Bem . sreLl
Cursdlener  @oppHEs  uidEs  pappuliled
Sar(H L9
<2007 (h) 1990 1991 1992 1993 1994
2 HuSH (Leeriley) 50 55 45 52 b4

1996 y1d yamrighaETar 2 HuGHlenw S Hs.
Page 11 Code No.: 12586 B



For the following data, find the trend values
by using the method of Least squares.

Year 1990 1991 1992 1993 1994
Production (in tonnes) 50 bH55 45 52 H4

Estimate the production for the year 1996.
18. (=) Epssmamibd Yerrerf] Meurmiged efl pba)
GO QL ersanar
1) @emevlbwr e
(i) umevduler e HMID
(i) Gegfer werpuliled searTH1g.
Gum@mer 2000 2001

llened 2j6am6| eNeney 2i6aT6]

A 2 8 4 5
B 5 12 6 10
C 4 15 5 12
D 2 18 4 20

Construct price index number from the

following data by applying :

(1) Laspeyere’s Method
Page 12 Code No.: 12586 B



(11) Paasche’s Method

(i11) Fisher’s Ideal Method.
Commodity 2000 2001

Price Qty Price Qty
A 2 8 4 b
B 5 12 6 10
C 4 15 5 12
D 2 18 4 20
Or

(<)) 1993 2,6 D (S m&TGeum ellenev
SN QLamenent GOLL eurey CFwea|sdrL
pepuildd 1990l Yyl DjgLliLienl
QBTLTES Qasmar () saTEd[H)s.

aflenev

1990 1993
QummLaer eTenL (emumuied) (epumuded)

2 awray 35 150 140
aurLms 20 75 90
2 Gl 10 25 30
aflQur@mar 15 50 60
Qs 20 60 80
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19.

(=)

(=)

Calculate consumer price index by using
Family Budget Method for year 1993 with
1990 as base year from the following data :

Price

19901993
Items Weights (Rs.) (Rs.)
Food 35 150 140
Rent 20 75 90
Clothing 10 25 30
Fuel and lighting 15 50 60
Miscellaneous 20 60 80

gal e Caspmbd wHmd Cumssd Cshmsslaner
GI'@QJBE

State addition and multiplication theorems.

Or
@ euuiled 6 SleuliLy wHmID 8 &HLIL| LiHSISHET
o emerar.  eudMNmBE GQreh UbSiSsamer
TO&@&LCUTg (1) @rar®b Heuliy LbBFISETTS
Qmss Hapsse] eaar? (1) eqetm Seuliy
OO @eTm &MHULTE @ @UUsHaETar Hlapsse]
GTGOTGUT ?
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20.

A bag contains 6 red and 8 black balls. Two
balls are drawn, find the probability that

(i) both are red (i) one red and one black
balls.

200 Cui Oarer @ @@muTe@D Lulgib
seadl Fimeuargdley 150 GUIT e WDTewTeTSET.
seursailed  Csiey erpdludles 120  GQeubml
Qupmert. 10 wremellwr Cardedl ojamL_Hger.
urdlersdlh@n DeupM&sEn Qe Cu ggreug)

QFTLITL| 2 eTemsm?

In a co-educational institution, out of
200 students, 150 were boys. They took an
examination and it was found that
120 passed, 10 girls failed. Is there any
association between sex and success in the

examination?

Or

(<)) shsuller ST HHEWLEGD OSSR

SMHEAWLSGD gaTeug sy o drearsm  erer

ST .
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SHENSSHET LDHMILD LDEHENEHET T HEWTHET H(Henownarenal = 50
SHAMSEHET HENSHET H(HENITATENE HMLD Waesafler = 79
HETSHET &(HEDLOUITETENE 6DV
SEMSHET  SETSHET  SHENDIMETMNEl Ve HMmID = 89
LD&GTSHEIT 6T SERTHET &(IHENLDLI TETENEL
FHASHET HMLD WSS SEHTHET HHELWTATN6 = 782
S|V

Investigate the association between darkness

of eye colour in father and son from the

following data :

Fathers’ with dark eyes and sons with dark eyes =50

Fathers’ with dark eyes and sons with no dark =79

eyes

Fathers’” with no dark eyes and sons with dark =89

eyes

Neither son nor father having dark eyes =782
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M.A. (CBCS) DEGREE EXAMINATION, APRIL 2021
FIRST SEMESTER
ECONOMICS -CORE
MACRO ECONOMICS THEORY AND ANALYSIS - 1
(for those who joined in July 2017 onwards)

Maximum: 75 marks
Time - Ppes il Part — A (10 X 1 = 10 marks)

Answer all question, choose the correct answer: :

1, HC=1{{y),then Cisa variable
a) dependent b} independent
c) constant d) fixed
2. Wealthis a variable
a) flow b) stock
¢) technical d) fixed
3. Personal income — Direct taxes =
a) percapita income b) disposable income
¢) NNPgc d) NNPup
4. illustrate the linkages between the different sectors of the
economy.
g) national income b) circular flow of income
¢) factor income d) income from abroad

5. According to Keynes, the aggregate consumption depends on
a) aggregate savings b) aggregate income
c) aggregate investment d) stock market investment

6. The relative income hypothesis was first stated by

a) Duesenberry b) Dorothy Brady and Rose
c) Keynes d) Friedman
7. Autonomous investment is
a) income elastic b} interest elastic
¢) interest inelastic d) profit elastic

8. J.M.Clark developed his famous acceleration principle on the basis of
investment.
a) induced b) net

¢] gross d) autonomous



9. On the basis of speed, inflation is classified into types

a) 3 b) 4
¢) 5 d) 6
10. Hicksian model of trade cycle consists of
a) Keyne's multiplier b) Harrod's growth analysis

¢l Clark’s accelerator d) all of these

PART-B (5X5=25 Marks)
Answer all Questions, Choosing either (a) or {b) Each answer should not exceed 250 words.
11. a) bisunguish between dependent and independent variables. =%
(Or)
b) List down the short comings of aggregative approach.
12. a) Write a short note on circular flow of income
(Or)
b) What are the defects of input-output analysis?
13. a) Point out the main implications of Keyne's law of consumption
(Or)
b) Explain clearly the shape of long run consumption function
14. a) Write a note on MEI
(Or)
b) List down the basic assumptions of the acceleration principle.
15. a) Define and explain the term inflation.
(Or)
bl llustrate the characteristics of a trade cycle-
PART ~ C (5X8=40 Marks)
Answer all Questions, Choosing either (a) or (b) Each answer should not exceed 600 words.
16. a) Write an essay about functional relattonsnip -

(Or)
b) Explain time series and cross section analysis.
17. a) Explain the different methods of national income estimation
(Or)

b) Discuss Tobin’s measure of economic welfare



18.

19,

20.

a) Elucidate the subjective factors that determine consumption function
(Or)

b) Discuss permanent income hypothesis

a) Examine the different types of investment
(Or)

b) Describe the working process of accelerator.

a) Graphically illustrate the different phases of a trade cycle.
(Or)

b) Explain the trade-off between unemployment and inflation.



(8 Pages) Reg. No. :

Code No. : 5396 Sub. Code : PESM 13

M.A. (CBCS) DEGREE EXAMINATION, APRIL 2021.
First Semester
Core — Economics
STATISTICAL METHODS FOR ECONOMICS — 1
(For those who joined in July 2017 onwards)

Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL questions.
Choose the correct answer :
1.  Which of the following is the highest range of r?
(a) Oandl1 (b) —-landO
(c) —-landl (d —-2and2

2. If r=0.3, v* will be

(@ 3 ® 9
¢ .9 (d 0.09




When the two regression lines coincide, then r is

@ O b -1
© 1 (d 0.5

When one regression coefficient is positive the

other would also be

(a) positive (b) negative

(¢) zero (d) none of these
Seasonal variations repeat during a period of
(a) oneyear (b) five years

(c) seven years (d) two years

Cyeclical fluctuations are caused by
(a) Strikes and lockouts

(b) Floods

(c) Wars

(d) None of these

Paasche index is based on

(a) Base year quantities
(b) Current year quantities
(¢) Fisher’s index

(d) None of these

2 Code No
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10.

11.

The best average 1is the construction of index
number’s is

(a) Median (b) Geometric mean

(c) Mode (d) Arithmetic mean

The crude death rate is the ratio of the total
registered deaths of a specified

(@) year (b) week

(c) month (d) none of these

Fertility can be measured through

rate.
() Birth (b) Death
(c) Marriage (d) Divorce

PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(a) Briefly explain the types of correlation.
Or

(b) List out the assumptions of correlation.
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12.

13.

14.

15.

(@)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Explain the types of regression.
Or

Define standard error of estimate for both X

and Y variables.

What are the components of time series?
Or
What are the methods used for measuring

seasonal variations?

Discuss the problems involved in the

construction of price index numbers.
Or

What are the limitations of index number?

Bring out the uses of vital statistics.
Or

What is life table? Bring out its uses.

4 Code No. : 5396
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PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 600 words.

16. (a) Find Karl Pearson’s co-efficient of correlation
from the following data.

X 145 155 165 175 185
Y 90 100 110 120 130

Or

(b) From the following data, calculate rank
correlation coefficient.

X 80 30 60 40 20 66 96 70
Y 30 24 28 68 55 43 38 40

17. (a) Find out the regression equation X on Y from
the following data.

X 10 20 30 40 50 60 70
Y 11 25 35 43 60 67 74

Or

(b) Calculate standard error of the following
data.

X 15 17 22 21 20
Y 14 15 18 13 15
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18. (a) Calculate trend values by the method of least
square from the data given below and
estimate the sales for 2023.

Year 2016 2017 2018 2019 2020
Sales 140 144 160 172 180
Or

(b) Calculate the seasonal index from the
following data using the average method.

Year 1stquarters 2rdquarters 3rdquarters 4thquarters

2014 72 68 80 70
2015 76 70 82 74
2016 74 66 84 80
2017 76 74 84 78
2018 78 74 86 82

19. (a) Calculate index numbers by (1) Marshall —
Edgeworth method (i1) Kelly’s method.

2015 2016
Commodity price Quantity Price Quantity
A 20 10 15 20
B 25 20 21 16
C 22 15 18 13
D 35 5 23 15
E 40 3 31 9
F 30 10 18 12
Or
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Commodity Weight

20.

(b)

H EH O QW o

(a)

Calculate the consumer price index number
through family budget method for the
following data.

50
60
35
40
20
10

Price per unit
2005

30
24
16
10
40
12

Price per unit
2015

50
48
25
30
100
60

Calculate general fertility rate, specific
fertility rate and total fertility rate from the
following data.

Age
15-19
20-24
25-29
30-34
35-39
40-44
45-49

25
20
18
15
12
6

Or

No of women

No of Births

800
2400
2000
1500

500

120

10
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(b) Calculate crude death rate from the data
given below.

Age (years) Population No of deaths

Below 5 10,000 150
5-15 15000 40
15-60 120000 75
Above 60 5000 510
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M.A. (CBCS) DEGREE EXAMINATION, APRIL 2021.
First Semester
Economics
Elective — HISTORY OF ECONOMIC THOUGHT
(For those who joined in July 2017 onwards)

Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1. Adamsmith considered to the

productive labour.

(a) Production of tangible goods
(b) Manufacturing

(c) Entrepreneurship

(d) None of the above



‘Laissez faire’ means

(a) other things being constant
(b) non-intervention of government
(¢) socialism

(d) mixed economy

Which of the following was not a mercantism
(a) Antonio serra (b) Thomas mum

(¢ A.C. Pigou (d) None of the above

In Ricardo’s explanation of rent it was treated as
(a) A cost of production

(b) A different residual payment

(c) Payment to labour

(d) None of the above

According to the quantity theory of money as the
velocity of circulation increases, what will happen
(a) the price level will increase

(b) the money stock will increase

(c) transactions will decrease

(d) none of the above

2 Code No. : 5397



Hentry Simons argued that the best definition of
money was one which included

(a) Currency only
(b) Bank deposits only
(¢) Currency and bank deposits

(d) Short-term business and government loans

Leon Walras basic insight was that the economic

system is analogous to a
(a) Setof equations (b) Machine

(¢) Land (d) All the above
According to Marx’s views on capital accumulation
and the result of the profit

(a) Capitalists invest in constant capital to

increase the value of labour

(b) The rate of profit falls, the more is invested

in constant capital

(¢) The exchange value of the labour is equal to

the use values capital

(d) None of the above
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9.

10.

11.

12.

A Martya Sen received Nobel prize for
contributions to

(a) Monetary economics
(b)  Fiscal economics
(¢) Infrastructure economics

(d) Welfare economics

The twentieth century is known as

his

(a) Classical economics
(b) Neo-classical economics
(c) Keynesian economics

(d) None of the above

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(a) Point out the Dbasic principles
mercantilism.

Or

of

(b) Explain the contribution of Quesnay in the

physiocracy school.

(a) Discuss the importance of division of labour.

Or

(b) Explain briefly the value anlaysis of Ricardo.

4 Code No. : 5397
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13. (a) Write a short note on consumer’s surplus.
Or
(b) Narrate Vilfredo Pareto’s contributions to

economics.

14. (a) Examine the concept of surplus value given
by Marx.

Or
(b) Make a distinction between classical and

Keynesian views.

15. (a) Summarise Keyne’s theory of employment
and income.

Or

(b) Briefly explain the economic thoughts of
A.K. Sen in the field of welfare economics.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (a) Write an essay on invisible hand doctrine of
Adam Smith.
Or

(b) Critically review the Ricardian theory of
distribution.
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17.

18.

19.

20.

(a)

(b)
(a)

(b)

(a)

(b)

(a)

(b)

Discuss the contribution of J.B. Say in the
field of distribution.

Or
Evaluate the Malthus' theory of population.
Explain the general equilibrium model of
Leon Walras.

Or
Discuss the role of time element in price

determination.

Explain the capital accumulation theory of
Karl Marx.

Or
Explain quantity theory of money of Milton

Friedman.

What are the main features of twentieth
century economic thoughts?

Or

Write an essay on the economic thought of
Indian economists.
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M.A. (CBCS) DEGREE EXAMINATION, APRIL 2021.
Second Semester
Economics — Core
STATISTICAL METHODS FOR ECONOMICS — 11
(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)
Answer ALL questions.
Choose the correct answer.

1.  Calculate : 6C,= .
(@) 35 (b) 6

() 15 (d) None
2. The outcoming of tossing a coin is a

(a) Compound event

(b) Mutually exclusive event
(¢) Simple event

(d) Complementary event



Non-sampling errors include
(a) Bias (b) Mistakes
(¢) Both (a) and (b) (d) None

A selection procedure of a sample having no

involvement of probability is known as

(a) Purposive sampling
(b) Judgement sampling
(c) Subjective sampling

(d) All the above

Any statistical measure computed from population

data is known as
(a) Parameter (b) Statistic

(¢) Infinite (d) Sample data

Standard error of number of success is equal to

@@ n b p
© e (d) +npq
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10.

The hypothesis is true but our test rejects it is

(a) Type I error (b) Type II error
(c) Both (a) and (b) (d) Correct decision

A test which maximizes the power of the test for
fixed « is known as

(a) Optimum Test

(b) Bayes Test

(¢) Randomized Test

(d) Likelihood Ratio Test

The idea of testing of hypothesis was first set forth
by

(a) R.A. Fisher (b) J. Neyman
(c) E.L. Lehman (d) A.Wald
Expand ANOVA

(a) Activity Of Variance
(b) And Of Variance

(¢) Analysis Of Variance
(d) None of the above
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PART B — (5 x 5 = 25 marks)

Answer ALL the questions, choosing either (a) or (b).

11.

12.

13.

14.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Discuss Baye’s probability and give formula
for its calculation.

Or

Write down the characteristics of Normal
distribution.

Explain the Lottery method and Table of
random numbers.

Or

Give a brief note on the concept of sampling
distribution and its properties and conditions.

Explain the method of Least Square.

Or

What are the different types of estimation
available? Explain.

What are the steps involved in testing of
hypothesis?

Or

Briefly explain the characteristics of
hypothesis.

Page 4 Code No. : 5398
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15. (a) Explain how ‘t-test is applied to test the

equality of two population means.

Or
(b) Explain about Chi-square (;,/2) test and its

uses.
PART C — (5 x 8 = 40 marks)

Answer ALL the questions, choosing either (a) or (b).

16. (a) A random variable X has the following

probability function :
Value of X : 01 2 3 4 5 6 7
PX): 0 K 2K 2K 3K K?> 2K "TK*+K
(i) Find K.
(ii) Evaluate P(X<6), P(X=6) and
P(0<X<5).
Or

(b) A bag contains 8 white and 5 red balls. Five
balls are drawn at random. What is the
probability that of 3 of them are red and
2 white?
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17. (a)

(b)

18. (a)

(b)

19. (a)

(b)

Give a brief note on sampling and non-
sampling errors.

Or

How to select stratified random sample?
Explain its merits.

Explain point and interval estimation. Obtain
these estimates for the mean of normal
population and interpret the same.

Or

Explain briefly about good estimation.

Sample of two different types of bulbs were
tested for length of life, and the following data
were obtained.

Typel Typell
Sample size 8 7
Sample Mean 1134 hrs 1024 hrs
Sample SD 35 hrs 40 hrs
Is the difference in the means significant?

(Given that the significant value of ‘¢’ at 5%
level of significance for 13 d.f. is 2.16)

Or

Explain critical and acceptance region in
detail.
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20. (a) The following figure shows the distribution of
digits in numbers chosen at random from a

telephone directory.

Digits : 0 1 2 3 4 5
Frequency : 1026 1107 997 966 1075 933
Digits : 6 7 8 9 Total

Frequency : 1107 972 964 853 10,000

Test whether the digits may be taken to occur
equally frequently in the directory.

Or

(b) Verify whether Poisson distribution can be

assumed from the data given below :

No. of defects: O 1 2 3 4 5
fo: 6 13 13 8 4 3
fi: 6.24 13.52 13.52 9.01 45 1.8
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M.A. (CBCS) DEGREE EXAMINATION, APRIL 2021.

Second Semester
Economics — Core
ENVIRONMENTAL ECONOMICS
(For those who joined in July 2017 onwards)

Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)

Answer ALL questions.
Choose the correct answer :
1. In Environmental Economics, an outcome is said
to be economically efficient if
(a) Consumer surplus is maximized

(b) Future generations have the same
opportunities as current ones

(¢) All resources are put to their highest valued
use

(d) All of the above



Any economic system will produce destructive
environmental impacts if the ———— within

the system are not structured to avoid them.
(a) Incentives (b) Ethics

(¢c) Property rights (d) Price

The concepts of efficiency and optimality are used

in specific ways in :
(a) Economic analysis (b) Pollution analysis

(c) Waste analysis (d) None of the above

A public good is

(a) neither rival nor excludable
(b) rival but not excludable

(¢c) Dboth rival but excludable

(d) not rival but excludable

As production continues throughout time, stocks of
non-renewable resources

(a) must fall (b) must decline

(¢) both (d) none of the above
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The magnitude of the elasticity of substitution
between non-renewable resources and other

inputs is

(a) a matter of considerable importance
(b) a matter of renewable resources

(¢) a matter of time

(d) all of the above

The optimal level of economic activity associated

pollution from society’s point of view occurs where
(a) MSB>MSC (b) MSB=MSC

(0 MSB=MPC (d MSB<MSC

According to Economists, people pollute because
(a) They only care about maximizing profits

(b) It is the least expensive solution to the
problem of what to do with their residuals

from production and consumption
(c) They are inconsiderate and rude

(d) None of the above
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9. Form of direct regulation

(a)
(©

Tax (b) Subsidies
Permits (d) All of the above

10. The coase theorem describes

(a)

(b)
(©
(d)

The economic efficiency of an economic

outcome in the presence of externalities
Cost efficiency
Pareto efficiency

None of the above

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

11. (a)

(b)

12. (a)

(b)

Explain the nature and scope of
Environmental Economics.

Or

Narrate the classification of resources.

Explain the characteristics of public goods.
Or

Write a brief note on Economic Efficiency.

Page 4 Code No. : 5399
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13. (a) State the characteristics of Forest resources.
Or

(b) Indicate the dynamics of resources

harvesting.

14. (a) Write the forms of pollution.
Or

(b) Explain the efficiency level of pollution.

15. (a) Explain the causes for population growth.
Or

(b) Outline the forms of direct regulation.
PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (a) Discuss the importance of Environmental

Economics.

Or

(b) Briefly explain the Material Balance

Principle.
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17.

18.

19.

20.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Describe the essentials of Environmental
resources.

Or
Examine the economic efficiency in

consumption and production.

Enumerate the resources extraction i1n
perfect competition.

Or
Explain in detail the simple optimum

resource depletion model.

Discuss the issues in Economics of pollution.

Or
Give an overview for minimum standard of

conservation.

Critically examine the coase theorem.
Or

Make a review of the sustainable economic
development.
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PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1. The most appropriate measure of a country’s
economic growth is its

(a) Gross domestic product
(b) Net domestic product
(¢) Net rational product

(d) Per capita real income



Components of HDI are

I. Longevity

II. Infant mortality

ITI. Educational

IV. Decent standard of living

Code :

(a) I, II and III are correct
(b) II, III and IV are correct
(¢) I, II and IV are correct
(d) I, IIT and IV are correct

Mohalanobis plan model is associated with
(a) Heavy industry strategy

(b) Light industry strategy

(c) Labour intensive strategy

(d) Capital intensive strategy

Which of the Five Year Plans has laid emphasis on
faster, sustainable and inclusive growth?

(a) Eleventh Five Year Plan
(b) Twelfth Five Year Plan
(¢) Tenth Five Year Plan
(d) Ninth Five Year Plan
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Planning Commission was established in

(a) 1947 (b) 1948
(c) 1949 (d 1950

‘Paramparagat Krishi Vikas Yojana’ armsts boost
(a) Drip irrigation

(b) Organic farming

(¢c) Horticulture crops

(d) Vegetable production

Which is regarded as the reason for the non-
implementation of land reforms in India?

(a) Lack of political will

(b) Non-committed bureaucracy

(¢) Improper laws

(d) All the above

Identify a narrow measure of globalisation

(a) Sum of export of goods and services as
percentage of GDP

(b) Total trade (import and export of goods and
services) as percentage of GDP

(¢) Sum of current and capital account expressed
as a percentage of GDP

(d) Migration rate
Page 3 Code No. : 5400



9. As per Micro, Small and Medium Enterprise
Development Act, 2006, Medium Enterprises are
defined as those with investments

(a) <% 25lakhs
(b) ¥ 25 lakhs to Rs. 5 crores
(¢) T 5crores to Rs. 10 crores

(d) > ¥ Rs. 10 crores

10. Major problem faced by energy sector
(a) Rising Oil Prices
(b) Rising Import Bill
(¢) Sick State Electricity Boards
(d) All the above

PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

11. (a) Explain GNP as a measure of economic
development.

Or
(b) Brief the Concept Gender Development

Index.

Page 4 Code No. : 5400
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12.

13.

14.

15.

16.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Explain the types of Planning.
Or

Make a critical appraisal of 11th Five Year
Plan.

Write a note on Second Green Revolution.
Or

Specify the need for organic farming
practices.

Account the growth of output and
employment of MSMEs.

Or

Brief the growth of information technology
industry in India.

What are the advantages of Rural
Electrification?

Or

Specify the reasons for energy crisis in India.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

(a)

(b)

List the features of Indian economy.
Or

Critically discuss the concept of Human
Development Index.
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17.

18.

19.

20.

(a)

(b)
(a)

(b)

(a)

(b)

(a)

(b)

Explain the Mahalanobis two sector model.

Or

Make an overview of Indian Five Year Plans.

Explain the pricing of Agricultural products.

Or

Analyse the recent trends in Agricultural

marketing.

Discuss the impact of economic reforms on
Indian economy.

Or
Describe the policies and programmes to
remove disabilities of MSMEs.

Explain the importance and sources of
energy.
Or

Analyse the progress of education in India.
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PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1. The most appropriate measure of a country’s
economic growth is its

(a) Gross domestic product
(b) Net domestic product
(¢) Net rational product

(d) Per capita real income



Components of HDI are

I. Longevity

II. Infant mortality

ITI. Educational

IV. Decent standard of living

Code :

(a) I, II and III are correct
(b) II, III and IV are correct
(¢) I, II and IV are correct
(d) I, IIT and IV are correct

Mohalanobis plan model is associated with
(a) Heavy industry strategy

(b) Light industry strategy

(c) Labour intensive strategy

(d) Capital intensive strategy

Which of the Five Year Plans has laid emphasis on
faster, sustainable and inclusive growth?

(a) Eleventh Five Year Plan
(b) Twelfth Five Year Plan
(¢) Tenth Five Year Plan
(d) Ninth Five Year Plan
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Planning Commission was established in

(a) 1947 (b) 1948
(c) 1949 (d 1950

‘Paramparagat Krishi Vikas Yojana’ armsts boost
(a) Drip irrigation

(b) Organic farming

(¢c) Horticulture crops

(d) Vegetable production

Which is regarded as the reason for the non-
implementation of land reforms in India?

(a) Lack of political will

(b) Non-committed bureaucracy

(¢) Improper laws

(d) All the above

Identify a narrow measure of globalisation

(a) Sum of export of goods and services as
percentage of GDP

(b) Total trade (import and export of goods and
services) as percentage of GDP

(¢) Sum of current and capital account expressed
as a percentage of GDP

(d) Migration rate
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9. As per Micro, Small and Medium Enterprise
Development Act, 2006, Medium Enterprises are
defined as those with investments

(a) <% 25lakhs
(b) ¥ 25 lakhs to Rs. 5 crores
(¢) T 5crores to Rs. 10 crores

(d) > ¥ Rs. 10 crores

10. Major problem faced by energy sector
(a) Rising Oil Prices
(b) Rising Import Bill
(¢) Sick State Electricity Boards
(d) All the above

PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

11. (a) Explain GNP as a measure of economic
development.

Or
(b) Brief the Concept Gender Development

Index.

Page 4 Code No. : 5400
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12.

13.

14.

15.

16.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Explain the types of Planning.
Or

Make a critical appraisal of 11th Five Year
Plan.

Write a note on Second Green Revolution.
Or

Specify the need for organic farming
practices.

Account the growth of output and
employment of MSMEs.

Or

Brief the growth of information technology
industry in India.

What are the advantages of Rural
Electrification?

Or

Specify the reasons for energy crisis in India.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

(a)

(b)

List the features of Indian economy.
Or

Critically discuss the concept of Human
Development Index.

Page 5 Code No. : 5400



17.

18.

19.

20.

(a)

(b)
(a)

(b)

(a)

(b)

(a)

(b)

Explain the Mahalanobis two sector model.

Or

Make an overview of Indian Five Year Plans.

Explain the pricing of Agricultural products.

Or

Analyse the recent trends in Agricultural

marketing.

Discuss the impact of economic reforms on
Indian economy.

Or
Describe the policies and programmes to
remove disabilities of MSMEs.

Explain the importance and sources of
energy.
Or

Analyse the progress of education in India.
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PART A — (10 x 1 = 10 marks)
Answer ALL questions.

Choose the correct answer :

1. Economic development is the
(a) Process (b) Result
(¢) Progress (d) Success
2. A major characteristics of an under developed

economy is
(a) Capitalism (b) Dualism

(¢) Socialism (d) Communism



Input — output techniques is applied by

(a)
(c)

Veblen (b) Giggen

Lerner (d) W. Leontief

Foreign aid can fill up the

(a)
(b)
(©
(d)

Foreign exchange gap
Debt management gap
Fiscal gap

None of the above

In a mixed economy, the economic system is

divided into

(a)
(©

two sectors (b) three sectors

four sectors (d) five sectors

Marx laid greater stress on

(a)
(b)
(©
(d)

The limits of land
The stock of capital
Labour force

Technological progress
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10.

Marx categories the economy into
(a) Two (b) Three

(c) Four (d) Five

The merin determinants of economic growth is
(a) Minimum investment

(b) Minimum savings

(¢) National resources

(d) Minimum population

Prof. Nurkse theory is famous for

(a) Poverty (b) Employment

(¢) Income (d) Savings
Harrod-Domar models were formulated primarily
to project the

(a) Developed countries

(b) Developing countries

(¢) Under developed countries

(d) All the above
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11.

12.

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(a)

(b)
(a)

(b)
(a)

(b)

(a)

(b)

State the nature of western economic theory.
Or
Mention the relevancies of traditional theory.
What are the common characteristics of
developing nations?
Or
Write a short note on national income.

Mention the importance of technology in the

development of nations.
Or
What are the current scenario of agricultural

labour in India?

State  about  Malthusian  theory  of
development.

Or

State about J.S. Mill’s theory of development.
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15. (a)

(b)

State the theory of vicious circle of poverty.
Or

Write a short note on balanced growth.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (a)
(b)
7. (a)
(b)
18. (a)
(b)

Explain the nature of development
economics.

Or

How the third world social system as part of
an interdependent international social
system?

Describe the diverse structure of developing
nations.

Or
Narrate the historical background of third
world economics.
Enumerate the factors affecting economic
growth.

Or

Distinguish between growth and
development.
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19.

20.

(a)

(b)

(a)

(b)

Explain the Marxian theory of capitalistic
economy.

Or
Ilustrate with Schumpeter’s theory of

capitalistic development.

Examine the big push theory of growth and
development.

Or

Explain Solow’s model of development.
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PART A — (10 x 1 = 10 marks)
Answer ALL questions.

Choose the correct answer :

1. From the following which i1s micro -credit

performance measures
(a) Degree of market formulation
(b) Development impact

(¢) Operating result

(d) All the above



From the following which of the services are given
by micro finance

(a) Savings accounts (b) Current accounts

(¢) Credits (d) All the above

The SHG-bank linkage model that accounts for
nearly million clients.

(a) 10 (b) 15

(¢ 20 (d 25

risk is the risk of MFI defaulting
on its commitment to monitor the programme and
collect receivable.

(a) Money (b) Credit
(¢) Service (d) None of the above

Competition to ensure choice and affordability for
clients is called

(a) Financial inclusion

(b) Financial statements

(¢) Financial services

(d) None of the above

The scheme “Pradhan Mantri Jan Dhan Yojna” is

aims to provide bank accounts atleast
people in India.

(a) 65 million (b) 75 million
(¢c) 85 million (d) 55 million
2 Code No. : 5404



10.

Financial statements are records
only.

(a) Monetary facts

(b) Non-monetary facts
(¢ Both (a) and (b)

(d) None of these

Income statement is also known as

statement.
(a) Loss (b) Profit
(¢) Revenue (d) Profit and loss

risk is related to factors, which can
result in loss in a particular class.

(a) Portfolio (b) Credit

(¢) Market (d) Strategic

From the following, which is the objectives of bank
regulation?

(a) Prudential

(b) Systemic risk reduction

(c) Protect banking confidentiality

(d) All of these
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11.

12.

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Point out the merits and demerits of micro-
finance.

Or
What are the types of micro credit

institutions?

What is banking correspondent model?

Or
State the principles of national rural
livelihood mission.
What are the objectives of financial
inclusion?

Or
Expound the role of NABARD in financial
inclusion.
Write a short note on financial services.

Or

List out the components of financial
statements.

4 Code No. : 5404
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15. (a) Why is risk management important to MFIs?
Or

(b) What is financial system? What are its
features?

PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 600 words.

16. (a) Describe the recommendations of Malegam
committee.

Or
(b) Explain the code of conduct for micro finance

institutions in India.

17. (a) Discuss the types of micro finance
institutions in India.

Or
(b) Illustrate the need for securitization in micro

finance.

18. (a) Critically examine the major initiatives of
reserve bank of India.

Or

(b) Evaluate microfinance and poverty reduction
in India.
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19.

20.

(@)

(b)
(a)

(b)

Elucidate cost-volume-profit analysis in MFI.
Or
Analyze the liquidity management in MFT’s.

Discuss the types of risks faced by MFT’s.
Or

Explain the objectives of bank regulation.
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PART A — (10 x 1 = 10 marks)
Answer ALL questions.
Choose the correct answer :

1.  The main objective of firm is
(a) profit maximisation
(b) sales maximisation
(c) satisficing behaviour

(d) utility maximisation

2. The features of sale proprietorship firm is
(a) single ownership
(b) undivided risk
(¢) unlimited liability
(d) all the above



Product differentiation implies

(a) change in price

(b) change in cost

(¢) change in quality and promotional efforts
(d) change in demand

According to Weber's theory of location, the
important factors influencing location are

(I) transport cost

(II) land cost

(IIT) labour cost

(IV) innovation cost’

Choose the correct code :

(a) TandII (b) II andIII

() TandIII (d TandIV

Limit price refers to the
(a) price which maximises the profits of the firm
(b) price which prevents entry of new firm

(¢c) price at which firm just starts earning a
surplus over cost

(d) maximum price which the firm is allowed to
change
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Which of the following are commonly cited as
reasons for mergers and acquisitions?

(a) synergy
(b) market power
(¢) strategic realignment
(d) all the above
Vertical mergers are those in which the
participants are 1n
(a) same industry
(b) different industries
(¢) different phases of the value chain
(d) none of the above
Which of the following is an example of a resource
constraint?
(a) Pollution control laws
(b) Inadequate demand
(¢) Excessive production costs
(d) Inadequate financial capital
A company that owns or controls production in
more than one nature is called
(a) Multinational corporations
(b) Public corporation
(¢) Global corporation
(d) World corporation
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10.

11.

12.

13.

The statistics on unemployment is collected by

(a) RBI () CSO
(0 NSSO d WTO

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(a) What are the factors determining the
organisation of a firm?

Or

(b) Specify the merits and demerits of sole
trader firm.

(a) Explain the concept product differentiation.

Or

(b) Brief the Sargent Florence theory of industry
location.

(a) What are the reasons for mergers and

acquisitions?
Or
(b) Indicate the merits and demerits of payback
method.
Page 4 Code No. : 5405
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14. (a)

(b)

15. (a)

(b)

What are the constraints on the growth of
firm?

Or

List the factors determining the size and
growth of firms.

Give the classification of industries.

Or

Explain the methods of estimating
unemployment in India.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (a)

(b)

17. (a)

(b)

Explain the objectives of business firms.

Or
Discuss the passive and active behaviour of

firms.

List out the factors influencing industries
location.

Or

Discuss the Weber’s theory of industrial
location.
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18.

19.

20.

(a)

(b)

(a)

(b)

(a)

(b)

Explain the methods of evaluating
investment expenditure.

Or
Elucidate various methods of product

pricing.

What are the factors influencing the
profitability of firms?

Or

Discuss the methods of measuring industrial
productivity.

Analyse the importance of public sector in
Indian economy.

Or

Explain the methods of settling industrial
disputes in India.
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PART A — (10 x 1 = 10 marks)
Answer ALL questions.
Choose the correct answer :
1. Personnel objectives of HRM is
(a) Compensation (b) Direction
(¢) Taxation (d) Planning
2. Which is a continue process of HRM?

(a) Pricing (b) Recruitment
(¢) Negative (d) Approach



Human resources planning includes

(a) Campus recruitment
(b) Rating

(¢) Advance

(d) Option

Recruitment (or) man power selection process is
the first step in the employment of

(a) Labour (b) Management
(¢) Both (d) None of the above

Safety training is

(a) To minimise accidents and damage to
machinery

(b) To increase the knowledge and skills
(¢) To overcome the shortcoming

(d) None of the above
1s widely used for human relations
and leadership training.
(a) Business games (b) Role playing
(¢) Case study method (d) Job rotation
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10.

‘Y’ theory is

(a) Pessimistic approach

(b) Optimistic approach

(¢) Close supervision

(d) Lack creativity

Compensation can be ———— benefits.

(a) Monetary (b) Non-monetary

(¢) Both (d) None of the above

The technique that have been used to evaluate an

employee in comparison with other employees.

(a)
(b)
(©
(d)

Ranking
Forced choice
Essay Evaluation

Critical incident technique

The job redesign includes

(a)
(b)
(©
(d)

Provide task closure
Person
System
Casting
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11.

12.

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Explain the special attributes to be possessed
by a human resource manager.

Or
Indicate the factors have hindered the

progress of human resource management.

Write the sources of recruitment.

Or
Distinguish between Selection and
Recruitment.
List out the importance of training.

Or

Write a brief note on Knowledge
Management.

Distinguish theory X’ from theory Y.

Or
Narrate the factors considered in deciding the
compensation.
Page 4 Code No. : 5407
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15. (a)

(b)

Outline the essentials of Promotion.
Or

What should be the features of a sound
Performance Appraisal?

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (a)

(b)

17. (a)

(b)

18. (a)

(b)

Discuss the functions of human resource
management.

Or

Briefly outline the responsibility of a human
resource manager.

Enumerate the process of Selection.
Or

Explain the guidelines for effective interview.

Examine the process of Executive
development.

Or

Describe the methods of training.
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19.

20.

(a)

(b)

(a)

(b)

Critically examine Maslow’s Hierarchy of
Needs.

Or
Analyse the objectives of Compensation

Management.

Briefly discuss the different methods of
Performance Appraisal.

Or

Define Demotion. Under what conditions can
it be resorted to?
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PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1. Public goods are difficult for a private market to
provide due to :

(a) The Rivalness problem
(b) The Public good problem
(¢) The tragedy of the commons

(d) The Free-rider problem



In the case of a negative externality, the social
marginal cost will

(a) exceed the private marginal cost
(b) be equal to private marginal cost
(c) fall short of private marginal cost

(d) bear no significant relation to private
marginal cost

The resources in the economy do not include
(a) Land (b) Labour
(¢) Capital (d) Demand

Economists reason that the optimal decision is to
continue any activity up to the point where the

(a) Marginal benefit is zero

(b) Marginal benefit is greater than the marginal
cost

(¢) Marginal cost is zero
(d) Marginal benefit equals the marginal cost

Which of the following is an indirect tax?
(a) Income Tax (b) Profit Tax
(¢) Wealth Tax (d) Entertainment Tax

The most important source of revenue to the
states is:

(a) Sales tax (b) Service tax
(¢) Excise duty (d) None of the above
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10.

If the public debt can be financed without adding
to inflation (or) causing interest rates to raise, it is
said to be :

(a) only a burden of future generations
(b) in primary balance
(c) following the golden rule the public finances

(d) sustainable

Deficit financing means

(a) Public expenditure in excess of public
revenue

(b) Public revenue 1in excess of public
expenditure

(¢) Both
(d) None of the above

The First Finance Commission was established in

1951 under of the Indian
Constitution.

(a) Article 279 (b) Article 281

(¢) Article 280 (d) Article 282

Where was the first Municipal Corporation set up
in India?

(a) Bombay (b) Calcutta
(c) Madras (d) Surat
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11.

12.

13.

14.

15.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(a)

(b)

(a)

(b)

(a)

(b)
(a)

(b)
(a)

(b)

Explain the provisions of public goods.
Or

Write a brief note on ‘Negative Externalities’.

Give the views of the pigon on ‘Resource
Allocation’.

Or
State the normative approach to optimal
budget.

Narrate the non-tax revenue.
Or

Write a brief note on ‘Wagner Law’.

State the burden of public debt.
Or

Indicate the purpose of the budget.

Explain the sources of Local Finance.
Or

Outline the recommendations of 13th Finance
Commission.
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16.

17.

18.

19.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

(a)

(b)
(a)

(b)
(a)

(b)
(a)

(b)

How far is private preference of public goods
desirable? Give arguments.

Or

Briefly discuss Dolbear model of externalities.

Examine the simple model of the optimal
budget.

Or

Explain the gains from Optimal Budget.

Discuss the reasons for the growth of public
expenditure.

Or
Critically examine Colin Clark Hypothesis.

Analyse the various methods of redemption of
public debt.

Or

How to reduce the inflationary pressure of
deficit financing?
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20.

(a)

(b)

Review in detail Twelfth Finance
Commission.

Or

Enumerate the shortcomings of Federal
Finance in India.
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Code No. : 5409 Sub. Code : PESM 44

M.A. (CBCS) DEGREE EXAMINATION, APRIL 2021.
Fourth Semester
Economics — Core
HEALTH ECONOMICS
(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)
Answer ALL questions.
Choose the correct answer :

1. Health economics is the discipline of economics
applied to

(a) The topic of health care
(b) The topic of life care
(c) Hospital management

(d) None of the above



“Disparities in health care that are systemic and
avoidable" this is known as

(a) Health inequities

(b) Health disparities
(¢) Health equity

(d) Health determinants

Allopathic medicine means
(a) Modern medicine
(b) Traditional health care
(¢) Homeopathy
(d) None of the above
National health policy, 2017 would aim at
increasing life expectancy to
(a) 65 years (b) 70 years
(¢) 80 years (d) 82 years
Fair distribution of resources with a goal to
eliminate health care disparities known as
(a) Equity
(b) Priority
(¢)  Social justice
(d) Efficiency
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TRIPS which came into force since

(a)
(b)
(©)
(d)

1993
1994
1995
1998

Health care cost is raising so quickly due to

(a)
(b)
(©
(d)

Mechanization of health care services
Expansion in medical knowledge
A+B

None of the above

One of the following in contribution of economics
in health services

(a)
(b)
(©

(d)

Reduce the proportion of uneducated people
Improve the quality of the life

Determination of the consequences of a
particular choice

All of the above

Health care system used to

(a)
(b)
(©
(d)

Finance personal health care services
Create the models of health services
A+B

None of the above
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10. The models of health care financing
(a) Beveridge model

(b) Bismarck model
(c) National Health Insurance Model
(d) All of the above

PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 250 words.

11. (a) Explain the nature and scope of Health

Economics.
Or
(b) Write a brief note on ‘World Health
Organization’

12. (a) State the objectives of Traditional Health
Care.
Or
(b) Narrate the importance of Homeopathy.

13. (a) Indicate the resource allocation problems in
Government Hospitals.

Or

(b) Outline the tradeoffs between quantity and
quality of health services.
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14. (a)

(b)

15. (a)

(b)

Ilustrate the failure of the market to provide
essential health services.

Or
Explain the role of nurses in the health

services.

Explain the role of financing Institutions in
health services.

Or
Write a brief note on 'Health Cess'.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (a)

(b)

17. (a)

(b)

Explain in detail the vrole of Health
Economics in the level of economic
development.

Or

Analyze the growth of public expenditure on
health.

Discuss the steps to improve traditional
health care in India.

Or
Briefly explain the growth of Allopathy.
Page 5 Code No. : 5409



18.

19.

20.

(a)

(b)

(a)

(b)

(a)

(b)

Examine the application of production
function in the health sector.

Or

Enumerate the role of physician and the
demand for health services.

Describe the evaluation of benefits and cost
of health services.

Or

Suggest measures to effective training to
professional manpower.

Explain the need for a special insurance for
the poor.

Or

Make a review of per capita and public
expenditure on health services.
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(6 Pages) Reg. No. :
Code No. : 5204 Sub. Code : PESE 32
M.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2021
Third Semester
Economics
Elective — INDUSTRIAL ECONOMICS
(For those who joined in July 2017 onwards)

Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answers :
1.  Which is called as the heavy engineering industry?
(a) Heavy machinery
(b) Heavy electricals
(c) Heavy glass

(d) Heavy aluminium



Who manufactures the largest quantity of jute
goods in the world?

(a) Indonesia (b) India

(¢) Thailand (d) Myanmar

Which one of the most important company in

machine tools?

(a) SMT machine tools (b) PMT machine tools

(¢c) HMT machine tools (d) TMT machine tools

Trade union is to protect and promote the well

being of

(a) Employer (b) Entrepreneur

(¢) Organisation (d) Workers
maximization 1s one of the main

objectives of the firms.

(a) Price (b) Cost

(c) Sales (d) Labour

Capital market is the market for

funds.

(a) Short-term (b) Long-term

(¢c) Medium-term (d) Termless
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10.

When did India globally become the 7t largest
vehicle manufacturer?

(a) 2009 () 2019
(c) 1919 (d) 1999

Which is the largest shipbuilding unit in India?
(a) Cochin shipyard (b) Goa Shipyard
(¢) Diu Shipyard (d) Daman Shipyard

Which among the following connected with the
industrial location theory?

(a) Rodan
(b) Nurkse
(c) Weber and sargent
(d) Harrod and Domar

Which is the act enacted in 1947 in India?
(a) Minimum wage

(b) Labour welfare

(¢) Sick industry

(d) Industrial dispute
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11.

12.

13.

14.

15.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 250 words.

(a)

(b)
(a)

(b)
(a)

(b)
(a)

(b)
(a)

(b)

Who is a manager in an organisation?
Or

Give the meaning of profitability.

Write about market structure.
Or

Write a note on business firm.

What do you understand the mergers?
Or

What is diversification of industry?

State the pollution control policies in India.
Or

Define industrial relation.

Explain the industrial efficiency.

Or

Write the meaning of industrial sickness.
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16.

17.

18.

19.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 600 words.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Distinguish between passive and active
behaviour of the firm.

Or

Differentiate the industrial acquisition and
diversification.

Explain in detail the product differentiation in
the market structure.

Or

Describe the theory of industrial location by
weber.

Mention to factors involving and affecting the
industrial location.

Or

Illustrate the empirical evidence on mergers
and acquisitions.

Point out the methods evaluating investment
expenditure.

Or

Elucidate the issues and challenges in the
Indian industrial sector.
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20. (a) Enumerate the features of privatization in
Indian industries.

Or

(b) Describe the measures taken by the
government to prevent industrial pollution in
India.
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(6 pages) Reg. No. :

Code No. : 5271 Sub. Code : ZESE 11

M.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2021

First Semester
Economics — Elective
WELFARE ECONOMICS
(For those who joined in July 2021 onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1.  Who gave the welfare definition in economics?
(a) Alfred Marshall
(b) Samuelson
(¢) Adam Smith
(d) J.S.Mill



The propositions of welfare economics are

from a set of

(a) Evidences and facts
(b) Quantitative variables
(c) Assumptions

(d) None of the above

derived

Pareto’s concept of maximum social welfare is

based on

(a) Cardinal utility

(b) Ordinal utility

(c) Equi-marginal utility
(d) Theory of second best

Gain in money income as a result of a fall in the
price of a thing is consumer’s surplus said by

(a) Marshall (b) Hicks
(¢) Pareto (d) Kaldor

The another name of externalities is/are
(a) Neighborhood effects
(b) Spillover effect
(¢) Neither (a) nor (b)
(d) Both (a) and (b).
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Which of the following market will help to achieve
Pereto optimality

(a) Monopoly
(b) Oligopoly
(¢) Perfect competition

(d) Monopolistic competition

Air pollution is an example for

(a) External diseconomies of production

(b) External economies of production

(¢) External diseconomies of consumption

(d) External economies of consumption

The process of transferring purchasing power from
taxpayers to the taxing authority

(a) Welfare loss

(b) Welfare gain

(¢) Welfare Valuation

(d) None of the above

The concept of social welfare function was
propounded by

(a) Arrow (b) Bergson

(¢) Rawls (d)  Scitovsky
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10.

11.

12.

13.

Rawls’ social welfare criterion is based on

(a)
(b)
(©
(d)

Distribution of absolute income
Subjective utilities
Distribution of real income
Scale of economies

PART B — (5 x 5 = 25 marks)

Answer All questions, Choosing either (a) or (b).

(a)

(b)

(a)

(b)

(a)

(b)

Each answer should not exceed 250 words.

What is meant by welfare economics? Briefly
state individual and group welfare.

Or

Relate the positive and welfare economics.

Sketch the Scitovsky Paradox in detail.
Or

Briefly describe the Hick’s measures of

consumer’s surplus.

How does resources optimally allocate under
capitalism? Give your comments.

Or

‘Socialism as a welfare ideal’ -Discuss
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14.

15.

16.

17.

(a)

(b)

(a)

(b)

Write a note on effects of direct and indirect
tax on social welfare.

Or
Explain the welfare aspects of gains from

trade.

How do you resolve Arrow’s Paradox?
Or

Illustrate classical Utilitarian social welfare
function.

PART C — (5 x 8 = 40 marks)

Answer All questions, Choosing either (a) or (b).

Each answer should not exceed 600 words.

(a)

(b)
(a)

(b)

Critically analyse the role of value

judgement in welfare economics.
Or

Trace out the scope of welfare economics.

Analyse Kaldor’s Hicks welfare criterion.
Or

Examine the Pareto optimality criterion of
social welfare.
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18.

19.

20.

(a)

(b)

(a)

(b)

(a)

(b)

‘Monopoly as an obstacle to attain Pereto
optimality’ — Argue.

Or
Narrate how externalities cause market

failure.

Give a lucid note on causes of Divergences
between Private and Social Costs and
suggest suitable remedies for it.

Or
Expound the Theory of Second Best. In
which case does it apply?

Evaluate the Arrow’s impossibility theorem.
Or

Investigate the Rawl’s concept of social
welfare criterion.
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(6 pages) Reg. No. :

Code No. : 5267 Sub. Code : ZESM 11

M.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2021

First Semester
Economics — Core
ADVANCED MICRO ECONOMIC THEORY -1
(For those who joined in July 2021 onwards)

Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer:

1. The model of linear Expenditure system was
developed by
(a) Hicks (b)  Slutsky

(c) Stone (d) Allen



Which of the following is related to dynamic
demand function?

(a) distributed lag Model’s of demand
(b) Lagged value of Quantity demanded and

income
(¢c) Stock adjustment principle
(d) All the above

Production is a function of
(a) profits (b) factors
(¢) price (d) costs

a and g in Cobb — Douglas production function
represent

(a) constants

(b) random disturbance terms

(c) positive parameters

(d) None of the above

The best level of output for n perfectly competitive

firm is given by the point where

(a) MR=AC

(b) MR =MC

(c) MR exceeds MC by the greatest amount
(d) MR =MC and MC is rising
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10.

Discriminating Monopoly is possible if two
markets have

(a) rising cost curves

(b) rising and declining cost curves

(¢) different elasticities of demand

(d) equal elasticities of demand

The concept of Gropu equilibrium wa advocated by
(a) Chamberlin (b) Mrs. Robbinson
(¢) Lancaster (d) Marshall

Product differentiation is an important feature of
(a) Monopoly

(b) Monopolistic competition

(¢)  Duopoly

(d) Oligopoly

According to Sylo-labini Model, the equilibrium
price is equal to

(a) Long-run average cost
(b) Normal profit

(¢) Long run Average cost plus normal rate of
profit
(d) Marginal cost

Full cost pricing model was given by
(a) Hall and Hitch (b) Hicks and Allen
(¢) Cobb and Douglas (d) None of these
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11.

12.

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(a)

(b)

(a)

(b)
(a)

(b)

(a)

(b)

Explain the pragmatic approach to the
theory of demand.

Or

Briefly explain the consumer expenditure
function.

What is meant by production function? What
is the difference between short-run and long
run production function?

Or

Write a note on CEs production function.

How 1s the price of a commodity is
determined under perfect competition?

Or

What are the selling costs? Explain the
equilibrium of monoplastic competitive firm
under selling cost.

Explain the characteristics of oligopoly.
Or

Explain the Bertrand solution of duopoly
problem.
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15. (a)

(b)

Discuss the sylo-latrini model of limit price.
Or

Diagrammatically explain the Andrew’s
version of full cost pricing theory.

PART C — (5 x 8 = 40 marks)

Answer ALL the questions choosing either (a) or (b).

Each answer should not exceed 600 words

16. (a)
(b)
17. (a)
(b)
18. (a)
(b)

Write a critical note on the theory of
Revealed preference.

Or

Explain the characteristics demand theory of
Lan Caster.

State and explain the properties of
Cobb-Douglas production function.

Or

What do you mean by technological change?
Explain neutral, Capital-saving and labour
saving technical progress with diagrams.

IMlustrate diagrammatically the short run
and long run equilibrium of the firm and
industry under perfect competition.

Or

Explain the Kinked-Demand Curve Model of
Oligopoly.
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19.

20.

(a)

(b)

(a)

(b)

Explain the pricing process under price
leadership by low-cost firm and by a
dominant firm.

Or
Discuss the characteristics features of
Cournot Model of Duopoly.
Explain clearly the limit pricing theory.

Or

Explain the full-cost pricing theory. Mention
its merits and demerits.
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(6 pages) Reg. No. :

Code No. : 5268 Sub. Code : ZESM 12

M.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2021

First Semester

Economics — Core

MACRO-ECONOMIC THEORY AND
ANALYSIS -1

(For those who joined in July 2021 onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL the questions.
Choose the correct answer :

1.  The branch of macro economics that is concerned
measuring macroeconomic activity is called
(a) General equilibrium
(b) Consumption function

(¢) National income accounting

(d) General level of price determination



Social accounting system in India is classified into
(a) Enterprise, households and government

(b) Assets, liabilities and debt

(¢c)  Public sector, private sector and joint sector

(d) Income, product and expenditure

The relationship between consumption and
disposable income is known as the

(a) Cost function
(b) Saving function
(¢) Investment function

(d) Consumption function

Relative income hypothesis is developed by

(a) Friedman (b) Duessenberry

(¢) Hansen (d) Keynes

With an increase in the volume of investment, the
MEC tends to

(a) 1increase (b) decrease

(c) improve (d) remain unchanged

Marginal Efficiency of Capital is
(a) Expected rate of return on new investment

(b) Expected rate of return on existing
Investment

(¢) Expected rate of profit and rate of interest

(d) Value of output per unit of Capital invested
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10.

“Inflation 1s always, and everywhere a monetary

phenomenon”. This is the view of
(a) Milton Friedman (b) J.R. Hicks

(¢) Paul Samuelson (d) James Tobin

Philips curve in the long-run is
(a) Vertical (b) Horizontal

(¢) Convex (d) Concave

The Real business cycle theory is associated with
(a) Kydland and Prescott

(b) Hicks and Allen

(¢) Friedamn and Lucas

(d) Tobin and Okun

Real business cycle theory does not suffer from the

limitation that
(a) Technical progress is slow and unidirectional
(b) Output and price are positively related

(c) Labour supply is insensitive to real wage

rate

(d) Real wage movements are pro cyclical
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11.

12.

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(a)

(b)
(a)

(b)

(a)

(b)

(a)

(b)

Explain the circular flow of income in a three
sector economy.

Or

Give an account of social accounting.

What are the factors determining
consumption?

Or

Explain the main elements of life cycle
hypothesis of consumption.

Distinguish  between Autonomous and
Induced investment.

Or
Explain the concept ‘Marginal Efficiency of
Capital’.

Explain the Phillips curve in the short run
and long run.

Or

What are the methods to control inflation?
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15. (a)

(b)

Specify the implications of Real business
cycle theory.

Or

Write a note on stabilisation policy.

PART C — (5 x 8 = 40 marks)

Answer ALL questions choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (a)
(b)
17. (a)
(b)
18. (a)
(b)

Discuss the different forms of National
income accounting.

Or

Analyse the procedure of input-output
accounting.

Explain Keynes psychological law of
consumption and specify its implications.

Or

Examine the Relative income hypothesis of
consumption.

Explain the factors determining Marginal
Efficiency of Capital.

Or
Elaborate Tobins Q, theory of investment.
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19.

20.

(a)

(b)

(a)

(b)

Examine the classical, Keynesian and

Monetarist approach to inflation.

Or

Discuss the main aspects of Rational

expectation hypothesis.

Examine the role of money in Real Business

cycle theory.

Or

Analyse the source of productivity shocks in

Real Business cycle theory.
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(6 pages) Reg. No. :

Code No. : 5269 Sub. Code : ZESM 13

M.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2021

First Semester
Economics — Core
STATISTICAL METHODS
(For those who joined in July 2021 onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL questions.

Choose the correct answer:

1.  Correlation is perfectly positive when r =
(a -1 (b) +1
¢ O d «

2. Wecan find 7’ by using
(@) +bxy (b) Jbyx

() +/byx.bxy (d) None



If an event is certain to happen, the probability of

the event will be
(a) +1 b -1
¢ O (d) None

Who discovered Binomial Distribution?
(a) Gauss (b) De Moivre
(¢) Fisher (d) Bernouli

Sampling errors are present only in
(a) complete enumeration survey
(b) sample survey

(¢)  both census and sample survey

(d) Neither sample nor census survey

Random sampling 1is also referred to as

sampling.
(a) judgement (b) cluster
(c) probability (d) None of these

The standard error of the mean is

(a) o’ (b)

Q‘§| 3 |a

© % (d)
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10.

11.

In the right tailed test, the critical region is
(@ 0

by 1

(¢) lies entirely in right tail

(d) lies in the left tail

Student’s t-distribution was pioneered by
(a) Karl Pearson (b) Laplace
(¢ R.A. Fisher (d) William S. Gosset

When observed and expected frequencies
completely coincide y* will be

@ 0 b -1

o0 +1 (d) greater than 1

PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).

(a) State the difference between correlation and
regression.

Or

(b) Calculate the co-efficient of correlation by
using concurrent deviation method :

X: 200 220 225 230 220 222 230 240 235
Y: 40 35 25 20 25 21 18 16 17
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12.

13.

14.

15.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Write the basic concepts of probability.
Or

A bag contains 20 white balls, 6 green balls,
6 red balls and 8 black balls. What is the
probability of getting a green ball or a black

ball if a ball is drawn at random?

Distinguish census and sample method.
Or

Write a note on non-random sampling.

State briefly Alternative Hypothesis.
Or

Write a note on level of significance.

What are the conditions of applying %* test?

Or

Mention the assumptions of student’s t-test.
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16.

17.

18.

PART C — (5 x 8 = 40 marks)

Answer ALL questions choosing either (a) or (b).

(a)

(b)

(a)

(b)

(a)

(b)

Explain the methods of measuring

correlation.
Or

Calculate regression equations for the data
given below taking durations from actual

means :

X: 6 2 10 4 8

Y: 9 11 5 8 7

Give an account of Theorems of probability.
Or

A coin 1s tossed 3 times. What is the
probability of getting 1 head, 2 head and 3
head?

Discuss Type I and Type II errors.
Or

Explain one-tailed and two-tailed test in

detail.
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19.

20.

(a)

(b)

(a)

(b)

Give an account of merits and limitations of

sampling.
Or

Explain the methods of sampling.

Explain the procedure of obtaining various

sums of squares in one-way classification.

Or

Give an account of properties of 3* test.
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